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TYPE 1

701 + [ oS A/ ZAIT] + BAL

1 BE

sii&

ZOf + [ TXIAL+ FAHD) ]+ TAL p.22

The typical equipment, is

The typical equipment of a mathematician is a board
EE HRAb+ BAT ERSAL
and chalk.

ofAte| CHEXQl FH|= Feht 2EHO|CL
o

typical CHEXQI, &=l
mathematician 2=sfx}

equipment &H|

Crashes, tend
Crashes due to aircraft malfunction tend to occur during
TR+ HALT S484
long-distance flight.

&87| QAEORE QIS AISE

ULk

{2 B3 Sot wsts Fato|
crash Al 2= malfunction 2zt=
long-distance flight 72| |3t

writers, are

Regardless of the times, writers like Shakespeare are
=450 HAAL+ YA EREA

implying that all of us are wearing masks.

AlCHRE S2HR10], MejA |0l 22 2THE2 R2| REIHIMHE 40

UCHE AE LAISH UCE

imply etfstct

the presence, has

Today, the presence of computers and printers has added
FEsS FRIAL + AT EEN

machine noise.

SH, AFE Z2IE| EXVt 7 1A 288 S7MIZICE

presence =X

people, enjoy

In many countries, people in the large urban area
24701 HRIAL + BAIR

enjoy the convenience of city life.
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The worker, was
The worker by the tall cabinets was hired last week.

B TR+ BAR  ORSAF

=2 IH|R Fof T 222 X|etF0l| n8ERACE

p.23

Someone, try — tries
Someone motivated to buy a new smartphone tries to

Cha3 AT chSAt
earn extra money for it.
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The students, includes — include

The students to stay after school include Sam, Ashley,
R toR AL 2454

and Jason.

80t S0f| S SIS 2 Sam, Ashley, 12|11 Jasong E&HSHC]

city governments, O

Asthenumberof carsincitiesincreases, city governments

2470]
struggling with traffic jams are encouraging car sharing.
At SFSA
A0l RESAE 27F BTHEO] W2l nE HEQE NYsh= Al H2

struggle with ~2 1A5IC} ~2F WESICH traffic jam 1 E XS
encourage &z2{3}Ct

the science museum, were — was

Last month, the science museum featuring drones and
B A
robots was very popular.
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Those, are

Those who never make it are the ones who quit too soon.
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The event, attracts

The event where the public can watch free musical
Tz 2HAE

performances attracts many people.
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clothes, are

In warm environments, clothes that can absorb sweat are
247 AR 2554}

helpful in releasing heat from the body.

mSssh SHH0IM, S S48 & U RES S0IM IS tiEste

ol =20l lCk

absorb §4:5lCt release HIE3ICH =0t =L}

Some products, were
Some products the company ordered were unavailable.
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The person, is
The person from whom you can purchase fruits is across

EEES A HsA

the street.

glo] s o 4 U= Afg
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purchase F0{s}Ct L0j

People, have

People of Northern Myanmar, who think in the Jinghpaw
=430 THR|AL + HALR A
language, have eighteen terms for describing their kin.

SRSA

=

=

ol S8 AMHS2 Jinghpaw 21012 Y2fsh=n] 259
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The reason, O
The reason, it turns out, is that blood-sharing greatly

o] HYH  ehEA
improves each bat’s chances of survival.

glole, S{LIT HL|, TS Livs 200] 212t di7le] 4E Tk

CoT, — o

2 37 EYARICHE Aolct

turn out =2{LICt survival 4=
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are — is
The only difference between grapes and raisins is that

ErRzof SAORAIA + IAT)  ErEEA
grapes have more water in them.

=01 The only difference= Cr+HAIO|Z 2 ThSAL is7t 2F0F F
C}. between grapes and raisinse= 4= LX|0f| F&HS OJX[X| = &
AO{(TIRIAF + HAFHOICE (eie aiet 01-)

EEot AR O] RAUTHAIOIYS LT} ot O B2 S 7HK| 1
Atz Zolet

raisin 74z

shows — show

Seeds recovered at ancient sites clearly show that farmers

ERES EEVENES EFEN

developed larger seeds and thinner seed coats.
F0f Seeds= SLYAO|ZZ E4FAt showsl 2f0F HCE
recovered at ancient sites= 4= QX0 FeFS O|X|X| b= 44104
(BAHMOICE (el miet 01-2)
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was — were

Those who made to-do lists before bed were able to fall

S5 A0f(ZA1E) TAO(HRIAL + HAD) S4SAL

asleep nine minutes faster ~.

F0{ Those SHHAO|Z 2 S-S AH wereZt 2H0F SHCE who
made ~ lists(27| )2t before bed(TX|AL + BADE= & CF 4= LX|
o F&k2 O|X|X| b= =A0{0|CE (2wio| 3 01-3, 01-1)
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the belief, make -~ makes
For example, the belief that one brand has higher quality

Gz =2 that™

than others makes someone choose ~.

ChSAL

OlE S0{, ot BAMETILIE BUMESEC H 52 28 7L Y
a

CHe LS 2 OfH ARH0| 0| B el HRASS Melsiz 2 orect

the light bulb, were —» was

In the late 1800s, the light bulb, an important modern

e el
invention, was completed by Thomas Edison.

1800Ch =8toll, SR S wFF! T77F E0fA ofc|zol of
aff HEE|RACE

light bulb T3 invention 23(Z)

Powerful languages, stimulates — stimulate

Powerful languages, it seems, stimulate us in ways that
=2470] HUE  24EA

are similar to real life.
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The eggs and milk in the refrigerator are old, so |

=47:0f SAO(EAIN + PNT) HAEA
wouldn’t use them.

A and B SEHS| =0{ The eggs and milke 24 FZSIEE 245
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were — was

Daniel H. Burnham, one of America’s most important
ERE >Aolerel?)

architects, was born in 1846 in New York, and ~.

EEEA}

201 Daniel H. Burnham2 Ehs> |g5Hs IREA0|EE tieE

At wasZt 2t0F SHCE one of America’s most important architects

£ o X0 FE DIXIX| = S HO{EATOICE (2wl et 01-4)

oj=e| 7ta M| U= tF7HE S & HRl Daniel H. Burnham2

184601 ‘S 0f| A EHO{5t 1, 045 A12| Lt0|0f| 2|L=0|= OfAIRHC.

architect Z1=7}

The parrot in the park that we visit every week has
The parrot in the park that we visit every week has
ERRZR0| SAO(HRIA + BAFT) 24jol@AR) EHEAF
beautiful feathers.
SA01E Helstn B BRAMIE ~ IS JHX| D QICfEh= 52
20|22, The parrotO] 3204, haveZ} SAIZ 2F0F STt Z=0{ The
parrot2 CHEEALO|2 2, haves THSAt hasZ HEYA MOF Gt
C}. (2ol gl 01-1, 01-3)

feather 7/&4
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SH{0| [HE1 02 SHAITQHAIEQ| Z0{2 EHSALTEQHOF BHCE 23 p.26

22 Whether we have a picnic or not, depends 4 F= what you do within the next 30 minutes, sends
di& Whether we have a picnic or not depends on the weather. sli& After eating your meal, what you do within the next
CHRTO|(FALR) CHAEAL EF0I(AAE)
SA 2E|7F AZS ZEX| LX|= Shof ZEiQIch 30 minutes ;e;;s} powerful signals to your body.
¥Y soldiers, experience SiA AIALE GF —é—oﬂ SHA0| O CHS 30& Qtof ot A2 ghhlol Zof &4
A

a2 When a war ends, returning soldiers experience intense
soldiers2 2Al5t= SRYEAL 2AZ0] HAZA} o{%] signal Al5;
feelings of stress.

s MO B [, YEEle AOISS ZAISH AER A ZIHS 2T 5 %Y Finding different ways to produce sounds, is
SiCt sl Finding different ways to produce sounds is an
i 5t 2l TR ZOISHALR) CHEA
% intense 2 A5t Z=st . T .
o e= important stage of musical education.
HE combining the strengths of machines with human aiial A2|E BHE0] LIY| QI8 Cratsh SIS S R 22 82t sl 3
strengths, creates 23t eAo|C,
34 However, combining the strengths of machines with o1?l produce gHS0] LT} Aatsict
EESTEEES
human strengths creates synergy. 6 %2 How politicians influence people, plays
EEN 5 iticians i i i
si&d How politicians influence people plays a crucial role in
siia J2iLt (A9 glg elzkel glut Botsh= A AWK 21HE Tt ChFRO0(YAMR) ChEAt
Of 'HCE an election.
o{%] combine A with B AZ BS} Z8tsict aiial FRIQISO0| AIFHEOIAH o8 P&k O|RI=X|7F M7Ho|A SCohst
synergy AlHX| &1}, St AlaE T} S L
ol¥ play arole &g st crucial SCHsH AX=QI
= - . . = ;
=HO| THE 03  the + HZANSEAL(~SE AFIE)I 01T S-SR H0FSHTL 23p.27
FY Theold,is — are 3 %JE The homeless, receives — receive
84 The old are wise because they have a lot of experience. a4 The homeless in the shelter receive ~.
2470 2454 S470](the + HEAD +-AOITRIAL + YA =4S4

(the + A}

o4 HEl] =AAISS Y M 3 AN T
34 Lo} E MBISS B ZES XD | nh2o)
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H therichman, O

. ) 4 ZE theyoung girl, were > was
a4 Unfortunately, the rich man was very unkind and cruel —_—

g ) . -
io his servants,  ©4%0l  ©aSA a4 While | was waiting for the bus, the yc})\u:g glrIAsAlttlnﬁg on
) ) ) the bench was with her little dog. ~ ==F0  =40IEAT)
aial SdohE, 1 £RE A= T2l stelSol|7| o SFIEst D Tl T cirEA
aH
At aid U7 HAS Z(Che| QE SeF, #IX|o)| §fot = 0f2! 4= I
o9l cruel tQI5t servant stel, & 9| 22 it BPH AUCE
= - ADETT A TTa L L o e _
SHO| IHE 04 R=/42ENS o6t 0= B0 [2HCHE SADH A0k SHTL 23p.28
dE lies 3 %FE cheer
54 One of the keys to insects’ successful survival in the die To show their support for the soccer team, some of
F0(one of + HA SHOERIA + HAL) S HOIIA the enthusiastic fans in the stadium cheer loudly.
open air lies in their skin. Z=0](some of + EABAN FAOIEIAF + BALT) SHSA
A e s 057 Eof et 50| XIS HoiFT| SIsHA, 1 27130l 2
aii% OrRloM 2ES2| g%l 4E BIZS & sitts 152| o Ol HE = U”= 3 A3|2 S9UFH}
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o|¥ enthusiastic 240l cheer 22I5iC) 24
o{%] open air 02|, 2
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B has a4 In 2017, the number of trips to Latin America was
s1& In the past three years, a lot of money has been spent ZF0{(the number of + AP SAO{(FX|AL + HALT) CHSAL
Z0{(a lot of + E7HIHAR) ChESAt higher than that to the Middle East and North Africa.
on the new constriction project. 341 201700, 21l ofpllplEe] 0f = F54 =ojmalzize) 12
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T O day is increasing greatly.
i ; ; T SA
sli& The rest of the birds fly south before the arrival of winter.
Z0{(the rest of + 24BAN SLEA} i QF, AFRFSO0| 0iY Y= K|l 20| 3 B7tsta Uk
aii2l O ME & LIHX|= 7420| 27| Mo @Z o2 Jopict, ol¥ fat X2t consume 9iC} AH[SICH
HEF Jives - live =2 O
sl Many of the people in my neighborhood live in sl&  About one-third of the human brain is devoted to vision.
Z=0{(many of + HAb SAOI(HRIAL+ HAR)  BBAF ZOI(E4 +of + HAEA)  EHREA
apartments. 541 @Izt o] of 30| 12 Alzioll Mstct
Al = 2tS = CjA = Ol A
s14 Lte| SU| ALS B Che- OfmhE] ATt of#l be devoted to ~0f BT} ~of SAISCH
Y are—is
s& These days, the amount of fat people consume every
Z=0{(the amount of + YA} Al0f(HAR)
Mlnl TEST il 02~04 =3 p.29
ZE needs — need worn and needed to be replaced or repaired.
ai&  Right now, the unemployed need services to ~ Z=01 A lot of the partsOf|A a lot of = SA} of 2| ALY 4= LUX|
2550i(the + 2A) B4SAt aH0F 5t RE/4AZHSI0|D R S4HA partsol| 4= Pxlots S
=01 the unemployed= ‘MYXIS02t= Loz E4 FZot= SAb wereZt @t0f BHCL of the machinerye 4= LX[0f| ¥&ks O[X]
Tthe + 2ALO|B 2 245 AF need?t 2F0F SHCF (2o miEt 03) K| o= S AO(FX|AF + I:'4)kf)O|I:|- (24| I{Ed 04, 01-1)
did Xz G, HURE2 250] ERIE|E Fot= WS s 6l & aid T 7|AQ B2 RES0| 6| HUD wHlEAHL 2|2 ERIHRY
MH[AZF HQSIC ACE
o{% make sure &Al5HA| siCt of¥] machinery 7|7 worn &2, ot2El
e hurt- hurts J5 seem — seems
éii& Throwing things out only hurts for a little while. a4 In my opinion, the amount of sugar in this cake recipe
CHEZFOH(S YA CHsAL seems like a lot, F0i(the amount of + AN AOIFRIAR + @A)
7‘01 Throwing things out2 tt4s £ 3= SEALT F0{0|2 2 ¢ ChSAL
SAFhurts7t FOF SHLE (2wl mhet 02) 201 the amount of sugar0f|A| the amount of= &tAf of & tF
aHiA gagg H2|= 42 FA| SOtet 0tS S of 7| St 4 F|3ste Hl0|22 THSAL seems?} 210k BECE in this cake
recipe= <= YX|0f &S DIXIX| 2= SAIOIEXIAL + HARL)O]
TE O C} (2ol et 04, 01-1)
&4 Nearly 40 percent of the participants were sure ~. siA1 LY AfZHof|=, 0] 7|0|= =2 |gio| MEto| ofo| Bre 7d ZHot HoICt
ZO|(TME + of + ZHAY EPE
Z0{ 40 percent of the participantsOfl A THAMIE + of/= SA} Y Having the habit of asking questions transforms you
7t of Fl2| Aol 4~ LX[SHOF St BE/4YHSIER, 24 i~ Having the habit of asking questions transforms you
Al participantsOfl o= XSt F4-SAF wereZt 2 20| HES|LY, CHEF0(S YAt 2AO|(HR|AL + YAt EHREAL
(20| TE 04) into an active listener.
BiA ETIXFS & HO| 40mMIE = HIZ0| OFXIEtD AR x| 7} Q\CtH SAI0|E H|Qlotn HH ‘Gatg 2= A2 ~ HiElets Kol B
0 SIS 0|2 &, Having the habit0| 301, transformO| SAtZ 2}0F GtCt S
[=E] = o E}A =|aslo E}/\
o{%] worth the price 7}zpta J1x|7t Q1= YA 3201 Having the habit2 Et4 Tlc.o} _E transform Tt
S A} transforms2 HFYA MOF SiCE B2 S sH="0|2t= 02 =
= was - were 0{E ABHE A0{(FR|AF + FA) of asking questionsE 204
) 2 SAFALO|0f| = Z40| RASIC} (20| ajet 02, 01-1
ai& A lot of the parts of the machinery were completely tSAEAROLO] | ZHSICE (2ol )
701 (alot of + SWAD  SAOIHRIAL + YA BEA ol transform dp3ct
H1O| HEA 05 =2 ZHAICHBAIEIC| SAH= MESHALOH 4= LRIGHOF SHCE, 22p.30
ZE humans, give JE the pain, makes
sl Computers can only carry out instructions that humans ai& The key to treatment is to help people relieve the pain
SHA 550 that makes them suffer. A
give them. EACHBA 7 TACNEAL T EAL
srEM ) did X|20| Y2 AIRE0| 1SS NS ot SSS Sl E &
ol AFE = QIZHS0| IS0 = XIARH ~3lgh 4~ QICh L Zio|Ct
ol¥] carry out £3#5iC} instruction X|A| ol% relieve etsisict suffer n=sict

Chapter 01 =0{-SAt = UX| 5

2



=H9| HE 06

EHO| IHE 07 =xI= E2X0iIM=

CE]

si&

the trash can, is

Put any garbage in the trash can that is outside the
MBANEHSEA) 52 ChsAp

HACHYAL

building.
OffH &2f7|= = §ofl s 2217|150l o2t

those, pretend
Sometimes we meet those who pretend to be good at
MAHSLBA) 2 SHLSA
ZATHHA
many tasks, but cannot perform ~.
M2 P2l e Ue Hots HofX|gh 1S 5

e =
2 238 4 gl AYSS Bttt

et SLte FMoh

pretend to ~¢! XstCt perform Z=34siCt

the sun, give — gives

It is the sun that gives plants the energy they need.
LE (ETIEAD  EREA

TS
ME0|A 2S50] EQe HXIE F= A2 HIZ EHLOIC,

my roommates, O

On weekdays, it is a boiled egg that my roommates

eat in the morning. 54701
EEE
Loy, Lto| SHO|ES0| Otdol Y= X2 B2 &f2 HZO|Ct

boiled &2

the security workers, locks — lock

& According to the manager, it is the security workers

Y= Y (E YA

two basic components, are

There are two basic components in mathematics and
KA EASA

o FTS

music.
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>
i

483} 2o =

component 24

it, does
Not only does it turn night into day, but ~.

B CHAEACHAZ

o o BH
ErE He oz HiE

A0 REPEAIE XS Tt

artificial o129l

OfLla}, RHetzo] SofZ 4 gl 2
512 it

a young father, was

& In the terminal was standing a young father ~.
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people, believe

It’s great to have people in your life who believe in you
MYAERTA) T BACNYAL =2HEA

and support you.

EU\|O| Ar()”)\-l EI—)\

XX E ARE 7 A
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SIRIEE

support X|X|5{C} X|2I5HCt

we, discover .
P

Knowledge relies on information that we discover in

S5z =4Sk
ZACHYAL
conversation with other people.
XAl2 R2[7F CHE AfRISate| Chato A &

FCF, 7[eHet

YASH HEOf 2ESHCE

rely on o|&5

23 p 31

that always lock the main entrance at 11 P.M.

2[xtof =g
tegIsolct
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security 29t entrance /7

people’s belief, lead — leads

It might be people’s belief in the power of hypnosis that
U= e (ETHEEAD = AMO|(FXIAL + HAH)

leads them to recall more things.

CHAEA}
S0/ O B2 ASS WAL & + = A2 HiZ £[He| 520
EHOMFE SOl USSRz ZELH

hypnosis z@ recall AZfL{A| 5}

o - -
S KIGHOF SHCE 22 p.32
a computer, is
Rarely is a computer more sensitive than ~.
23 ChhEAL EHRF0|
SYUB SN Q458 Balshe B U0 ZFES 7ol elzhert of
QIZISEX] o4Ct
sensitive 2Izt5t ofglst factor 24, Q91
airlines, do
Never do airlines permit passengers without ~.
5y SaSAl S4F
SABZAE2 00| gl SZAS0| IZHM &37(0]| Br&ot=s Hoi

S{7fotA| Q4=Lk
board Et&sict 2t

several spaceships, were

& Toward the distant planet were sent several spaceships

e EREN RS
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by NASA.
M S gfolf H CHe| 2410] NASAO 2fslf HLHFCE
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1 FE visits — visit 4 %2 does—do
o4 Business owners offer discounts to customers who o4 Never do we imagine that war could actually happen
MEANESPA) =H ERERERE
f | he sh d he tom when -
requently visit the shops and restaurants in the town.
Rt Nl =50 ol0| Ltk 0f79] Neverrt 2512] 90 opAf X7}
HooOz EAl= E|of| LIQE BEA =0 A Qx| BEAE
B who 1ol 01 §{0] SAP} 12 $002 who F Lo S T e SOt ¢ BRI S
) o] mjEf
24 PACHHIALO| D, EAFS AMSIARR! customersOl] 2 2Ux|3HOF 3 tdo7t 2HOF BT z el nfet 07) ) ]
Ch customers7} 2ATAFO|DE2 2BASA} visit0] 9FOF BHT} (e ofl4d 22|= 0§ OFE! YojLiM R2(e| Laiighs AJZfet uf THo| Ax|
of T 05) 2 Ui o UCHD ol 45K =L
sA MRIFSES AlLfol QU= AR Al AL WEshe dsol & Offl go about ~& Axtaitt
Qs M|IZstoh
) ) 5 %E knows - know
of%] discount &tol frequently X}z Blts] o .
si& The teacher will give a prize to the students who know
NYAHERA) 5 =4S4}
2 Fg ) . a
Bg O the capitals of every state in the US. EACHEA
di& There were at least three or four different species of
Ea e e . BACHEAL who S0l 0 gi0| EAD} B2 o0 whos F
human living on Earth for the past five million years. 2 2ACHYALO|LL, SAk= MR the studentsOl| 4= LX[3HOF
3| 20 BEAE 35|
4B UEILE 01791 There?} 2342 9/0] 2hd EX71 Elgto S the students7} SFEAOISE STSA knowsh 210k £k
ZHo| mjjEd
B2 ZAt= Fof| Q1= Z=0] three or four different speciesol| 4= & (EEeE o) )
x50k BHCE three or four different speciesZt 24&HAIO|2 2 £ did MMES 0j=59 2E Fo| FE Ofs stMSAH &2 & A
SAtwereZp 2 Z40| HSICE (2o 1 07) Ik
841 K|t SEHO LA SO X|TI0| AF E|ASH AL C}2 B9 @17H0] UCE - . . .
o It 54 Set Aol |28t MU HHE B2 | A2 6 7% intelligent friends that give you helpful advice
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16 (1) @ appears — appear, ® has - have ol¥ annual e, ¢17te] conference 3|9
(2) Many stories that are created today have interesting plots
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s At the annual international conference, one of the issues MBAHERATAD =24 DYCHEA} 2AI0{(AIQIR) 2AEA}

discussed every year is global warming. 0i(ne of + 34
SAOEAD  gaEA

Chrs
0] one of the issuesOflA{ one of'= &4t of QF

ct

ch FIE5t

mjo
A
mr
=]

ZACHHAL who F[of] =01 9i0] SAP} HIZ 222 who=
2 HACHEALO| D, SAHE MEAt the IndiansOi] o= LX|SHOF
Ct the Indians7t S4HAO|E2 E4SAF wereZ} 210k

o 4y

o

Chapter 01 F0{-SAt 4= 2X| 7

2



05

06

07

08

09

=

it is supposede = YX|0l| F&E O|X|X| %= A0 UE)O|CE
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Only recently have humans created various written
i3t 2454 2470

languages to symbolize the messages.
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The stage lights will quickly draw the audience’s attention
to the actors who especially need to be focused on.

MANHEATA) 4 BACEA S4EA

ZACHYAL who F{0f| =01 §l0| SAPLHIZ OB E whos F4
ZACHEALO| T, SAHE MBHALR! the actorsOil 2 LX|SHOF BHCt the
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The stories told in the author’s new book that is about
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The best thing about driverless cars is that ~.
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(A) However, there are a few things about dams that
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are important to know. A HA
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(B) The water released from the dam is colder than ~.
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@ Therefore, the role of play in so many animal species
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remains a mystery.
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(1) @ appears — appear, ® has — have
(2) Many stories that are created today have
interesting plots

(1) @ In_numerous cultures around the world appear

IS EPEN

dragons in stories such as legends and tales.
=a70]

HAE UEH= 017 In ~ world7t 282 2FZ0]| 2fA £X|

7t 2o B 2 EAH= Fof| Q= F0{ dragonsOil 4= Lx([3H0F
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® ~ and we know about them because of bones that
MEASSHEA) FH
TACHYA

have been preserved as fossils.
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AR AT &= ZEBHSH= A|ZHEP: since, for, how long  p.40

has lived

Idon’tknow how long Peter has lived here in France, but ~.
(XIZ7HX]) ZotLt 224 stz
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Ben has dreamed of becoming a singer since he was
B ~O[H2 (RIZ7HX]) EhentA

five years old.
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lasted

The floods lasted for two weeks before the water returned
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to normal levels 12 hours ago.

T2A1ZET0| 20| Fet =912 SO0tV 8471 25 Sot X455

AL

flood £~ level (x|H 59)) 2| H, £+F

AHS =0{F = CIRFSH &l XIZ M|Z HackersBook.com

oy

M2tZ AT, 4 o AIEEHLIEHH= AIZE ES2

ZAICHHAL that F{0l| 2201 §10| SAPIHIZ OB 2 that2
7 ZACHEALO| 1, Ak MALR! bonesol| 4= 2X[SHOF
STt bones7t 24%*#0“:‘% S4SAE haveZt 2t0F St
(22| 1} 05)

(2) Many stories that are created today have interesting
a3 SA0|(2AR) 2284
plots about dragons.
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We have solved problems of this kind since childhood,

sirfete 012 AR oj2H2 (XIS7HX])
usually without awareness of what we are doing.
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retired

Sandy Brown, our after-school swimming coach for six
years, retired from coaching last month.

=eng| R|HEoll

67t ©a|o| int
Zlof| M SE[FHCE

S 29 AX|¥H Sandy Brown2 K| |

retire 2&|5}C}



= have been

sia | feel frustrated because we have been stuck in traffic

for two hours now. etz
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2 developed
si& A system of transporting letters by canal boat developed

Chant

in the Dutch Republic in the seventeenth century.
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dY start
si& As soon as a person and a chimp start running, they
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will both get hot.
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FE will be

o4 The commuters wonder if the construction will be
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finished on time.
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F% hasreached — reached

=1l iH 08~09

si& According to the report, the amount of rice eaten by
each person in Korea reached its peak in 2008.
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I’d rather have the $10 today.
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d& produced — have produced

a2 We have produced healthy and natural foods for over
BN
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& has been
si& One of Sigrid Undset’s novels has been translated into
etz
more than eighty languages since its publication.
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o4 Once cameras are put on spacecraft, we will see ~.
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e learn

si& Many parents will continue to read bedtime stories even
when their children learn to read by themselves.
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thirty years and always try our best to make your
(XIZ7Hx]) 30 Of4 St
shopping visits an enjoyable experience.
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& has held - held
si& The government held a special ceremony at the national
Chet
event last week to honor the country’s war heroes.
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5 2 O 6 7%E has made numerous movies since her first film was
& Our neurons will communicate to form networks of released
information when we learn a new fact or skill. si& The director has made numerous movies since her first
AlZte] 2APE HEAH~E ) STHAIR| et ~5t O[22 (X|S77HX])
when0] 0|1 0| Ajzie] 0[S LiEtLE 2AE0lo2, Mz film was released in 1970.
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O¥l neuron 2, A2 £he| AHE LIEHE AlZE EF0|2 2 SA} be releasedS Tha=t7{ was
released 2 MO} ST (20| mhe 08-1, 08-2)
ol%] release 7H=5ict
OE BHE est
01 comes 02 has been 03 use 04 finished 04 F= finished
05  hiked 06 considered 07 O 08  meet 514 The match finished over an hour ago and there is no
b 3
09 gathered 10 O 1M1 @ 12 @ Ehen B A2t o Hoj
need for me to feel especially under pressure.
0] @ @ _ .
13 14 1 over an hour agol= 24712| 3 AFHEHE LIEI= AlZt ESl0[02
16 (1) @ have had — had, @ became — has become CHAT1 finished7} 9H0F BHC} (sito] mjet 08-2)
(2) have enjoyed his works for nearly two hundred years ~ -
sila O 7= o AlZHE O Tof| 5t W7 S5 guids =24 Ee
= gict
01 FE comes = B
. kel i Edsl EF 2 =
&4 The debate about the use of nuclear energy will not end oi¥l especially 23|, 55| under pressure &g =7l
until the conflict comes to a conclusion. .
Alzte] AFE BAAE TFR)) SRIATH 05 BE hiked
untilo] 0|T1= Fo| Aj7te] o|0|2 LIEHHE BAMRO|D 2, Z250] s&  Since all members of the hiking club were so exhausted,
ZZA%|= Z40| Of2of] Lofet 2o|H2tE SIYA|H| comesZ 2F0F 5k I'm curious how long they hiked in the mountains this
Ch (el oy 09) ] Lotet chaap
) _ morning.
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) . . ez ol%] exhausted x|zl
accepted as evidence in court since the 1980s. =M=
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will meet » meet

If your roommate’s cleaning habits meet your own
SAPE FEAKREOf ~BHTH) SRHAIH|

personal standards, it will really make you satisfied.
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& SIHAIK] meet 2 MOF SICE (2wio) me 09)

prof ehilol EH0|ES| FAa ﬁEJOI SO JHRIMRI 7| S SEA
7ICHH, D22 de = Gls QAR oS Z0|C

meet ZZA|7|CH otLtct satisfi ZEARQ| 6t OtESH=

have gathered — gathered
The farmers gathered in the city last weekend since
=g X|:h =2

they wanted to attend the conference on new farming
technology.
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Currently, our company is keeping an eye on when our
YARE HEAHEEIA ono] SE0))

competitors will introduce a new product on the market

in the future. ~ DIEHALI
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@ have shown - start - realized
(A) Since then, more specific studies have shown that
Jf O[22 (XIZ7HK]) stz
people eat nearly 50 percent greater quantity of the
food they eat first.
Since then2 ‘1 O[22 (X|Z7HX|)2t= 2|0|2 1fA2t s E
L& EskshE AlZE HF0|2 2 SRR have shownO| 2t0f SH
C}. (2ol o8 08-1)
(B) If you start with a dinner roll, you will eat less protein,
10| HAPE MEAL SAAIR
(DkOF ~BHC}E)
and fewer vegetables.
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(C) Even our ancestors realized the unhealthiness of
CheotA

sweets many years ago.
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@ have wanted - enter - stayed
(A) I don’t even remember how long | have wanted this

so far. XI27HK| LotLt 224 sixfetz
2o (RIS7HAD) Lot 22 #lsl 2H=Al2t= 20I2 how

long ~ far= 12} SATHE 25 35 AlZE EE0|C) W2pA &
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their kingdom.
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@ will suffer - suffer
@ It will comfort you to know you are not alone if you
L EEESEN
suffer from aches and pains in your lower back.
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@ The different political regions in China joined for the

first time in 221 BC. e

7|1 2210
in 221 BC= 2442 8 A|MBHS LIEFHE AlZH 10|22 T
474 joined7Z} 2LOF SHL. (2ol miel 08-2)

@D 24 FZ5H= A and B HEH2| China’s frequent times of unity
and Europe’s constant disunity?} 20{0|2 2 £ 4SS A} haveZ}
2 20| MHSICE chor2n Z 7= 2Y)

Q EBUY K|FES Zgts 28 H0| H= AlZF SeH0[2H= SSe & for
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HEH0|2 2 SRR has had7} 2 Z40| MESICE (2o 1= 08-1)
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10|22 CheDA was7t 2 Z30| HESICE (2o mjel 08-2)

® Z=0{ The current disagreements?7} 24£HAO|E2 S4SAt
areZt & Z40] MAsICE about the issue of unifying Europe2
& UX|0f| Fet2 O|X[X| b= $A0{(TRIAL + HAF)OICE (24

9| 1 01-1)

E=0| UIgst E80| Al7|2t RBC| XEAQI 2H2 71 AAE 7K
10 0E B2| 03] FR| XHS2 7|§H 2210 M2 FHMA
Cf 2 of2flZ, IS 2 thREe] A7t SO SefEl HEIS [ £F
ot &=2 28 F0| g AlRE Set & ShLfe] At A2 A
EoHA LS 7EMRL, 022 2EH0lE 0{F5] AFHO|CE A
oll, R FRIA S0 2t o] = YUACE RS 2500
& 0|l = JHe| FIISE LEFOIRL, %2 R A7 SeF fZst
Al LhEl HEE FAISH LT 1980ECHOY, Of == 25702 =7PIHA|
YRR XZ2 4071 0|42 2 ChA| EIHRICE 2242 01715] 45
7Hel elojet #N Of 2 23t Crfd S 71 QICh RS S'lst
= =0l TSt 3ixfel oA xH0|SE2 @5 01Xs| =517 UCH
frequent Blgist unity £8F  disunity 2 solid 7418t Chekst
diversity CtfM disagreement 2|74 Xt0|, £%|

15 2 @ disappears — disappear

ol

A
=

@ Moreover, just like the smell of fresh bread, these

wonderful things that enhance life disappear from
ERE FHlolEAE) EReT

their consciousness.
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(1) ® have had - had, @ became — has become
(2) have enjoyed his works for nearly two hundred
years

(1) @ In early 19th century London, a young man named
19M17] Z& BEOIM

Charles Dickens had a strong desire to be a writer.
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In early 19th century LondonS TpHQ| 5 A|HEtS LIEFLY

= A2t 30|22 thetA had7t 2FOF BHCE (2ol mhet 08-2)

@ He has become famous far outside of Britain since
et Juf ofzH2
that time.
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since that timeO| ‘1t O[22 X|Z7HX2h= 20| 2 1HA2b
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Many readers around the world have enjoyed his
works for nearly two hundred years. &%=
(RI27HX]) 72| 200 St
QHA; HA CIZIATE FALS BR2 Of2f= XIZ7HK| 49| 200
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OF 8t} around the world= F01-SA 4= YX[0f] Fet2 O|X|X|
Qb= 2 AO(HX|AL + HAFD)O|CE (2wio| gt 08-1, 01-)
19M|7| = HEOAM, EA ClZIARH= 0|F2] HE HRt= 27t &
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aff HRACE T= stmof| 43 A CHe 4= QIE &0 GiQICE 2] Ot
Xz Ylg 2R Z37| 2ol 2=l A/}, 0] HE A= SE i
NEC| 1SS HEICL ACPL O= 12| 28 M= SHof s At
AlIZHo| LR Ho{M 2hol| el HEYXISA 22| 28 EHCtL 22
A ARYRUCE SEX(2E o= e, 3 HEXF J2f s S ot
HRUCE 37k 10| S0f| ChsiAM RrHE T Atz 39| Q1M MK HE
¥ =UCEL J= T O[22 Y= 5 L[ M= SESHECE T MlA
o| ke EXE2 9| 200 SOt 19| XHES £74 {ACh
debt 8! know Z&sICH ALt reject H&sICt
recognize 2Ot=CH
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CHAPTER 03 TAlQ T&EI-+~FEH

SHO| THEI 10  =0{7t AL =HI0 | SSEH, [HALO|

qE

sii&

discussed

We discussed this issue for a few hours.
=o| oo

(=2lst= elel FAl)
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22| 0| 2HIE Z AlZt Set =23ict

attract

Female butterflies attract male butterflies with a smell.
FO{OESH: Welol FH) SSE
o2 LIHISS YAIZ £3 LIHIS S 0fS3ict

,0{M9] attract of=35tC}, B

female /71

is placed
Before the shipping process, the fruit is placed in boxes

F0l(2E #eolol tha) +SE
with the farm’s logo on it.
&5 Zxt Hol, T2 ol 217t ol rtoll BojEct

shipping M® 24 process Xz}, 1%

p.51

asked

Some questions were asked to the witnesses ~.
FO{(2E Helol i) beSAH  pp.

2 7R BES0| 1 7| SFA SARS0IA S OIFCE

witness 24X}

spending

A lot of people had been spending time at the beach
=0f ThaveSAt + been,
(AZtg BLiE= #elol FH)

when the shark was first seen.
T Y07t XS SHEIUS 1 B2 A

5 =4 s
UALE.

v-ing

FS0| sHiH0IA AlZtE B

viewed

& The human body has been viewed as a ‘natural’

Z0{(0971= Rl chah)
phenomenon ~.
QA= AFAXQN &g, J AtAQ| Sfglx| 1 BiSHK| b=
X RACE

"ThaveSAt + beens p.p.

AR 01A

view 017|C}, EC phenomenon &i4t

knowing — known

4 The sense of looking freshly at something is known as

ZFO{(0H= &9lo| chah
‘beginner’s mind.’
o e MEZ HiEtEE 2zt ‘ZdAke| O0rgol2tn

-
AL

beEAL p.p.

EC|

be=At2t haveS AL =0 v=-ing®t p.p. =

beTALE: v-ing vs. p.p.

P

1

M ~FEH= MOF ST 2324 p.50
FE isused
a4 Platinum, which is a valuable metal, is used in many

St

IS

8E

si&

8=

yE

s

0] (eh

SHAd

FO{(AB3He 2l thah
electronic devices.

S5

w32 Jx7} 2 340/0 B FHAH

[7IE01 AHEEIL,

platinum &2 valuable 7}x|7} 2, &5t

be brought

& Someone who is only clinically dead can often be brought

Z0i(E| &2l Welo o) S
back to life.

WIS AN TIEHO] AR B SR 4 QICt

clinically dead A2t zicto| + bring back to life =|4tz|ct

carried
My little feet carried me up the stairs into ~.
0] SSH
(0l1= #elo| Fx)
Lo 2f2 20| LIS KSAt ZF 47 |He EHpEiMoz 0|2= A
tto 2 o[&ICt

=00k SHCE 238 p.50
()

My favorite stores at the mall are selling many interesting
ZFO{(Th= ARl F=H|) beZAl v-ing
handicrafts these days.

2F 2ZS0IM W7H 71 E0l6t= TSR B2 S0|E2R 30
=52 0 Qlck
handicraft =Zo|=

placing — placed

Many obstacles had been placed in his path, and he
FO{(z= #elel thY) ThaveSAt+beens p.p.
knew that they were part of his preparation.

ke X 20| 19| Zof £0{ QIn, I= aZHE0| Ot =H|st=

Lcl_

ol eRet= As LUACL

obstacle Z0i2 preparation ZH|GH= 1HA)

ok haveSAtvs. beSAt p.52

is

& When food dyed blue is served, people lose their

FO{(RtE| = e
appetite.

of che) beSAt  p.p.

iztMo 2 ZME SAI0| R2{X|H, AIRIS2 A8 S gl=Ct
dye ZtMaICt GAISICH appetite A1, £7
had

My sister had learned how to swim by the time she was
2= A2 FAH) haveSAt p.p.
two years old.

Lol il 7 = &0l2is BY +Yshs WS HiRich
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3 FE have 4 Y were

di& Again and again, communities have studied water &2 The musical instruments were made in the 1800s for
ZF0o{( st #elol X)) haveSAt  p.p. ZR0J(BH=E= ARl ) beSAt  p.p.
systems and discovered wise use. musicians in the national orchestra.
afid H 0|, X MBS 2 G4 AIEES SITaliRi SIHE AIBHS did 197521800010 27 QAAERC| S27tES 2lsl BHE0]
SORRITE et
ol%] water system @4 A, M3 o{¥ musical instrument 2}7|

SH{O| HE1 12 =28 SIHITHYAIEO| SAH= MBHAIIE SALEHQIO| Z=RICIK| [HALOIR| SOISHOE ST =44 p.52

1 %Y causes =2 3 %E barbecuing =
ZACHHA ZHACHAL
a4 Atsunamiis a huge wave that causes terrible destruction. sll& The firefighters found three men who were barbecuing
AMRlAL SSH MHADI|S Z= B2l FH) SSE
(WS Lo7l= FH) some chicken and beef on the balcony.
i MLID[E BREH I E Yo7 & Hoigh ThEO|Ct afid ARRPHS2 LALLM H7|2t AT17|E @0 AUE M He| "AtS
ol¥l destruction mz| S gtAsiC)
2 & was selected 4 %2 been explored
di& The speaker introduced the local artist, who was si& Photography is a way of learning about the deep-sea
A T2 ECHEAL e
(dEsh= el the) world, 95 percent of which has never been explored
selected as the best young painter in the city. g A} + of which, SSE
B before.  (EAHS @2lol chap
3 IXt= K| ofjaut= SH [ X 4o
o 2 AIRHE XI OIS7HE AHREH, 2= 2 A U Fa e B2 S AFEIZS Al M0l Chat UL oo, A3 Al osm A
3 4
Sk HBEC E= THof 3 1% EAKE Ho] gict

Mini TEST =2l 1§l 10~12 23 p.53

1 %E lost— losing =2 is damaging to performance?
_ EACHA . beSAl  v-ing
514 Suppose you see a friend who lately has been losing )
MAL rhaveEA} + been; v-ing Z=0{ musicO| Al damage?t LEt= TEHE =&

(M2 £0l= #elo =4

a lot of weight.

) HOIZZ beSAF SHOIM ZHAIHO[RIN SSEf A
damagingO| 2 20| HHESILt (zwiel ufel 1-1)

2 EDICAT who G191 S a friend7} ELES] S4F losert 8141 10| AT U BN 7|52 BA2ICHRY, Zoto| Astol Ti3S

LIENI= MBS SOl #9/2) FH0|02 PEel A SSE

2 QJ0f SHC} [H2bM ThaveSAL + been, Fl0| SSE SAIE BlE=

losingO| 2O BHC}. (2wtol mhet 12, 11-1)

R 4EE0| YR

olg] enhance &fAFA|7|CH circumstance Atgt

aid EZ20| B2 MBS F011 A= DT E =0i 71gs! B2t 5 X have — are
kel 3l . . o .
oi¥l suppose 7Httt a4 According ~, babies will have better brain development
iCE wine if they are held in their parents’ arms more often.
2 = WINns —Is won 7;_01 beZAf pp.
dlied 3:0{ it(game)O| SAL winO| LIEHHE ‘0|71 &9l tHato|2 2 4 (= welel the)
SEH is wonO| 2HOF SHCE. (=wo) ujst 10) 01 they(babies)?t At hold7} LIEfL= RH=" 32[Q| CHA0|=
SiAl AZFOI AIISS 0|2 W7HK| A7 |2 AlLste 2o ZQAME 7tk Z, pp. 0l +SE SAE LEE aret QAOFBILL (2ol miet 1-2)

S| E{Sslf 2T oA RE DSIXLS0)| MEH, 0|52 15 F20A & O A= etv|H
o L2 S| gehs o7 & Zolct

o= xz1
3 Z%E learn— be learned ol ol%l development &gt Az}
54 While ~, being funny is a skill that should be learned.
MEAHEHSOHE Welo ) SSE 6 7%= The cars that are made in the factory are electric
MR a skillo] 2HAIES| SAtlearnO| LIEfL= Sh&sh=" (2l vehicles. , ﬁiw
_ Ay
HO|2 2 FA ZAEAIES| SAts ~SEH be learned?} 20 5+ si& Th h de in the f lectri
Ha e cars that are made in the factory are electric
L (2ol mjgt 12) MSAHBIEL 39lo] ) +SE
s141 OffH AIRISE EfILt OjAHBOIX|DL 27|21 e 2 BHEE(0{0} vehicles.
sh= 71&0|Ct BOHA T ZEO|A BHE0IX[E0[2hE S22 2 320 The carsE Fof|

M pA5hE 2AEO| @= 20| RAIAAZCE M3AF The carsZh 2|
Eo| EAf makeZt LIEFE IEE Sli9(e| ciato|2 2, A= &
4 ¥ O AtE 2 SEfQ! are madeZ HFR0{ AOF SITE (2wo| myE 12)

ol¥ natural EfLt Xted9| humorist 42 QU{7} HX|= At

& If music ~, are there circumstances in which music

Fof(mishe & elel FR)

16 0| S =0iF = st st Xt2 XS HackersBook.com



:
[=X=)

SEHO| [HEI 13 RiSA=4SHZE 2 4

J= becomes
si& SAt become SH0{7} Qx| 940t £ SERE £ 4 gli= AHEA0|2
2 SZEj becomes?| QL0F &+
sia AlRS0l He B, 552 HOBHTICY

belong

S A} belong2 2%0{7} @X| ¢,
2 SSE belong0| 2t0f BHTf.
O|xt SEHojof Ltef ei|el Ziolc,

back 5tto|, 5

o=

10t ~SEHR 2 = GlE AHSAI0I2

ol o
M Ko

i is kept

Z0{ The paper?}t SAl keepO| LIEILHE "H2t5H= S12(Q]
2 £5El is kept7} 2t0F SHC}

SAZ| 8X|= A Hof 7HH|K ool BRHEICE

= o I

SHO|MHE 14 saM

10 SHUHE

SHI SAHFIS

TE O
4N SSE
My friend lent me an umbrella because | had left mine
= EEH0| FYSHo]
(A= Al FH)

at home.
U7t Ltel e =
HFACL

CE

LI ol £ 27| 2ol Lie| EIF7F Lo 2442

HE offer — are offered
si& People who form an attachment to their belongings

prefer to keep their things even if they are offered money

Z0| 43A 256 =FEHof
(HISst= &elol )
for them.
aidl 50| ARS0 ofEs Hdste AFRE2 IS WIE =2 A
JEEXEE OS50 718 71X = As Msstict

FY give — are given

@14 The homeless people are given a free meal at Hope
ZolGE Bolol i) 4BAAEH  HFSNO
Shelter and are very grateful for it.
sHA1 20152 Hope Shelter0f| A 22 AIAFE 2h1 J740] sl 0fe 0
ObItCt
of%] grateful n0tQl5H=

A4l ~SH SAHFICI SXAE

SHO|IHE 15 s34
¥E O
o

Miller was elected governor. FoldEsts delel o)

sEAl asE | SNzl
si4 Z10 H|Z0| 20| E= M7 2% 50|, Deborah Miller7} Z2X|AFZ M

EEvE

After a long and expensive political campaign, Deborah

SEHZ AMOF SHTE. 2% p.54
4 7Y occur
sia EAF occur= ZX0{7F QX| 20 +FEHZ £ 4= Gli= ASAI0|22
S occurZt 2of S
aid S YARKISO| CHE HAKPEHIB3tE e fokX| 2= St AHell=
LHMSIX| k2 Zdo|ck
of¥] party AIRE Hg
5 7% isenjoyed
sii& )\1°H/\f a leisure activity= =24 ZHACHEAIE S| SA} enjoyZt LIE}
e 71 2ol tiao|2 2 4~ is enjoyed 7 2t0F BiCt
sl H%% S| XIAALS|OIM MAX S E2 EAK|:= 07t ZS0|Ct
6 FE appear
e SAbappear= SX0{7} 2X| 040t +FEIZ £ 4= Gl= AHSAH0|2
2 SSEH appear?} Q{0 SHCt
did iR R M22 M52 st ZH0| siY EH 2/l M SZHs o
E= ZA0|| LIEFCE
ol¥ volcanic sHite] eruption Zg 235
H11 SSEVHL0F ST AZIGHK| 2t0t0FSHIL == p.55
4 72 was taught - taught
484 SSEY
si& When William was young, his grandparents taught him
Foll2R= Yolol =) ZtE=EOf
the value of respecting his elders.
B
ali4 williamol| OIS i, 19| ZELRE2 J0H| AEHAE E2F5t= A
9| 7IX|E 7t2XCE
5 JE
sil< A medal will be awarded to the scientist for her invention
B 48A S8 TR S Eof
(=0{5t= A2l2| tieh)
of a new vaccine.
si4 122 Juje| MZ2 witle] wedo 2 1 I5ixjo|7 40i2 20|t
ol?l medal %, o2 award £-0{5}Ct F:Ct
6 ZE isgranted — grants
a4 All travelers have to prove their identity before the
government grants them permission to enter the
Fol 43 SEEf 2HHSHo FEHO
(&elst= delel =)
country.
oA FRIE S0 = 57HE SelshiE| Holl, 2E ofiAe 159
Mgl EHalof SiCt
ol%] prove ZHsICH permission 5{7} &2t
O1E SXHN= 2ZIGHK| Z0H0F SHCE 22 p.56
oj¥ political campaign 4171 2= governor Z=X|A} elect M&5iC}
2 7%E force — be forced

Local residents will be forced to leave their homes
Fo{(ZQsts #elol cha) S5EA +~EE  SHAHEQ

because of the serious flood.

sii&
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(1) @ are polluted, ® built, © damages
(2) Traveling to new places is being considered by many people

these days.

18 YPo| MM =0T = LS &k XIZ M2 HackersBook.com

shiA

ofl4d M2fst 34 R0 XY FRIS2 IS HE HLIES Z2eits 2 4 %% called - been called
ICH si&  Johnson led the successful expedition, and he has been
; o] 584
3 32 O SO;AEIH called a hero for his bravery. ~ (FE=#elelthy)  +SH
34 We found the two lost dogs playing in the park ~. =HA20
Fof S50 SHAEO] alil4 Johnson2 3R EfelS 018U, O 12| 8LUFICE 2l A
(LHst= #elol Fx) (Ldsts #elel chy) '
302t S Rk
GHM. OEE)}%QI% )\XO,_|O(=,I§':DE,977 ijOlE;HQI:H- " -
;;Hll:r =} | =) 0” 1T E - |' | | H I‘EL P N = =2 0110.4 expedltlon %}3& %g bravery %7:,*5:,*
AT
Mlnl TEST =0l TjE 13~15 23 p.57
1 %Y give — be given 4 ®g O
di& Every buyer will be given a free Bluetooth headset si& Former president Jimmy Carter works along with
FOl(ZE #olol Ty 434 S AHYEH volunteers during the program, which is named after him.
that works with the TV. MEAHOIZ Rl Qo] CHAY) 2 ZACHHEAL 2SEf
=0{ Every buyer7t A} giveZt LIEHLHE ‘F&" #(Q Cho|=2 MHAL the program FZ HACHHAL which7t 0|11 2tAIH<S
2 23El be givenO| 2t0f STt SAL gives SX01 2707t & + SAt nameO| LIEHLH= O Zle #IQl CHY0|2E, St is
U= 484 SAOIZE, +SE SAL Foll H2 ZHSZ0] a free namedZt 2 Z40| MEsICt be named after(~S M 0| FChe
Bluetooth headsetE B 11 SSEi SAI} 240k SHCI0 X{ZI5HX| ©f TIXIALRE 2P BB HO 2 SFE|ZE MOF ot EHYS 2lsiECt
EE FOIBICL (2ol miE 14) (20| T 15 3| Lot 7])
i BE AOKts TVe AEEe 2R EFFA dEMls Be A sll& Jimmy Carter M CHS 2 =2 02 SO Xl AKX St &H st
o|ct. 0,3 =20e IS 0hM 015 X|ofZICE
2 B O 5 Z%E is appeared — appears
i SAtseem 70| SX017F QK| 40 +SEHZ £ = Gl= ALSAO] sil&  appear= Fl0I| SX0{7F K| 40t +SEHE £ 4 9= AFSA0|12
22 55E seemO| 2 Z10| HESICE (2o me 13) 2 SElf appears?t 2t0f ST} 2204 The navigation app2 Eh4-
SA MRS EREOIBIIS0| 0|7 oD AEMAS =L JixE |/ AO|E 2 CiZ A} appears2 TX{Of SICE (2to) mjei 13, ch 01 2 2
o & oict 71% 24)
o{¥] comment 2ol =1 overwhelming 7iC|7| 0{H42, et=xQ aia] Aol A ADFEES| LH|A|0|M 40| CHE ASECHH K88 22
Z HolICk
3 %FE made — was made
s . 6 %2 was offered a free gift by the compan
si& Frank Conroy was made a famous writer in the literary e it by pany
ZFOH(T=L RO ThAY) 53A SSEY SHAH ai&d The customer was offered a free gift by the company
world by the publication of Stop-Time in 1967. FO|(HISot= deloltidh) 44 2358 HFEHO
Z0] Frank Conroy7} EAF make7} LIEF= ‘BHE = 349|0| CiALO| because of the broken product.
S 46| was madeZf Q{0f 3L SA} makes 2{0{9F 25 T 042 HBYRLCret= 2|0|2 0] The customer?t SAt offer
HOP7L 2 2 e 584 SA0|EE, +SE Fof @2 S54H0{ a 7b LIEtE HSshe Rl tHY0|2E SAts SERQ! was
famous writer® H 11 2X0{2 AM2t510] SSE| SAP| 2F0}F Tt offered2 B0 MOF SHCE 4344l SAt offere £SEHZ MEEHE
0 RZISHR| REE FOISHCE (2ol miE 15) 2 FE0| L7 SA RO 2 = AU B E, 2= X0] a free gift
8141 Frank Conroyi= 19676401 Stop-Time.2| EEofl 2J3} 25iolA £ was offered Ho| S0 M2 M5t FHI2 S = by
Swst X712 DHSofFICH £ MA HASITE (zeo ajEl 14)
olg literary world 257 publication 1t
OE BEZ] TesT
01 held 02 been seen 03 lay 04 be given 01 F= held
05 are prepared 06 are taught 07 O ai& Z=0q the back of the pickup truckO| SAt hold7t LIEHLfE A= S
08 were thrown 09 remains 10 is credited 22| FH|0|2 2 S SEH held7t 2FOF ST how ~ held= SAF Guess
O 2X0{Z MOI Q|2 A} + =0 + EA}, 20| ZHFO|2 2 (HAFR)O
n @ 12 6 13 @ 14 O 15 @ | i [2AL+ 30 b &=o| 7H (HAFE)O|

Ct (2o 1 10)
A3 QF E=o| ZZt0| UntLt B2 324 HES MUK U5
gt

soda 224 EMME& pickup truck A
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BE

ShAd

1l

MHACIER]= W2l the) F2

been seen
The producer’s popular films have been seen in movie

FO{(EE= 32l i) +&El(haveSAL + been + p.p.)
theaters around the world.
Z0{ The producer’s popular films7} SAt seef LIEtLH= ‘H=" 3l
?[o| CH& 0|2 = havesAt F|0| M ~SE SAHE CH== been seen
O] 2tof ST} (2ol ayet 11-1)
O MEXL| Q17| Ql= HstE2 ™ M7 Fat2tollM 204K Lt

lay

‘SLI, =0iR\Ckeks 2loje] SAtlies Flo 5207t @X| ot 5
B2 £ 2 gl= XAHSAI0|2 2 SSEY lay7t 2L0F ST layE lie(lie-
lay-lain)2] A O Z, "L}, FC¥2k= 2|0|e| EFSAL lay(lay-laid-
laid)2t ESHR] LS FOISICE (2ol mE 13 2 Lots7)
Matildas & F2l0f 50§ QT MES FREC 2N T4 AAR0|
Al e Zig 7tEACE

be given

4 The award-winning teams will be given the opportunity

F0l(GFE Belol tha) 4| 356

to participate in the “Korean Food Festival” ~.

SAl giver= 434 SAIO|2E ~FEf 20T SAFFol| 550
7h H=CE 204 The award-winning teams?}t SAt giveZ} LIEHK =
‘FE (o] CiM0|2 2 S~SEH be givenO| 2F0f St S~SEH SA
Elof| S ZIH=20] the opportunityE B SSE| SA} QF0f
AIZISIK| LS FOIFICE (2ol mie 14)

EIS2 i 11 140l| t= 4 SAlof Z7re 7127t

HES0]
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are prepared

Most of the dishes which are prepared in that famous
2 PACHYAL SEf

restaurant are from old Italian recipes.

MEAF Most of the dishes= 2 ZACHHAPEC| SAL prepare”t

LIEILHE ‘EHIsh= #elol tyo|2 2 2AH| SAts =Sk are

prepared”} QLOF BT} (2ol 1 12)
X gt Aol EH|El= tHRE 2| 2|52 @eEl 0[Ez|ot 2
2ol Al 2 Zdolct,

teach — are taught

The subjects that are taught at the music academy
S SH

ZACHEA
include classical and modern musical themes.
A3AF The subjects= T2 ZACHEAFES| SAF teach7t LIEHLY
= 712x|= #9|o] thAlo|2 2 L=Ef are taughtZf 20F BHCF
Ho| IiE 12)
of stmollA 7IZHXIE 2SS Z2hAlnt i) gof FHES B
(<}

S|

i Tl

oot ojo

o

My sister and | have been taking dance lessons
F0i(=Yst= #elo| FA) sSE(haveSAf + been + v-ing)

together recently at a dance center ~.

=01 My sister and 17} SA} takeZ} LIEHL}= ‘42b5H=" 812|0| Z=7|
0|22, ThaveSAL + been, FlO| M 2t2ZIMAIN| SSE SAE BIE
= takingO| & 20| HHSBICL (zetol m= 11-)

L] i@t L= X|HEo| 22 A TiA MIE{o A ZZ20f 2 tA

o Agbs
=YUS ot AUCE

threw — were thrown
0] The sailors7} SA} throw7} LIEFLH = ‘LHSEHO|X| <= &42(2| Cf
20|22 ~ZElf were thrownO| 2F0F SHCE (20| it 10)

s

09 BE

10 B

iy

n g

i

oy

12 B

si&

LE 2ol M U MBS A

_?
LS HOIXIFCE

re

aheol 2125t 3l 2o Hoj A

deck Ziet throw LS Ho|X|ct HX|Ct force &

is remained - remains

SAtremain2 F0f %017} @X| 40t +SEIE & 4= Gl= AHSA
0|22 £=El is remained?} OfL|2} SZEH remainsZt 2F0F SHCL
closed= =X0{7} OtL|2t ‘2 £'0|2H= 2|0| 2 F:0{2] HEHE MY
Sh= FZHHO{O|CE (2ol mE 13)

O A9 SZAE 20| AERLZE, SAPE AElE AR
Qef 23| W20l = Ci2l= Al H2HEl HEejo|ct
unfortunately tERAA &, 85| commuter S22kt
construction ZA}

credits — is credited
The female professional speech writer is credited with
FOHSS AWt Wl thah S SEY

creating such well-known phrases as ~.

Z=0{ The female professional speech writer?} SA} creditO| LIEFLY
= 32 ™ot dele| tha0|2 2, £5Ef is credited?} 2LOF &t
Ct credit2 MX|AF with2} 874 be credited with(~0f| CHst 28 1H
LTho| HEHE Kp== M0|= EEHEBIO|CE (2wio| mjE 10, 15 &1 Zot£7)
T 0N M2 M2 EAXH= ‘Read my lips 2|1 ‘A kinder,
gentler nation'2t 20| 01 & LTI FHESS CHS0{H Zof| CHst

no [
S5 ogeEnt

speech writer &142 xtMXF phrase 78, &

@ produced - is - use

(A) The fruit, which contains a variety of healthy vitamins
Zol(yatats #el2l cha)
and minerals, is mainly produced in Southeast Asia.

beS At p.p.

2204 The fruit7} A} produce? LIEFLE “iAFSHS S| Cf
Y022, beSAt FOIM +=SE SAIE 2t=E produced”t 2t
Of Bt which ~ mineralss ZE012F SAF ALO[0f] & 221042
H)OIC} (zwtel oy 1-)

(B) Once the fruit is ripe, it is sold fresh in both local and
0{ beSAt p.p.
(Ztoliats elel chd)
foreign markets.
201 it(the fruin2 SAt sello] LIEH= Eolisk=" &9lel o
20|22 pp. A0IM +SE] SAE == is7h 2t0f B

(22| miE 11-2)

(C) For example, people in Malaysia use its roots for
FO{(AHE3tH= #elel ) SSH

treating fever.

=01 people0| Al use?t LIEHL= ‘Argst=" &2|2| F4|0|2

2, SSEl useZt QLOF SHCE (=wiel ujet 10)
SHREH LR = Z2|O[A|0FeF QI U|A[O7F IAEK|OIC]. 2IRERS O
2[7t2fS S5t 22f|0]010[04, 11 Hoje] "X M7l 7S 7tefzl
Ch O Fofl= 0421 71X] 740l £2 HIER D} O]H|E,
1, == SEOM[OLo| A MAEICE Hofot oo™, T
Q| AIE RO AIMSEA| EHOfEICE 274 St E
= Ol AFSEICE 2REF LIR = ChFsh AAH7F QICE o E S0,
2lOJA[O AR S 2 BS CHAR|= O O] %2|E ALESITE &2
|_|._E'I_9_| |_|.EI7H7<I [E._ &

[0

o >
30 1l
_O'ﬂ

k1

N
M g
Dal

0z

i=]

2

oA

un 12

m &
moag | 9 3o

O
D2 ot 5| 2510IA o 2E J4R|7H QICH
native 2/4tx|9| £Et0]9] hairlike & Zt2, 0jR 7t= spine 7fA|
ripe /2 fever & bark LI27% medicinal 2|29|, 2g9]

® were given - switched - arises

(A)In an experiment, participants were given two
photos to review. FOGFEEelolthe)  4BH 255

HY=HO|
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Z0] participants?} SA} giveZt LIEfLH= ‘== d4Q(o| CHA
0|22 £SEf were givenO| 2F0f SHCE SAF gives S04
207H 2 & Q= 434 A2 E, 25 SALFlofl g2 2
204 two photosE E11 SSEf SAPL Q0F SICFD %2R

R FOIBITE (2ol Ty 14)

ThaveSAt + been,
(B) When participants received the photo, it had been
Fol(HhE #elol )
switched to the photo not chosen in the previous
p.p.
stage of the experiment.

Z04 it(the photo)0| SA} switch7f LIEILH= ‘HFL= s42(o| CY
A0|2 2, ThaveSAL + been, FIOIA AZAIX| ~SEH SAHE T
E &= switched?} 2t0F SHCE not chosen ~ experiment= 0| &

Al the photoS £=4I6H= =A]0(ZAF)OICE (2He) mje 11-1)

(C) SAt arise= F0ll SE{0{7} @X| oot ZEH2 & £ gl= AtsS
AO|E 2 SSEl arises?} 2FOF L that ~ outcomess= SAf
revealed2| 2X0{2 M| ALEO|CE (2uo) ufe 13)

FAE0N, EVIRIE 2 HTE = Tel AFEIOo| FO{FCE 2 AFzlof|

gk AlZEel =0 QAU IS O 002t M2fsh= AR

NER= QF s WL AFAS2 O3 HA0| M 26t £l

E XL ZVIAE0| ARRIE EtE l, 742 Aol 01X THAofA

MERE|X| oF2 ALEIS 2 dh70] QURACE ST, CHE 22| E7IRE

2 0] AElE XISl Mefoz dhotSQia, Mo of 50/ 2 Y

=2 MERH=X|of Chet =ES otz A2 Z 0|04ZUCE 0|2 22(9]

MEDH ATHE B2 |3kohE 53 AO|Ol| #iXSH EYX|7F LS

— o= =

o

fllo rir

=

A ERfHCt O ol 2 [o| St XF A 2N S EEshe CHFst
G0l M SUSH ATt 2HE (O] RACH

remarkably S2iA| %, SE2{X|7| striking X5t =0f ==
mismatch £2x| rationalize &2|3t5lC} domain 9, B

@ was occurred — occurred

@ SAtoccures FOll SE0{7F @X| ot +SEIZ £ 5 gl Xt
SA0|2 2 55EH occurredZt 2F0F L that ~ warehouses=
MHAF the damageS #Ashs F2 HAHYAEOILL (=2uiol
HE 13)

@ Z0f what ~ shipment= £t F|50h= SAIEO|E2 TSt
is7h 2 Z40] HHsICE. (2ol miE 02)

® 3=0{ WeZ} At order7t LIEtLEE ‘FE5t=" (2| FH 0|22
p.p. AN LZAKO|HM SSEf SAE BH== haveZt 2 A
O] MESIC. (zeel met 1-2)

@ Z=0 The delivery7} SA} expectZ} LIEILH= ‘Of|AbsH=" 342|Q|
CHAO|E 2 £~5El is expected?t 2 Zd0| HSILE expect= to
BEHAE SXMHEH0IZ Fote 584 SA0[2E, Fof Y= to
take place= 2&ZH0{0|C} (2o mjei 10, 15)

© M&Atadeliverytime T4 2ACHHALE S| SAbsuit7tLIE =
Q= SHRO| =H|0|HNM ThrHAIO|Z2, SSEHO[HA IS0
& LR[Stz ThpSAL suits7h 2 Z10] ZHESICE (2o miel 12, 05)

StevensM|H,

0|72 9& 2620l HsPAIM X3| oiEol|lM ot =atol HiE

Algh 2t 2o|of Cheh EHRULICEL RSUARA L, HiEO| ChHelf XS]

7b FSPH Y2foF & A2 £2 AA0| OFgLICE 7H MIZEALZ R E

M3 Fn2o| i S0l LMt 240 = Qlsf #{ste| 2ato| i

2 Ol A0 @2 2 ALICE M3z AL Feteh n

HES FEIHSLICE &2 2= 0[L{ol| O|R0{E 2= of &ElL]

Cf. & 20| &5, 2obi = HiE AlZHS Hob| 2l SA| &3t

E2|ZIELICE o X|oA0] oA 7|F SHof| Cis FAARA M2iet

LICk

Justin Upton E2/

status A&t A2 manufacturer ®|=A} warehouse &1

arrange MsiC| Z=H|SICH suit QEEC) XMEsiCt

regret QAR M2fsiC}, S3[5tct

20 Yo MEHZS =0iF £ Ctfst st Xt2 ME HackersBook.com

14 FE

EE

sl

15 g

st

ok

® influenced — were influenced
® Both fish were influenced in a negative way ~.

Foj(@s Fe oA tiY) +SH

201 Both fish7} SAtinfluencet LIEFHE 'FEFS F= 32
CHAto|2 2, ~SEl were influenced?| 2F0F SHC}. (2uo] mied 10)

@ AL A pet goldfish7t =2 BACHEAPES| SAL keepO| LIE}
U= 7122 #delo| thato|22 ~SEl was keptZh & 20| &
H5ICt (2ol oy 12)

@ 0 we7t SAt separate’f LIEfLE M2 HOsE 92| =
0], two weeks ago= 22| S AI™DHS LIEHH= AlZE E
10|22 theDAHo|HN SEEf SAIR! separated?t 2 240 &
HSIL} (2ol 1 10, 08-2)

@ SAtseem2 Fof SE0{7} @X| o0t +SBEHE £ £ Q= AHS
AIO|2 2 SSE seemedZt & Z40| MHSILE (2ol 1 13)

® F0{ 17t SAF send7} LIEt = ‘ELiE #elel tiao|mz, 5
SEf was sent?t 2 Z40] MBI} SAt sendi= 2712 S0
2= 434 BAL0|2 2 2FEf BROIMET SAL F ol S%0] 5t
LIZF EH=Ch >SE SAFFo] §2 2T S5E0{ a messageE &
1 SEE| SAP} 9ot BHCFD &ZI5IX| QtE 2 =OI5HC} that ~
dead= a messageZ CHE L2 Z0{ £ 52 that=O|C} (2wl
Tl 14)

gteE2 250{ ot 02|72t L 21710]| 2lsh Z2{ R0, W 277t Ct

Z LI2t2 O|AIE Z ZI0[947| W20l L 28012t & Soil '2oi&!

L OS2 6712 S0 20| A1, 25 Hoj| 2= 35S T

2 0] U1, 147 T1de| 280{E FoZ it & 217

D5 HH5LEl St EYEQI SHOZ PEFS WICt L= L 2

S0{7t Ol &otH WSt UACHE S SA| LOIRIFICE T2 5

of YTl S BRI UACE LH7F E7 (0| 2z T4 ol FlF

£ D2|sts 2 ZUCE OHS & ofzlo O7i2 e A= 4+ 2lof|

M JAUCE 2 A, Lis Jde| 2E0{: FUCH= HIAIXIE &Rt

Ct Lh= J50| Ado 2 Qlel FUCID HZFstet

Il

separate () mof=Ct, 22[sICH immediately SA|
bang (Ax| L2E) BSIX|Ct surface M, EH
broken heart A4

A0 ol

X

at
S

]

@ mean — means

@ The fact that the ground is wet and there are mud

B SA0(S2 thatE)

puddles means nothing to the dogs.
EEAF
Z0{ The fact?} Tt+-HALO|Z 2 ThE AL meansZt 2OF SHCF.
The fact §/2| that ~ puddlese= The factS L2 Y2 E0{ £ 5
2 that22 4 LX|0l| B3 OIRIX| b= +4010|C} (2ol miet
01-4)
@O 0{ dogs7t SAtaffect?} LIEHLY= ‘Bets == @[] Chefo]
02 $£5El are affected?} & Zd0| MESBICE (=2wo) uE 10)
@ ZF0{ my dogs7} SHALO[HA SAt exciteZ LIEH = SILEA|
St RISl CHYOIZE, p.p. A0IM +SEH SAE BlEE

= BT =85
SAtare7t 2 Z40] HHSILE Blue and Celeste= 4= YX|0f] A&k

O|X|X| Q4= 4A0{(AFT)0ICE excite@t 20| ZIAS LIEFLH

SAC| AL, FO7F AHE LA She FH0|MH sSEY, T

o7t &S =l CHYO|H ~SENE 2Lt (2wio| 1= 112, 01-4)

® Assoon as(~oFAtOFAR 7} 0|11 HO| A[Zte| o|0| & LIELl= £
APEHO|E 2, SHEES 0= 20| Oj2Hof| Yoid Yolzte o2y
AF|7tOfL|2t SATHAIKIZ MOF BHCE th2kA] SXYA || openo| 2
20| MHBICE (2ol mE 09)

® F0{ 17} SAt pickO| LIEtLE= ZHLE &2l
SAHFOIM ZIMAIKO|HA SESEf SAS TH=
20| MESICE (=l me 11-1)

Al R 20| JHE0| chR 2| ARIEEC M di=s 2olct= A

2 YOI = QIS ZI0|Ct o2 S0, LH ZJt B2 AIIES

IS5l B, JHES MEREEC S YSFS Bh=Cf Shof H|7FHE

(o]

A ol Lte| 7H=Q Blue®t Celeste= ¢S 5t 7t A

rir mio

FH0|EZ, be

picking0| 2
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0l 0{T15| ALt Sth= S L= QT L7t StE S @10 e BAt © In short, tourism in today’s world damages nature
0K} 358 P e =7 =l 72 L 9of| 9/ Z0|C} L= EHR0i(RllEohs ARl FH|) A0(HRIAL + HAL) SSE EhrSAF
BE Z7tUE O F412 fIsll 7ICHRCPE 2= 25 &M 23 in many ways.
LIZICE 0| Aol I T 8017t RACh= AFE2 WS 0|7 OFF 01 tourismO| SAt damage?} LIEILE ‘S&sHs &S|
2 of0|7} QICk LH7F AR X FHOIM ZHAZA LS Tt & o] FHO|HM CHEHALO|ZZ, ChSAt0[HM SSEfQ!
oL IiE2 SH0oM & =1 ULt I52 I59| & HEs| damages”} 2t0F Bt} in today’s world= 4= k|0l Paks
£ AE TSI =Lt OIXIX] §b= AI0{(TRIAL + HAFO|CE (el st 01-1,10)
o{%l dash out &8 L7t 35| sttt puddle 80| (2) Traveling to new places is being considered
paw (S29|) g Foj(ufsh= &elol the) +SEY
by many people these days.
16 FE (1) @ are polluted, ® built, © damages by + m2{5t= (o] FA|
(2) Traveling to new places is being considered by 0i7l el 2ge =H0iel SHAM traveling to new
many people these days. placesE 0|2 MOf 8L SHAIL = Ch FZFIER SAt=
84 (1) @ First of all, the air and seas are polluted ~. = SAOIRIA £ SEHR! is being considered 2 B0 A0F 8t
EAROIQUAIF|S Q0| ThAY)  AZEf EAEAL Ct ot 2el 22| F0{(>RI2| ) many people2 byt &t
701 the air and seas’} =4~ F|F5h= A and BO|EHA SA M 8 0| MOF & (etel it 10,02
polluteZt LIEFLIS ‘QOIA|F = siQ|o| CHAIO |2 2 24 A} aiia] QEO U2 AIZIS0| ME2R ROZ ofdist= 22 Dafsty ULk
O|HAM £==ENQI are polluted?} Ok SHCE chorgn 2 7% 2 J2iLt 222 20 O|FX| 40t TiA, f-utot Ho| etz =0| 0]
w, 20| THE 10) & E0l 37|t HICE QYEICE & M2, o 32 SEOo| X|0{X|7]
. lI=o = = = olH2 7|5
® Secondly, as more hotels are built, people destroy W20l AFRFS2 MAOIA 2 OFSEHe P45 & RS dhlst
ZO|(5I= #9lo| Thah) ~=E) Ch J2|0 O[22, ARIS0| O (2 28 AI8SIEE 20| 25
some of the world’s most beautiful places. SHX| QICE QOF5tH, RELo| AIA(of|A 222 0f2] BiHHolA Xt
201 more hotels7} SAf build7} LIEFU= Sl 9]0] chat S FILBICL Btor @27h 22i9] X7t et ROPIS BTt
0|22, beSAt are F0l|A =SEHE BH== p.p Ll built7} < ™, 22J= 03lS I sfioF Stk
OF BIC}. (zwte) njt 11-) oy o

tourism 2t2 2t beneficial 0|22, {2l5t
run short 2&5iCt Ho{Z|Ct in short ok, 7HeHs| 2hah

CHAPTER 04 =T Al2tIHgHE

SHO| [HE1 16  SIMH/0IZHC) LS "EEAL+ SAIIE,OF, 114 U [HE! =5/53|= "EEA} + have pp,2
AOF SHTL. =3 p.64

AR =£2| o0IE 71 ZFAL p.64 4 = have been
1 ®= have arrived sid “‘nci@EA)of 58 =70 i MeRiS0| SEgictete Qo)
N . . s 0|22, ZSAF must Fof 1 Uof| Cheh =&E LIEHH= have
i ‘Peter7t (WAAOl) B EEFIE 2| QiCHEl= 2/0/0|2 &2, ZFAt been(have p.p.)0| QtOf 5L}
cannot FOf| Z}H ol Chst ==& LIEtLHE= have arrived(have
p.p.)7t 2Ok SHCE

aiiA] o m2t0|=9] £Ho| Z0|S0] 2| 27| w20, 1o O[HEMAM

=Y =7 50| i FetRisol s2gitt
3 SH7|= LHQ! CxH5] =] a| xS o
oA 19| HIJY = LHY =A5fs| W20 Peter/t M =2{3E 2] @it of¢] accurate Haist st
ol getin &SIt
2 ZJE happen TYPE 2 JeseilslEelln=p v N p.65
i ‘Dj2fofl LO{EX|E RELFER= 200|222, Z=SAL might Fof o
/024 oi| CHet =FS LIEHHE happen(SAHIE)0] 2t0F BHC 1 BE have taken
3tiAd Egg AFZHE2 DJ2fof] YoiR| = 2 2= 20| nprof Alufof 7|Hte die 'Rs OFE@EA) 242 7HMZHo{0F J=d| oF ZPdRICEt= 2o
I QICkn AzZbsiCt, 0|22, A} should F{0fl 2t Lof| chst £3|E LIEIHE have

taken(have p.p.)0| 2tOF S
a4 Lts @5 ObElol| ZlojlM LIgS m L L4t 7kx{2t0{0F St

o|%] be based on ~0f| 7|8tS FC} ~0f 25iCt

3 FE win

A THS RO L& £ Ckets 20jo|2 2, ZSAF could § 2 BH be
ol B4xH/02H Uo|| ChEt ZES LIEFLI= win(EAFIE)0| QF0F 5L} sl (FXLEDJ2ol) @10 S 558 4= UCrEh= 2|0[0|2 2, REA
sS40 DROF ChAIO| BHAIS| XEES RA|ZI0| HIE5HE, chalo] T2l rfe can Flofl &ixfi/0[2ie] YS LIEHHE= be(SA)7t 24Ok SHCE
= 0|2 3|0 L4845 QICt ofldd CHE 7|50 DFEVIXI R, 910 s3Ik QX 5 S SoiMut 552
2= Tk

ol%] submit HS5iCt on time R|A|ZHol|, &ztoy|
ol¥ acquire &5sicCt

o

ssict
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=HO| HE 17

SH{O| [HE1 18 doSAI UHIEAIE 2E

Mini TEST

use

(EIxiL Dl2lol) S2lo| Xhel2 Hwsir ALgsfof stttats olojo]
92, ZSAF should ol A/012H0] LS LIEIIS use(SAI2IE)
7} 9t} st

2= XIZ R20| AHS TSP ALE3H0F 510 Z12{H DK E ¢
3l 01%is| o 50| 2751 & Zo|ct

resource X2, xHel

ZFE/HIRHR
QtOF St
took

SAtinsisted2] SM0{Z2 MOl that™O| ‘AL 07t Lofytcret= Q|o|
2 0" YO| LOoIGICH= LHEO|2 2, TEAAH| SAf took0| 2F0F &t

2 SARISS 1 AFIIL FEHSOIA Lofty, RFAF D AT
of #4Jo| It FF3CH

witness 2Z{x} take place 0iLtct 7iZ|5HCH
responsible for ~o| #2l0| Q=

be

Q79| o|0|Z 77! SAF demanded?| 2X0{2 A0 that&0| ‘14
©| 0|£0| AfH||ofof StCf2h= 2|0|2 ofE YS sof stit= LHE
0|22, shouldZ 25t SALRIS be7} 2t0F i

Lindas E7FAF HEH| Q= Zd0f| Chell 2
H|=|ojoF SHoH QP RHCE

=7 S TL4<f 0]50] A

demand 2735t remove AM|BICE M5}

Kot
1=

o

When children are young, much of the work teaches them
that they do have some control in their lives.
SLUYA ZE SARIY
doSAt

Of0|S0| ofE W, B2 PS2 IS0 IS59| #oM o= FEol S
Mg gL 7L Uths Ag IS0 ZI=XMECE

control Ex|(), X|6f

loves — love

Samantha does really love the dress that you bought
UZ doSAt SAY

her as a graduation gift.
SAof aHof|A E¢ &

Samantha= HE=2 Py
0j< Eotstct

S5

ABE O 28 A

it

=to| & 16~18

rested — rest

Because the patient’s condition ~ enough, the doctor

advised that he rest for at least another week.
Aot SAL (should) rest

Hoto)

o|0|Z 7}l SAt advised2| X0 2 MOl that&0| ‘Y=l I

=0{F = CHY5H 545 XI2 XN|& HackersBook.com

/83 SAC SHK

4 ’8'.';’ have gone
sil& (2ol 2lcholl 2 4 AUA=C F ZACHEk= 2|0j0|22, could Fof|
LW of st £3|Z LIEIHE have gone(have p.p.)0| 2+0F SHCL
s Karl2 olcholl 2 4 QURUKIB Chal D Role| Fl2g 25|12 2
I
ol¥ pursue £ICE military #2ole|, Zoie| career T2, =i
Z MOl that&MHl= should 7t M2FzEl SAHRIZHO0]
=il p.66
3 FE do
A HM|Qte| o|O|Z 77l SAF recommend?| 2&0{Z MOl that&0| ‘&
7t H BHe AS aiof ety et of0|= o Y 5o Stite LWE
0|22, shouldE AEFet SARS do7t 2tof BiCt.
ofial CHEEO| IISIXE2 FRILX|T 2utstof 37| flsi o 22 Ads
SHOF SHCH #HSHCE
o{¥] government H& global warming x| 2t5}
4 7% remains
& SAf suggestse| 2X0{Z AMQI thatH0| ‘UMIt =2 AXSH A
Effo|CF2t= o|0| 2 O 20| YojttCh= LHEOIZ =, STYA K| SAt
remains”Z} 2F0F S
814 BRfo| SEO| WHE SHAHS N7} OfF5| 2E 2 2475 AlEHRIS Lt
EfAHCE
ol%] wildfire 52, TIjH|2 extremely 2& 2, 25|

[l "do/does/did + SAI2!

3 BE

CE

s

st

|5 O=

faced — face

Copernicus’s theory that the Earth went around the
Sun did face attacks from the Catholic Church.

LZ doSAt BAY
AT7HENY FRIE =tie 2
H|'—JO1| x{m Xlo4sHE }

SIRib
theory 714, 0|2 attack |-t 2H

HEUFAS 7t JHER| walol Y

o

Koalas move as little as possible — and when they do
7}7( dOE)\)'
move, they often look as though they’re in slow motion.

FAete 7hss §F A S2l0| OS0| Y S Wi O0fx| O
255 2 S5 MY =2elrk
=il p.67

4|0{oF BHCFEH= ©J0|2 o 2 8o Fé_ l= Lj20|22 shouldE

AMEkSH EALRI rest7f 2FOF SICE (2wo) ael 17)
Bixtel MEf7t Z&5| LIOK|X| ‘EJSEPI 0], 2fAbs O27F Hol=
U O 4{0{of St SIFHCE



SH{O| [HEI 19 JixE SRS &S
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SB{0| JHEI 20 asif JHREO| SAH= AR AIRIECHSH.F QMM A RIS AFZEHOE BT

be — have been

& The judge said, “Jonathan’s dive at the competition

yesterday may not have been the cleanest, but ~.”
FEZXTEA have p.p.

‘0fX|(2tAH) Jonathane| CrO|O] 7+& ZESIX| L/USK| T ZECK

2h= 2f0jo|2 &, may Foil 27 ofl thgh =S LIEt= have

been(have p.p.)O| 2t0F SHLE. (=wo| mjet 16-1)

HAIRIR2 “0{| &A7[0llA Jonathan2| Cto|HO| 7H ZESIX| o4

ISR|E DX 1242 T4 SISy D 2Rt

=

judge siAReI®, HEk risky 9[Eist

used — use

4 The Germans did really use the proverb, “Morgenstunde

LBZE doSAt  ESARIY
hat Gold im Munde” (The morning hour has gold in its
mouth) with high frequency.

URtEALS| 2|0|E Z=5H= doSAL did7t Aol QoD 2, SAY
useZt 2LOF BHCE (2ol mjet 19)

EURIS2 “Morgenstunde hat Gold im Munde” (OF&! A|Zk2 T
o] ol 2 21 AChEt= SHE Ui giHsH HE MM Z AL

3t

o M

proverb 2 with frequency BltHsH|

o

If you want to be a mathematician, you had better expose
your new ideas to the criticism of others. =4t SA2l®

o

How would you feel if your parents told you tomorrow that
would + SAHIE AL

they plan to move overseas?

oof L glo] 2EHO| sie|= o|Ar Aot &

ol o1gE=7R

cl

Chet 7|

AT

win - have won

If the Soviet Union and USA had not joined together,
had p.p.
Germany would have won the Second World War.
would + have p.p.
2HoF AH|O| E A} 0=0] 74| AR SHR| ATHH, L2 2XF Al
AizolM S2lFtg 2ol

Soviet Union 2H|0|E 912} join &

o

fSiCt Smsict

o

& An employee will be punished if he or she breaks

Of2H AL F7Ao| HAPE HaA

company regulations.

A2 O EE= O47} A FES 078 XS Z0|Ch

SRHALH]

punish MgsiCh g=Ct regulation 73

donated — had donated
as if&H0| 2O A (AFA 2 JX| o4X|2H OFX| BEARILED | 7|2 E
i Zix=0j2t= Q0|2 TP ArME BHCHE JHgs] 21 fles

ity

0| SAHZ0| XLOHOk SHCE

had better(~5t= Z40| B WChiE & THO{E2 O|R0{Zl ZSA0|2E,
Floll SAHRE exposeZt 2 Z40| HEBICE (zwiol mjel 16-2 8| 2otE7))
DHoF efAI0| 8IXPTL |1 AICHH, E4le] 22 OtO|C|01ES CHE

AFZtE9| HIEol| lLEA17|= 20| STt

mathematician 4:8lx} expose L-ZA|7|Ct =2{Uict

visit - have visited
| should have visited the Colosseum and the Pantheon

S35 ZEAt have p.p.
when | was in Italy last year, and now | regret my decision.
ZTHA@A) S2MS HEl2E YEF00F J=0l oF JCrat
= 20[0|2 &, Z&At should F{of] 2pA ol st 23|12 LiEH=
have visited(have p.p.)7} 2F0f SHC}. (2o mEl 16-2)

L= ZHEof| o[Ef2|0t0l| S 1 S2MIS0t EHElRS YEFH0{0F

1, L= X3 Ll 28& 235,

£

Experts insisted that the earthquake caused damage
to the building
Experts insisted that the earthquake caused damage

=% A DA 2EAHOH LYAIZS)
to the building.
TE7HS0| ~2fn FERCYEte KO0|2E, Experts?t FOE,
insisted”t SALE 2t0F 5111, FEStE LHER! thatH0| SX0{Z <t
OF BtCt SAinsisted2| X012 Q1 that&H0| 27H0f| OftH 0| &
Of5tCh= 2|0]0|2 2 thatE2| SAt causes= THAHAIH| caused 2 Ht
TL0{ MO BT} (zeio) miE 17)

TH
2
o

o~
oo

= turned - had turned
sid If you had turned a light toward Mars that day, it
had p.p.
would have reached Mars in 186 seconds.
would + have p.p.
ol SroF O] Od 5H S Bholl 2S HIFACHH, 2712 186% =0 &t
ol =EHFie Zdo|ct
ol¥] Mars st reach Tt5ict 0|2Ct
Y use— used
a4 It would be much more convenient to communicate if
would + SAHIE
the people around the world used only one language.
TAAH|
ot BRoF M MIA|2| AFRFS0| B SHLte| 2101 AFESITHH QAL S5 |
7hEN O Hgt Zdo|ct
= would become — will become
a4 If you don’t clean your computer keyboard, it will become
el SR E R
SARE FHEAL
as dirty as a toilet bowl.
841 Brof eHAl0| ShAO| HBE 7|2 EE HASHK| glom, 1S Hoat
2 C2{9E Aolct
=24 p.69

st

2, had donated(had p.p.)7} 2t0F StC}
Patrick OFX| X|HEol| 2o =& R EExllof] 7|23 M
SR o FEE2 AHO| OFLIUCE

(=
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344 ZH7} Of% Ofi= WBCH O Zsirratis olnje] Al| 12 ks
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8 A= LS HEILHD QUCE W2k SHRAIH] is7F 2 2301 HESICh
=7k oA gEsi Lo, FAlE OFX| 01 0= WiECt & &
o X 2ot

o

as ifE0| oA (AtAle X gx|D+ OFx| &4 2= H|siALRl Zd
X 0[2h= 20|2 Fixf AME BITHE JHFs B0 oDz, i
AlH| wereZ} 2 Z30| HHSICt

| £l 19~20

have - had
If they had thirty minutes of free time, they would take
DHAIH| would + ALY

a break for a while, but actually they are too busy.

ZHo| ZAP} would take(would + SAHIS)0|0, 20HAF ‘HitikA]

A|7f0\ R XHRAIZHO| UCHHO[2H= 2l0|= SRl AFMS BTl
7Hgst = 7P 2 20|22, ifE20l= 2HAH| had7t 2t

FCF (=2o) mhet 19)

S
Bio} 150| 30120| AFRAIZIO| QUCHE FA F4)
s

SIAXIZE Ab

o
ﬁ

=

lived — had lived

Lawrence Brown never visited Spain, but he spoke the
Spanish language as if he had lived there for his entire life.
had p.p.
as ifE0] 22 (A2 K| 2X[2h OFX| DpA0) 32011 Af 224
© x> ol2he 2loj2 zm Mg Biti hEsl B3 oo,
had lived(had p.p.)7} 2+0F
Lawrence Brown2 AQ!
A E0F IR0Y A AP ZdH2

did — does
If the itch does not disappear, you should stop scratching
STHAIH| should + SAHAH

and take the medicine.

WA (O2Holl) 7+ S0l AFRIX|X| 40T ofS B
0|2 HH| 2ol 7Hs40] U= Lol Chish st
2E0| oLt = SEOICE WEkM if o= &

OF SHCE (2wio) et 19)

Blof 71220| AfRtX[X| gom, ghhle 2
of Bic

ofof BHCFate 9|
Qo oz pAzsLl
H*IHI does?} 2t

e I'—I 2

YxD o

il
o
o
mjo

oq 01

=

itch 7t2{g disappear Al2tX|CH

o

Were it not for antibiotics, many people would get
IAAIH| would + EAIE
seriously sick after even routine surgeries.
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heard — had heard
as IR0 24 (A2 J3X| p4XIEh O] 247{0f O}R 3 EX|
23UC ZIKZ0[2H= o|0|2 DA AMAS B2 JFAs B0 o|99
2, had heard(had p.p.)7} 2t0f StC}

Conan A2| 2 Meredith7} CHS 2|7} QLI Tk, T2 I
L O] OF274E EX| 23iH Z4x{2] F|SO0tEX| LQfCt

KA LS A

judge ECHSICH turn FSO0tEC) SCt

ZH™o| ZA} would get(would + SAIE)0|0Y, SA (ERY &
MAZE QXIS SME|TL GICHH AFRIS0] OFE Zdo[crete Qo|2
X AFAE BHCHE 7hel B 7HEY I‘—W EHO|ZE, THAH|
WereZ} & Z40| HAESIC} were it not for= ~0| GICHE0[2H= EE9|
if7t Q= 71 FSIOICE (2o miel 19, 20 &7 2okE7)
STt QICHH, B2 AIRMES dUHERl &2 S0
Zdo|ct.

3Pl oF 2

antibiotic &4ix| routine xRl HEO| surgery $&

followed — had followed

If the workers had followed the instructions in the
had p.p.

employee manual, they would have avoided the security

accident. would + have p.p.

FHo| ZAPLwould have avoided(would + have p.p.)0|0d, 22HA

(Aol XIAIS WRATHHE, AFDE TIFHS Z0|CH2h= 2|0|= BEA At

HS BiHE 71l B= 7MY a{ete 20|12, if 20= had

followed(had p.p.)7| 2FOF St} (2o mhE 19)

Brof 22XHS0| X2 DY Qs XIAIS TRICe O ot Atn

£ "@ls o[tk

instruction X|A|, 8% security 29 ot

the rescue boat had not discovered the people in the
sea, they would have died
Yesterday, if the rescue boat had not discovered the

had p.p.
people in the sea, they would have died. o

would + have p.p.

DO 2 BitHE Jhgsl 27| fisiMe 71EY 1ietz
BHOE MoF FHCE W2ty ifEe] SAts “WHESHK| RICEEH= S
9| had not discovered(had p.p)2 #11, FHO| SAt= ‘FUS A
o|ck2h= =2 would have died(would + have p.p.)& HF20{ MOk
B} (2ol o 19)




01E

Ok TEST

23 p.72

01
03
06
1
16

have released
increases

taste

®

m
()]

have watched

04 had thought
07 08 O 09 traveled 10 O
12 © 13 6 14 @ 15 @

@ humiliated = humiliate, ® see — have seen
If I had been more careful, | could have avoided embarrassment.

02
05  were

keep

01

02

03

04

05

BE

oi&

have released
The pop singer could have released more albums, ~.

= XSA have p.p.
@iol) of g2 Srg wo
1

could F{oflAf 27

p.p)7t 2fof SiCh (=
ag 7%“ O o2 Ses Lofg o QUK thidl S

QA0 A

release 2ofistCt industry 47, Ated

have watched
If the TV in our apartment had not broken, we would

had p.p.

have watched the soccer game at home last night.

would + have p.p.

if22] SAFZE had not broken(had p.p.)0|0d, 2244 (TFAofl) TVt
0 LR e5ACtH, 571 47|18 SFE Zo|chek= Q0|= If Abd
S B2 Jhdel B 71 1ete 220|122, FH0l= would
|of| have watched(have p.p.)7} 2FOF SICE (=sto] misi 19)
orof 22| OIItEO| U= TVIH D LIX| §4QfCHH, 22|= o131l
oM S5 712 &2 AoIC

SJOHAF ¢

increases

In his book on management, Elton Mayo suggests that
HIoH SAL

having many different cultures in a community greatly

CHEZFOI(B YA FAIO{(FR|AL + HAL
increases conflicts.
CreSA

SA}suggests2] 2X0{2 AQ1 that=0| 2o4A OfH 22 3{0F St

= Q0|7 oL #S S B7IAIZICI2H= 2|0|= 0 20| YOj LTt

= 20|28, tHEZF0{(SHAL) having many different cultures

& UX[ShE Tr-SAt increases7t 2HOF BHCE (2l miE 17, 02)

o| Z0f| M, Elton Mayo= &t 25| LHO|IA 2He Chek

A2 ZEE 3 BIAZICH= Ag AT

N = A=

), Xl AbEl

of 2kst

er
2t
=

ooy 2T

Mo 09
rr IJ r

£
St Z45s

management 2%, 28 community =
conflict Z5, izl

had thought

| wish | had thought about my decision longer before
had p.p.

| quit my job last month.

I wish 70l 22 TAXIEN O O 22 2 FAACHA el

2t= ol0|2 2ol US Btz JHgsE= LIE0] 0]ofX|1 Qe

B2, had thought(had p.p.)7} 2F0F SIC} (=2te) mjel 20 | Zot=7))

L7t X|HEoll 2 Ogte7| ol L ZFol| chsl o 22H 4213t

L Z5 Hidl.

H =22 E
s=

quit J9t=CH

were

& They look as if they were twin sisters, but in fact they

aren’t even related. A

as

06

07

08

09

10

if&o|

ol

ey

iy

sl

SO (e TR XIS O #X WSol Xiojel 2
X{20|2t= 2lo|2 S AMAIS B2 ZpEs 21 Qo2 1
AlH| wereZ} @tOF BHCE (=wio) ajel 20)
52 OR[ 4S0| Xofe! Zaxz
OfL|Cf,

HOIX|2h At OS2 I A

tasted — taste

~ the chef recommended that we taste a small piece
first. Hok SAt (should) taste

H|etel o|0|Z 7l SAF recommended?| SX0{E M0 that=0|
24 gtotof sicket= o|0|2 ofE Y2 sHof sich= Lhgol=2
2 shouldZ M2kst SALRIS tasteZ| 20k SHCE (=wio) miet 17)

1 SA10| DHR OHRI7| T20), T Q2|A= Xt RZHHE| 0K gte
ofof iCtm HISHC

have kept — keep

~, you should keep asking yourself what the author’s main
should SAIRE

idea is.

(HATHLF Of2Hofl) AA 01|17 Al S0{=0F StCFEl= 2ojo|2 &2, &

At should Foll &xfj/0jeie] LS LiEte SAHRIE keepO| o

OF BtC} should have kept asking2 “20{£t0{0} =0 2 FHCF2}
= SJ0|2 1 AHHol| et 3|5 LIERHE 2 MESHK| 4Lt (2
o| ujied 16-2)

Y2 S el= S 2Vl QX7F RAURIXIE AAZA AL 2
O{=tof hCt

o

~, arts education does solve problems.

BaR0 2 doSAl BRI

QUHZ=ALS| SAMRIE solve 20|l 0|12 AXSH= doSAPE 8
Qlond, o|m 0] arts educationO| £H4=Z0{0|HA| 2E0| 2t
Ol Atalof| cHst LHE O 2 SARAIMIO|2 2 does?t 2 20| HHsiCt
(22| & 18)

Olz2 EXES shidstkls &X|ot 22|17t US| EXE 2|46t
7| giet ghoHo], ol 2 ENES HY sHZSIC,

aware of ~2 oJAlsH=, 2 existence &xf

travel - traveled
If spaceships traveled faster than the speed of light,
TAAH|

we could visit other solar systems.

could + SALRIE
ZHo| ZAP} could visit(could + SAMIE)0[0, 2 (Rlo| &
THCHWEX] 9X|2H SZEMO| Yol £ KL} W2H) 0|SEHC
o'0l2t= o|0|2 SR AFAIS B Z2 71ASH B 7HEE abA Er
0|22, ifH0ll= TPHA|K| SAL traveled?| 2F0F SHCE (=20 mjE 19
piof 92 Mo| Ylo| A5 I} Cf W2 0|SBIIH, 22|= [12 EH

WSS weE 4 U 20lch

=] DH)\I- (l:l| ES

travel 0|SsliCH 0f845tCH solar system EfE|

(@)

~ the ancestor of Neanderthals, living about 400,000
years ago, may have used pretty complex language.

FZ ZZAM have p.p.
(Aol B SRl C101E AHERISX| = BECHEH= o[0j0|22
Z S Ak may o 2t of chst =S LIEHHE have used(have
p.p)7t & Z40| HHSIC} (=uio| niE 16-1)

E410] F74= o 409 A 70| ARIE HotE|2EtIS 0| Zy0|
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ANE MERMER = ZELHE AS AAfRITE
A

ancestor =4 pretty 7, 049 complex 280l 27t5t

® hated - have been - have forgiven
(A) However, if | hated a person, | would forgive him as
TEAALH would + SAFIY
soon as possible.
=Ho| SAPt would forgive(would + SALRIE)0|0, 2l Al
(AF2f2 DIRISHR] 94XI2h Bt AfZtS OjsttiE ozl on|2
34XH AHES BIHZ Thgsl B= Péi‘é* A 202, ifHo
IHAIH| SAF hated?Z| 2HOF BHCE (2tHo] mhE 19)

0

-

:

(B) He must have been stressed, too.
ZEZAL have p.p.

o) O AEAS HQF
2, ZEA must Fof| 2P L
been(have p.p.)0| 2t0f SICt (2o myed 16-

glgicyete Qojo|=
=g LIEtHE have
1

(C) I should have forgiven him sooner.

53| ZEAL have p.p.
(TAHol) o el A{FH0{0F JHX|et O-X| R3Cl2h= 2|0]o]
8 &, Z&Ashould Foi| 2k7 Loi| CHgt £3|Z LIEIL= have
forgiven(have p.p.)0| 2t0F SHC} (2uio) uE 16-2)
Lt OFRI O|9{SHK| o4=Cf SFX|SH BHoF L7 5 AMRIS O|QIBHTt
™, Lh= 7tstt sh e 25 M Z0ICt Lie S27HE Olfiste
A2 0 272 2XE U S0l 2 Al ¥ Tt 2ot 2ihe
A oz U =[QIcE 2 F Mo, L= SEt 2 428 1

|

OB OIYCE LHs T8 2 jofc), 0f AEAS wolCE TE &
A S 919420| SRIRLCE 2=, 19 HE ol L2i= N2E 84

EE"—E = A = O HA Ij XO
i20, 71 0|22 L= 0139 #ahE JUCE Lis 25 O 2| M3
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RA- —

0f0f ZC.

weight (£12) &, 27 eventually Z=, 0pE/LY

@® make - have been - put
(A) This movement does certainly make the child feel

much heavier., 2% doS/f St
et Ae| 2|0|2 BZ5He doSAt does7t Y0l Y222, 04

This movementZ} Et2=Z=0{0|H2tE SAFRIE makeZ| 2F0F 5+

C}. (2ol mie 18)
(B) Nearly half of serious car accident injuries to young

children in recent years could have been prevented
could + have p.p.
if child safety seats had been used.
had p.p.
if22| SAI7} had been(had p.p)O|0q, EH& (@AHOH| AL =[]
SLRAXIT 0f210]8 QHX A|ET} ALBE|RCIH0|2h= 2|0|=Z 1t
H A S BHHE TPYe 22 7HEY nfets BEolnE, £
o =5 At could FOll= have been(have p.p.)0| 2t0F SHC} (2w
©| IjEd 19)
(C) That is why the government urges that everyone put
Q1 SA (should) put
young children and babies in child safety seats.
E_DL:‘.LO| o|[||% 7|.7:| EM. urgeso| Ex—lo-|§ MO| that’“Ol
‘0{210|8 oK A|E0]| 9fs{0F Stbak= oln|2 o As 5o
Ch= LHEO|2 2 shouldS M2tst SAHR putO| 2FOF SHLCF,
o IiE 17)
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oo oz

L2 0f210|Z o A|EE AL85tE 2 Lo i%oﬂﬁ Of0|E ¢t
AUS o AT W2ISR| = BECL SR 7 U | Y3, 0t
o F2 L gut g ez oItk OIEﬁ Y2 =3
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1 £715H= OIROICE w2tAM, g1l 7HE S0of 007t QUCHH, X5

HIZ 7hA 0{210[8 2B A|ES Foffst2t
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rather than ~ cjAlof|, ~&CH= certainly 45| 2H3]|

injury 24 prevent ojjgtstct ot
® goes— go
® When its color does eventually go back to normal, ~.
2% doSAt SARIY
btz Ate| o|0|E ZZoh= doEAL does?t 20l YIS B2 04
its colorZ} EH=3=0{0|{2t e, SAHYY goZt 2H0F I (2uie| of
£ 18)

@ Z=0] the color7} SAF mimicO| LIEILI= ‘BEsH= s|Q| CHAL
0|2 2 beSAl FlOIIM ~SEH SAHS BtE= mimicked7t 2 A
0| MASsICt of ~ surroundmgs: Z=0{2F SAF ALO[0]] 2 44|01
(HAFOICE (2o] afet 1-1)

@ (St of2Hol) im LIEH OfgH| Het & Qlgnbete <ojo|=
£, ZSAt might FloflA &ixH/0[2H Yoi| cist =52 LiEt=
change(SAFHE)7E & 20| MESICE o|2AF howE A|ESt=
O|2 20|22 REA} might?} =01 its color 2H0l| LT} (2ol

E116-1)

® Z0q the chanceZl EH4FAO|E 2 ChZAt is7h 2 Zd0| HE
SICE to see one 4= UR|0f| YES OIX|X| o= 240{(toFH

AFMOICE (el mE 01-2)

@ had better(~5H= 20| O ShE & THO{2 0|R0{Z ZEALO]|
82, Fof| SAMIE moveZt 2 20| HHSICE (2wo) mel 16 2
EES)
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@ found — had found

@ In contrast, if his owner had found the jewel, she
would have been so happy. hadp.p.
would + have p.p.
Z=Ho| A} would have been(would + have p.p.)0|04, 2aHAH
(A2 =Ql0] E7ASHR| §EQAX|TH 19| 0l0| LHBMCIH 0|2t
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EhafLiol Sa4 HYELE O 71X|7H Mot O 28t 8
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Tl oj2 7S 2ol Y=
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dig into ~& *faﬂﬂq sigh Stas 4+ completely =35,
grain (F42))
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@ were - was
@ The only way that he could protect his father’s
ChZ0 FA0{(EAE)
emotions was to choose hope over despair.
A
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accidentally @¥xoz 2510
out of one’s mind xﬂxﬂ |otcl grief &%, H|gt
pursue

T?oH politician Xx|9I economist Zx|&tx}

(1) @ humiliated — humiliate, ® see — have seen
(2) If I had been more careful, | could have avoided
embarrassment.

(1) @ Yesterday, | had an experience which did terribly
humiliate me. YZ doSAt
SAY
QHHEALS| O|0|2 ZtRst= doEAt did7t 2ol Qle=2 1t
ZAAIA| humiliated?} OfL|2} SAFAE humiliate?} 2FOF $F
C}. (zeio| mje 18)

® My boyfriend must have seen me fall.

=E X

F&E XSA havep.p.
(Aol 37t gr30| ERIQICF 2= 2ln|o|22, ZSA must
Fofl Tk Lof| st =S LIEHLAE= have seen(have p.p.)0|
QLOF BHIC} (=o| lEl 16-

| could have avoided
could + have p.p.

(@) If | had been more careful,
had p.p.
embarrassment.
(TFAHO|| ZRAEER] LURITH T ZARUCHH, T 4 JUUCFEH=
olojz 1fH AHHE BitiE 7hESh= LEOIEE, 71 A
etz 2RO Z Mof ST 2t ifE2| SAH= had been(had
p.p)RE M1 FHO| A= could have avoided(could + have
p.p.) & HEO{ AOf ST (2uto) mjei 19)
OfA|, Li= LioflAl SAl HIIE HE Z™S 3Ch 02 HelAltol
UL 22| et A2 X[5tof AU | WZof, B2 sHS0| A
2 % UM 7|Ct2| 10 QUAUCE L7 LR F AT ofziof
L ERIEITE LS o L AT Zoi7 (ol JAUCE 2= T2 7
TS3H0|0F7|Z ot AJYLCE Lh= TE H7| 2l L 52 27|
T L7 ofC| QU=X] SlofHE| 0 Fe 2 we LHTISICE 2R, Lt
= ALt ofei 2 Z2{EOIF L, BEIHLEE TR UACH L &1t
20| 412 YUCk W EREITE U7t Eofxls 2 #S0| 52

ol
M

= HA
SiCt Brof LIVE O YT, FulE we 4 AAS AOIC,

humiliate Z1|Z z=C} cafeteria Alg}, FLjAIZ
basement x5} tumble Z22{H0{X|C} injure AXE Q5|Ct
embarrassment &H|, &2t

= = o o -
SHO| IHE 21  SAMRIZIOI= SADE BAVESAHEALKIZI0IE ZSAI A0S 23p.78
SALXI2 p.78 2 ZFE saving
si& For many people, saving enough money for retirement
ended FolE@Ah S AIOIEIIAL + AT
During the first half century of the sport, baseball games, is a challenge in modern society.
=0f M
like the traditional workday, ended when the sun set. sa ore )\l_a.-:()”}” oEl% |3} %gg; =2 noL 48 34EH A|'9—|0“
SAO|(RIAL + HALD) EN ;I CHRjOC
O AZXOIXF BM7| St Ok Z7|=, X 22U, of - L » L
k=3 3 ~
I} x|3H 20| ek olg] retirement 2&| challenge x|, =&
workday 222 22 Azt set (sf, 20|) X|C} 3 H attracts
142 The movie theater, which is on Main Street, attracts

0]
a lot of visitors.

FAOI@AE) SAF
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S| 7|52 XA U= AMEES BiESHE A0[2f ZOTICE
Al
Al

oy attract ZojzorCt olg] function 7|5 knowledgeable X|4| 9/= o= Z{0| k2
4 Y cut 6 ¥ prospered
a2 When you read the comics section of the newspaper, di& Poor weather in August was beneficial for certain
cut out a cartoon that makes you laugh. . ) ) ) At
HzZo| EAIE butterflies which prospered as their enemies decreased
N o sio oo o ool L pielm T ACHHAL  SAF
did ghlo] MZel BElRts g o, Yilg =7l st TEtE 2 in number.
L
fet 8141 sEe] LI il DS HXS0| 4RO 2 AR TR0
ol# section (Al2o)) L, 22 A5t A5 LIS O|2iCE
kel ici < ool in 2=o9] [ic]
5 HZ dealt ol¥] beneficial 0|22, f2lst certain L8O 0t
) . ) . prosper #1dsiC}, HYsICH enemy A, =
ai& It is true that the questions from the interview dealt
=of SAUERAL+ WAL AL
with very personal issues. WGE] FHEO/BA SA YBAATQ SHe ZFALKR] p.80

st 1 QIERe| HES0| iR ZHelxel EMES T

i

= 232 AHHoICE
1 FE focus

Sl=4 . . .
6 7FE tomake si4 Parents even buy books or videos which focus on toilet
s~ Some stores put pleasant scents in the air to make A FH 2ACIEAL SA
E =Ab 2A10{(to 5P RAD training for their children.
customers comfortable. 84 2RSS 150|005 st MX|0f stard S| £HS IE A

si4 ofF 4HSES 1S Bersl BSY| 2is) 27| B0 72 B2 ¥ OlLtHIC|QE TelEiC

7|& st T xS obx =5
ol¥l focus on ~0ff ZFg QHELC, ~off FEsHCt

ol%l pleasant 7|2 £ %5t scent g7|
2 ZJE falling

N si& ~, there are some leaves falling from the trees.
W] ZOl/=01/(FIXIAL]) SEof: BAH S SH= EFALAR p.79 - T hiea oAt on
i sl 7te GM7E €917 20, LERO|IA HOo{X|= LIRIS0]| QICt
1 BE expanding » si4 72 7t EI907| T2, LiSollA EoiX|E LIRYS0] ict
FX|A ko] =]
i = . now that ~0(7| tj2
o4 We often choose friends as a way of expanding our o Izl
SAk TR|ALS] ZXO|(SHAD e
sense of identity beyond our families. 3 %¥E toencourage
M Qo= EE JIES HojM Q2/0] MA|HS statsts gigog 217 si& In the early 1990s, ~, and it did seem to encourage
= Mefsict environmental innovation.  +° SA FAD0(0RFA
oY identity &H|(&), 412 beyond ~= Ho{A, ~of HQ| HpZof| oil& 19900 =0, L= 29||0]= EIAMIE EI D, T2 YUY shEF0l
SIS Yot Aoz BIICt
2 BE exercising ol introduce =@/5iCt carbon tax Ef4A| innovation &4l
84 Sometimes, exercising enough is hard because people
OIS BAD SAb 4 %E tofind
are too tired after work. sll4 Food labels are a good way to find the information ~.
did mE, AlRE2 25 20| R nZ2sh| j20] S22 252 o SAb YA YAF A toR AL
= X0l elstt diAl AIE ape erI0] Bl Al CHE HEE S F2 WOl
3 JE seem 5 HCHostir
si& The vases which scientists found in Egypt seem at & Gradually stir the eggs into the cake mix ~.
EXY| A0(2AR) SAH oEio| EALSIE
least 10,000 years old.
Y si4] 03 2|AT} 2] 414E Gfx| 1 2lao] L2 HoI MA3| X

st RfSfAHS0[ O|HEN|M LHH RYS2 Hoj: ot A2 & 2ix
 2olct

oj¥ at least Moi¢

of2t

o{%] gradually MA5|, EF stir At mix g4, &8t 7tF pour £t

6 FE injured

4 FY toget T A CHYAL
341 However, the lack of time for relaxation makes it more éii2 To help the recovery of patients who are badly injured, ~.
e e EAF JI2EO MEAL SA ZZ{EH0{(2Ah
difficult to get the most out of your studies. = == o
SRAL0| AN 20|02 HAD oAl Aot 24 ISt SitE2| 152 &7| /oM, D el E+RE
841 TI2{L, FAIZ Slst AlZIo| HE0| ShAl0] BRE FsioR BRs E Hissi
= 28 O oA otk ol recovery 3=
oy lack 2% relaxation 4!
get the most out of ~2 z[cfsto = &85ict N (30N TALOIQ| EALY EF MM| AL HALHE S St= EFAFXIZ] p.80
5 %E toproduce 1 %Y gazing
ohiad It is often believed that the function of school § sia @ Lm for a time in front of the firep|ace’ gazing at the
to produce knowledgeable people. =0 SAF Z0| SAf SAFTLE0| EAH~5HEIA])
ZZHO|(to 2 A} warm fire.

28 o MEHZ =0iF & st st Xt2 MS HackersBook.com
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Mini TEST =x

oii&

T [MfESst 2 SAISHHA 2iLtZ otof| A QT

for a time ZA|, &27t fireplace gi-t2 gaze at ~2 SA|5IC}

we r
Nol@AE)  sA
i

AN
=
eI ARG HPISS IS5 T2 5| YK SORXLCE

to lower

We’ve done everything we can to lower costs ~.
SAb SAL 2] o FHAN~S7| fI3lA)

2l BES sAIX| 2f1 HI8S HFJ| 2l et = U= 2

lower %ZC} Eo|ct quality &2

E A
g4

to break

Bad habits, ~, are extremely hard to break.
SAt YBAL FBAL A toR AN~ |0

of m§d 21

walk — walking = to walk

~, walking [to walk] became easier for her every day.
F0{(SYAH oS HAD SAH

EUY H= A2 O #IACFER= 207t == 20| XA R,

Foll SAt becameO| [z QT Ettﬂw AL S 6101 01 X2

o 2 = = SHAF walking == to &AL to walkZ} 2F0F SHCF

n

Jenny2| E2{ZI Ct|7t Gt7| AR
O 2 FCt

heal Stct, x| Q5CH

folEA, Ze 22 aH0l7 Lot

arguing — argues
Judith Harris, who is a psychologist, argues that three

=0f AO|(2AH) SAH
main forces shape our development.

S At argues2| SEO{(FAIR)

2UY Judith Harrise= FEBICIER= 2J07F &= 20| XA
RN, SAVH M2 QB E SAL argues?t 2t0F Btk who ~
psychologiste= =01 Judith Harris2 £=A15H= £=A10{(2A4|1)0|0q
that ~ development= SA}F argues| 2X0{ &S sh= HALE
OICt (ol aed 21-1)
le[atxtel Judith Harrise= Al 7EX(2] =231 3l0] 22[9| Zeto)
NS BHEChn EsicH

o2

psychologist l2|stx} force &l
shape ~°| SE|E QS SAIGH

express — expressing

“Monumental” is a word that comes very close to
to(MXIAD

expressing the basic characteristic of Egyptian art.

HX|Ar] ZX{0{(SHAD

‘come close to= ~0 Z&5ICH= 22| EHOZ, 0|l to= TX|ALO]

Cf T2k SAFE expressZt OL|2}, HAF kS 5101 TX|ANL| =

0| Xt2[0]| 2 4= A= SHA expressing0| AOF I (2wio] nei 21-2)

T2 O|FE D=2l 7|22 EZE Hdish= ol o 2 &6t

£rofo|ct

monumental {5t characteristic £&

e

ey

2| 2RV LTI, LI S2HE2 10X|7| i oL,

extremely 04, X|L}x||

Compared

Compared to the old model, the new smartphone is
EAREC| EAH~5HH) =0 SAt

much lighter and faster.
O™ Eof HwsHH, ME22 ADEES

=P I =luy

received

A study of the 1974 Canadian elections found that

attractive candidates received more votes ~.
=0 =4

19749| FHLITH M7A0f CHS o17= o2 ={el 2 HS0] Of24={0|X|
S FHELC O B2 BE WOITH: 2 Yot
election 47| attractive 0j2{=9l candidate &2
=il p.81
()
One exercise in teamwork | do on company trips is
=0 SAt

to put eight people in a circle.
FALH0{(to R HAD

A ST EE&2 8O AIRES | ool E=
0|7t == 20| AFAAR R0, 20| SAtis7t M2 QUC M2t =2
HO{ X2[of| & =~ UEE HEA AL S ot= toRFAF to putOI 2
Zd0] HHASICE in teamwork(FX[AF + HARNRE | ~ trips(EAHE) =

C} 201 One exerciseE £=AI5t= £=A10{0|C}. (2o afE 21-3)
S|AF Of4of| M L7 It ©S3HAM ot
2 ¢ etof] €= Zo|ck

Zo|eretE 2
8

S| 252 82 At E

making » make

U PEA 2228 HES 250] 7IHCt Refets
201 20| XIIARIC. YRS Z0f youZ H2totn SAIABOR
AIZFSIE 2 makeZt 20F SHCE (2o mhet 21-1)

3 o £B3US 0FRRA 50| gi| R0, 27| o BrEA| 223
S HAsH 20| 7H4Ct F2t

temperature 2= tasteless Ot221 5H0| gi=

SUNEE

it was a taboo to store reindeer and seal meat

For the Inuit, it was a taboo to store reindeer and seal
pE] 17} Z0{(to AL )

meat together.

7t=01 it Floi T F02 2+ A= A

YALOIEL T2tA] SAL storeE M shs

of X2lofl 2 & U=

| & 21-2)

taboo 27|Atat
seal 274

store X{&tsict 27|61CH reindeer At

ol
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DGR SHALHOEFALS SILID 202 #3=5At  p.82
1 %FE moving
diZ consider= SYAE SH0I2 FSk= SA0|2E moving0d| 2tof
SiCt
didl XS0, 352 ZE2 F0l|l 0|52 o|Fot= Ag 123X|et Os
2 J59| 0t3& vHELt
2 %Y tofind
i need= toRHAIE SEOUZE FsteE SAO|EZ to find7h 2t0f
shch
ofial ghlo] Z|dmp ptistod, A2 OfCiollM ek 4 U A0S Y A
QIX|ol| Cist HEE Zrotof St
3 ZJE talking
i stop2 SHAIE SH0I=Z F|ot= SAI0|ZE talking0| 2t0f BHCL
stoo Flol= toRZAPE S 2 UX(E O|uf= ~5t7| fial (5HE &
) HELFet= 0|22 to talk/f Q& 742 SoA MASHK| Q4T
8141 Danats 20| AR G5t A|EFH S0joF HQ Ust= Zig HE
oict
ACE
4 Y tolive
814 chooses toREHAIS 2X0{2 F|5t= SAO|E R to liveZ| 2F0f 5+
Cf
ol & QEFEFZAIL, B2 AFRS2 04%is| Helo|M 1 =2 F &5t= Ag
MEdSICE,
ol unfortunately QtEIZA =, E3t5|= beg 7A5tC ZHE5ICt
= -
SHO| IHE 23 =X01 SHALNOI MH L S
DGCAN SXot SMAHOI LIEHNS WO ZHUD  p.84
1 %E tohave
i allows toRHAE SXMAHOE F[5t= SAIO|ZE to havelt <t
OF SiCt
sl O CHs|ES2 12| sHME0| £5t8 SRsk= 8¢t £ £ | aiE
QACE
o{%] have fun Z7|c}, ZHL A|7+S HLHCH
2 % read
SH& haves SAIHYEE SHAHOZ Fot= AFYSAI0|E 2 read?t 2F
OF §HCh
s 0 ASS e Hol 3 19| BE B S0| 3 chEg oAl Bt
ol¥] script cf2 filming £
3 7JE appealing
14 finde SIXHEAIE 2 HO{Z F|5}= SAIO|2 2 appealing0| 2+
OF §tCh
ali2l o™ ZAS0|| chelf 2E Z30| Yekskx| fo™, 22|= JZS0| I of
2x{0|2tn MZtst= Asko| QlCt
of%] tend to ~st= Z&0| QICt appeal ofj2{mo|ct SAsICH
30 Y¥oi =8 =0{F = CrY$h H5 Xt= XIS HackersBook.com

SH{0| [El 22 =AM [I2tCIE ESADIEHNZE

QOF I, =2 p 82
SBALHOSHAE CHEHol2 35t BAl p.83

1 3=

sii&

st

ks

ol

Sk

AHOHI CH2ECF

shia

s

to feel — feeling
A (@EAol|) SrEol ZRE AS T |Stf et 20Tt El= A
O] XpAAZ- T, remember FO| A ‘(@A) ~6t S 7|dsiClEt=
ol0|7} 2= 2 SYHALO|2 2 feeling0| Z2X{0{Z 2tof St}

Lt ZHEof shelofl M S5t
SHX|2H A2 £2 Z-o(QICt

11 0loi=

AUAUS o ol 2R HS 7Y

Sl

feel homesick akof| Z2|ct
(o]
begin2 SE0{Z2 SHAIR toRTHALE 25 F|& 4= @11, 0|uif 2|0]

xto|7} gie o2, SHA} smashing0| & Z40| ME5IC]
CEISIAORRL, A = HO| SA| 27| 2 28 27| AZEICH

smash 24} Bt LHCH ax 77|

telling — to tell

232 (Of2hol) o|ZiE Lot =lof RZo|crets 207t Elie
KAAZD, regret F{0f|lA] ‘(T2Hol]) ~5H| [0 FZOICI2H=
7t El= A2 toB™EAIO|2 2 to tell0] 2X0{2 2F0f SHCf:
L= Elol7 0]2ig sh| =lof RZ0lX|gt,
=S FlAsHoF St

20
olo|

e e EE

(@)
prefere SX0{2 SHAIR toRTALE 25 F&
XAt to beZt 2 Zd0| ™5t

Hattol 55 HHs B siLiel L0252 150]7|2E 20/ 0l
o= g2z AS MSsitt

ethnic Z=9| pixo| cattle &

E ZSAVISHEEHNHZ QI0kSH).  ==p.83
wake

help= toR2ZAIE SHZAHOZ F|SHX|TH Ol toE A2F5t SAF
HS ZHALOZ 3T 45 = SA0|22 waI<e7|‘ QfOF SHCt.
2 HE Me As 5= & tel AHuUE otA| AX|2 FHH|210]
ilo] Aol siE7| WEo 2S XpMIEL7R?

avoid XpH|StC m|SHCt

try

watchs SAFRIYE SXZHHO0ZE F|ot= XIZSA0|2 2 try7t o
oF BiC}

Lh= XSO QU= & HAPFERI0IM W20 Ao Hulist
= NS BTt

to work

aske= toRHAIE 2MZAE0|Z F[5HE SA0|E2 2 to workZ} 20

s
2IYFol= B Ao 0[0[X|E Olali517| sl
ofl& Alolok

impressionism QIAz=9| imagery 0|0]X],

= 978t ot

[y



(V) SXOIJFSHALHOILIEHN = A2 CHA I p.84 ol¥ variety CIFA, 10|

1 ZHE torepair — repaired 3 BE O
S SAt wantol 2701 it(The heating system)0| S ZAH0] repair’} i ZAtlete] SX0q their childrenO| S £0] playZt LIEILE ‘==
LIEfLE 2lote’ HPl9| tHYO|ZE BHEA} repaired?t 2tOF sHQ|o| Z=H|0|0f, SAt et SAIAEHS BHHAHOZ F5t= SALO|
STt B2 play7t 2 20| MHs|Ct
ol & AFRAO| L A[ARIO| ZHEotX| 921 91, ZlplS2 J10| HiZ & oil SHMERAOIM, 22108 & 782 HHZ 32| 0t0|S0| &tz
2|=[7|E Hstoh B2 7|10 A FX| 4740k URCE
ol work Ztssict right away HIZ, ZA| .
4 7ZE speaking — spoken
2 7Y eaten— to eat Sie SAtheare] 2% 04 them(Native American languages)0| 2XAH
14 20f people0| BX(2{0f earo] LIEILHS 2= #ele] Zx{oln, Of speak] LSS k= S9IS] HEOIS.2 SpAAf spoken
ZAL lead= toBHAIE 2XZH0|Z F{5ts SAI0[22 to eat0] Of 2tof tCf.
QLOf Bt oil& B2 ofm2|7F 21521 21015 0] AlZEX| 12 QIO01M, @F TJZIS0] 2l
s S0 O 2 CIF2 ARHS0| J20F s WLt O 30| HEs A= RS EE A2 =8N

OlZC,

Mini TEST el ozt 2223 =% p.85

1 ¥ O 0|2l robbery ZE A, ZE
&4 The smell of vanilla helps people relax.
SAthelp) SX0f SXZ{B0{(SAHE) 4 73E toleave - leave
ZX0{ people0| SHAL0] relax?} LIEtLE 71&S F= 22| 54 The manager of the apartment building made everyone
ZH|0|04, help= toBHALSE SXZAEH02 FI5HK(2t toE Mafstn leave because of the fire. SAHmake) =ZX0]
SARYEOE £ 2k s SA0|I2E, SR A0 Xf2lof SAHE EREEENEE))
relax7t & Z30| MESICE (2wel mel 23-) =701 everyoneO| EMAH0] leaveZ} LIEI= TLE= 9|9 =
afia] Higete] &2 AFRE0| 71Ee EEE S=Ct o[, make= EAP d2 SHARNE otz AMASA0|12E,
of#l relax 21zg EC}, #AS Fsict leave7} SHOF BIL, (ztel met 239

s 1 ofIE ZiZo| phalQ 8§+xH 20l DE AFRISO| [LbE 2 Ot
2 7%E toreport— reporting

<=4 i i
si& “l can remember reporting Simba’s birth like it was 5 BE tolie~lying

EAHremember) SHO{(SHAN s&  ~, and stop lying to yourself about what is going on.
esterday,” said a zookeeper after the lion died. SAHstop) 2HO(SHAD

Y/ Y,
U @l AHH A2 7|°*5FEF t= 207t =l= 20| XpeiA stop2 SHAIE SE0|ZE F|otk= SAIO|ZE lying0| 2t0f SHCF
1, remember F0IlA ‘(@A) ~8t 24 7| H5tCrek= o)t & stop Floll= toRHAP} 2 £ QIX|2t ofihi= ~5t7] fsh (atet &
= A2 SYAO|2Z reportingO| QPOF S} (o) njt 22-2) 8) YFLieh= 0|22 BUY XHSIX| 9Tt (2wo| ue 22-)

aii4 "X Simba2| Bl LT Z4S OFX| T210] oMU 24K 7| aidl @& RE HHES EUY|E sk, 2& 20| Yojuta U=X|of of
2 2= A0IQ U T AP =2 & SEY ASAPEEIICH Sif XRAlOf 7 ARZE Sh= e "HEL

ol zookeeper S22l ALSAL o{%] excuse gy

3 FE O 6 7%= When people want their problem solved

&4 The Ministry of Culture and Tourism advises all tourists si& When people want their problem solved, a question
to travel in groups ~. Sht(advise) 0] _ SAHwant) =x0f ERAL|(IHEAD
SRAL0(toEHAD like “What'’s the problem?” is important.
2X0] all tourists?t 2 Z{E0{ travel0| LIEILI= ‘0faliH=" sH9) Uy TS| EH7t siZ=ICHet= Qo)7L £l= 20| XfiA e
o] Z=H|0|H, advise’= toRHAIE EXALHZ £[51= SAI0|DZ, 82, their problem0| 2X0{Z, solveZt 2XZH0{Z 2}0F GtCt
to travelO| 2 Z10| AT (2o el 23-) 5701 their problemO] SHZE0] solve?} LIEfLE= SHZ3HE

B4 2|20l 2= Afrie] 70t I w0l Sstatas s BE EIRISOISS SONES SSRGS SRFC MOk S e

Far
o7 EHHIZ of3tols g HmBHCE e )

SH{O| [HE 24 =2A1| OI0IAL 017 HEAD HLIEHH= SHQIO| Z=HIZH SITHEAE [HAIO IR THHEAD FIOFSITE =21 p.86

TYPE 1 EIV=ESNCTN p.86 DI} tossed7+ 9FOF FHCE
aiial 2ol HAME LT 2242 Jf2teh= thal =0t

1 %E tossed
ol A 8= HAwood7t toss7t LIEHE ‘BIX|= 42[o| Chao|2 2

L2
1o

toss ©x|ct float ccCt  sink 7t2tetot
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Mwith + (CH)BAF+ 2 A0l AL

1 BE

sii&

ok
St
1z

L2
1

OF
=
%

locked
2l 8= HAL doorZ} lockO| LIEFL = EH= si|o| chAto|Z 2
DIHEA} locked 7} 2F0F HCF,

2= G27E AV | whzoll FH7

Ao

meaning

Al B AL cor'7F meanO| LIEFHE 2|0johs 2|2 FH[0|2
2 HXHEAL meaning0| 2FOF SHCL

‘&7|2h= thoj= AE'E 2l0|ot= 2HEI0] ‘cor'of M ReHE(RACE

designed
Al Bh= HA} systemO| designO| LIEF = ‘T0ototE" 9 2f CHA
0|22 A} designed?t 2FOF SHCH

FEZ 5t thal, AEXES 52| MZH0| AMARIX| HAICIXIE
O:

o
G57| flah QtEl AlAEIS MECE

0l

guess == design 1ot5iCt oHSCH

rising

Al k= AL smokeT|rise”} LIEFE ‘S2t2= 39| FH(0|2
2 SR A} rising0| 240F SHCE

Ol & Lo 7hE0t 8PH| ES 2 RHE Bl 7P, L= OME 74E
o SH0IM 22t AVIE LOHHICE

unwashed

4] Bh= QAL jeans?t unwash?Zt LIEHHE ‘NIEFSHK| gt &9
CH&0|2 2 TP EAF unwashed?t 2FOF SHCE

15742 SOt MIEFE|X| 242 HuIX| stHE 22 F, Josh= McQueen
SEAROIA T2dg HRICE

hand zAuct, gAzct

closed

Al HH= B} her eyesT} closeZt LIEF= ‘2= 39lo| Chato|2
2 DAL closed?} 2FOF S}

JHe =2 Z2 M2 AS YD FES 2Lt

make a wish 22lS 2t blow out (20{A]) 11C}

making

24| Bh= GA} the kids7H makeZt LIEFHE RHEE $2(2] (0]
S 2 SRt makingO| 2HOF SHCF.

L= E&Est2{ 0 33HX(2E 1 010|S0| HF B2 A32 2EWVI
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The phrase, ‘jack-of-all-trades’ is a shortened version

DHRBAL 4| Bh= YA
of jack-of-all-trades and master of none.” (E0/= &?lel the)
SOHAFO{EI HA'0|2h= 9|O| 2, 44l BH= T Ab versionO| shorten
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O HEISIC (ol mhet 24-)
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2iCrel Z047l BiTo|ct
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exposing — exposed

& Most plastics break down into smaller and smaller pieces

2ol F0l(=B3t= Helo| cha)

when exposed to ultraviolet (UV) light.
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EATLE0]| F07t M2 G2 2 FEO| :0{ Most plastics7t £
AtEC| oOfAk F0{0|Ct 2y THREES| Z2FAEI0] XtefMof|
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= siQ|o| hAO|D 2 BIHEAL exposed?} 2F0f SICE EAFRLE 9F
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ol%] break down into ~2 23%|Ct expose =EA|7|CH
ultraviolet light xte|A
2 pC d-po ing
di& My parents worshipped medical doctors as if they were
exceptional beings possessing godlike qualities.
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discouraging
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worship &tii5ICH ZZsICH being Zx, Alx
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overwhelming — overwhelmed

When you are feeling overwhelmed by tests, you will
Zoj(@i=sts #elel ) AR

probably spend all your time studying to deal with these
pressures.

S0y ghlo] =gl 2AY SaIcrets 2ln|E, F0f yourt 2
At overwhelmO| LIEfL = “UE=sh=" *9(2 Chef 0|2 2 BpAHZAL
overwhelmed7 @LOF SHCE (=wel miet 24-4)
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deal with Z&lsict M2|5HCH pressure Qi ot

(@)

Situated at a height of 1,350m, the city of Kathmandu
TARARE 2| FORIRIAZ|= B2l i)

enjoys a warm climate year-round.

EAREE Situated ~ 1350m0l| 07t W2 glooz FMo| F

0 the city of KathmanduZ} 2AtT22| o|0|Ab Z=0{0[Ct 2oHA

FHEQLE A7} 82 1,3500(8{0f IX|StEFEh= 2|02, the city of

KathmanduZ} situateZ} LIEtLHE ‘QX|AIZ|= &li9|e] cHAO|B 2

DHEAS Situated?}t 2 Zd0| ML (2o mel 24-3)
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height sift, =0| year-round 912 Ui

Bill was sitting patiently with his legs crossed

While other participants were waiting nervously, Bill was
sitting patiently with his legs crossed.

YAH (= ARlo| the) AHEA
‘Billo] &M UA| 2ot QUACFEH= 2|0]2] Bill was sitting patiently
Floil ~&F M2t 2I0|S 27| 2l Twith + (CHEAF + BALE
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o

Ck 23 .90

educate?t LIEtLHE ‘WSsHE WelQ| chAo|22
p.p.)0| E|=2 be educated?} Qt0F EHCf.

+353(to be

Chapter 05 =SAt 33

2
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JE to write - writing
ai& The researchers had 57 young adults spend five minutes
spend AlZt
before bed writing a to-do list for the days ahead.
SYA
~ohed ARZHE/-=S MOFEh= 9|0|2 fspend + AIZHE/-H + A
(in) + v-ing,& BEXCE ALESIEE, to writeZt OtL|2t SHA}
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Understanding not —» Not understanding
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Vision is normally so swift and sure, and so effortless that
we take it for granted.
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OfFl vision Az A2 swift Z2fxQl, A5 Fete| &7 £0E A2 XIF H0l= A= CHappear) 24 A0
effortless =g L 2 5lX| U=, BISK| %2 Uoft Uo|2 2, toRFALR| 2E7(to have p.p.) to have shrunkZ}
2 20| HHSICE (2o o) 25 37 2ote7)
4 B todeliver~ to be delivered si4 AR, Rats M2sHe O] 72| AlZkg MK SHECE D50 ks o
si& The professor is still waiting for the research paper HE K|t 2 M7 S0t =0{2 7o 2 HQICt
toR A} 2l0|f FOl(HY st #elel cish o ahri
. . Z0{EL]
to be delivered to his office. ol shrink S01SCt
wbere J=¢ My son told Eric not t bout th
6 son told Eric not to worry about the mone
toE AL 2ol 2|O|Ake] F=0q for the research paperZt QUCE the = Wy y v
g .
research paper= deliver7} LIEHI= FErst= s2lo] Chato|oa, a4 My son told Eric not to worry about the money for
=25 10 deliver7} OFL|at 258 1o be delivered7} 210k BHCF F0{  SAL 2E0| not SHHEO|(toRHAY
S o deliver. T3 10 De delivere (= the running shoes.
B40| T4 25) ‘ = ’ SHrpal
" f OlRle o1 P o Ltel O+=0] Ericof|| ZiCtat= 2|njo]22 My sonOf #04, told
oiid O ups OfﬂE A I_Ioll |Af ME JEE|7|§7|E|‘E‘—T’— ME|'. 7|, E)\l' EFiC0| 9@.010|r—f. %75101 EI’iCO| ‘7—|X«|;’. oHO|o| TX|0|
ol%l paper =2 deliver F=siCt BiZstCt 1, tell2 toRHAIS 2XZAHUZ F[5H= SAIO0|2 2, worrye= to
worry2 HF20{ 4Of St HEBE “AFSHK| REF'0[2k= 20| to
[=1 3
5 %2 O worryQ| 2|0|E £X5t= not2 to worry 20| MOF BT} (2ol o
si&  ~, their brains actually appear to have shrunk over the &l 231, 26)
STHAIH| toRFAL 22 Y
last few centuries. (5I0l= =20t ek AFoll Z01%)
0188 B TesT
01 thinking 02 depressed 03 allow 04 be worn 04 ¥ be worn
05  pay 06 ' occupied 07 show 08 filled sia SOHAF OFX EFX|= M2 &|0{oF BHCFEH= 9J0|2, =04 Proper
09 O 10 O 1 6 12 @ safety gearZ} E[&st=" 9| CHYOIZE toRFAS +5%
SolE= 0| QI0F SIC} (=Hio) ujet
13 @ 4 6 15 @ (to be p.p.)& Ct== be wornO| 2tof r<§u_ THE 25)
: - SHAd Xixio)- Ol™ &x|= 150 _A_ﬂo XE'_I 2ol 2 = X
16 (1) @ interact, ® touching, © to have, @ sent o o . dxl= AS0l 84l = relof 2t 2= Heis
(2) it is easy for the users to learn how to use touch screens off 2[3H 48 [0{0f Btk
ol?] safety gear otX x| assembly line Z=&! 2}9I
01 FE thinking
S 2 WIS 242 BSCEELS ojojol 20| XA D, stopS 05 BE pay
ZOAIE Eﬂoﬁi F[5t= SAL0|2 2 thinking0] 2+0F SHCE stop F a4 ~, | hope you will not make us pay for the labor
Ol toR ™A} & = UX[TE, O|if= ~517 | @I5H (SHE YS) HF0F Shi(make) SH0| SHAZO(SAY)
2t ojoe] —t'rM QHOIC} (o] miet 221 component of its repair.
siA Bre TSRS 2HOf et e Ao R M2tste A2 BEE 0] us7t payZt LIEFLEE ‘KIZ 3t S9le] FHI0| T, makes
ol5ie DA 25l = EALQE 5t
HHHS D 27| 20| £0|X0|X| &Lt ArRISE = HAHZ Fot= OA}O|E§, SARIH Day7f Ql‘OF st
L} (2ol o 23-)
02 FZ depressed ol ZAgE Xl AS TMEOE g|Ate| MRol7| whEof|, Flo] 22(0f
A 2OHA LP= 2235l LuitPEl= on|g, =0] 7} ZEEA A 2Zio] 2| 2tf 220 tis| XIZ5H7| 6tX| 4715 L= HizZtCt
depress7t LIEHHE ‘P3P st @9l9] thao|o2 ap{2At ol# entirely o2 correct AL BTt
depressedZt QOF SICE (20| met 24-4)
si4 3 iAol DFXIafel, Lhe L iof 9l BIE US Mzoj e ¢ 06 FE to oceupy ~ occupied
235t2 L7t si& Examine your thoughts, and you will find them wholly
- . %Af EX{O-'
o 1l ~0| ok . . L 340
of#l quite i, 2§ ahead of ~of /o occupied with the past or the future. (== el o)
SHAH(IAHZAD
03 FE allow
= 2%0{ them(thoughts)0| 2&ZH0{ occupy?} LIEFLH= AIREH=
SHAL i i H - -
sl< The washing machine and gto?er household appliances, sH2|o| CiAO|D 2 T LA} occupied?} QFOF BHCE (2wio) njet 23-2)
x
by reducing housework, allow women to enter the atidl gilo] Y2ts AEsHat, D2 G2 IS 0| 2pA = DJ2Ho| 2
2A0|(FRIAL + YAt SAf Ho| AIRZS = S UHE Ao|ch
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S NET|QF CHE 7SS0 ~517| $tofet= 207t &= A
0| XtAA {04, 3201 The washing machine and other household 07 FE showing - show
appliances®| SAZt M2 OB E SAt allow7t 20f SHC (zuio BHla 2oHA T2 H0oi=7| Q5 AR EICYEH=s 20|17} E)= Z40| Kpod
THEL 21-D A2, be used {0l 2bM ~57| fIeH AHEE|CH 2= OJ0|1E BIE
ailad MEP|QFCI2 7HHMEES TS EUC 2N 0{850| =& ¢l = W2 BAL 9 S ot toRHAL0|2 2, showingO] OL[2} show
TLOl| sl St 7} 2tof siCt be used to ol SYAPL & U ~oh= O| Y=sick
o{% household appliance 7}F/Z enter ZIQI5iC} S0{7ICt 2h= 2|0[O|C}. (Zeo) jgt 21-4, 21-2)
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relationship 27 physical A&%{Q1 22|10l

filling — filled

BN HURECR JIE T FHae %“ olo|E, 4 Eh= HAba

mere fantastic placeZt fillo| LIEfL = ‘R L9 IZH/,\:> =22

SIXHEAL fillingO| OFL|2} 2t E2A} filled7} 2HOF SHCE (2o mhet 24-1)

2 O{ZI0|S2 Xt MIAIS THX| HE 217[0f XMst SRS = 7t

S ZhstyEol A2 0f7ICk

regard A as B AZ B2 0{7|C} mere THX| ~0ff S1th, Thassh

endangered EZ 2{7(0f| X5t

(0}

2 @Aol) Xt 2 Ag 7Idsicrete 907t = 20| Xt

AR, remember F{Of|A (@Aof) ~&F g 7|{siCrEt= Q0]

7t El= A2 SYAOIEE, seeingd| SX0{2 2 20| HESICL

remember F|0f to2 YA} & = (OfHof]) ~& S 7|stret

£ 2I0jOCt (e myet 22-2)

ThAtO] [HEH, SAHXIES WE| XY ZXolM d2M XS 2 Ag

7|ofBict

judge AL witness S}

o

The sun moving behind the mountains, the last light
EAtRR2| F0f NS FHo| F0of

(OISt Belel F)

n 3

of day began to disappear.
EAE Uof| EAFFR2| F0 The sunO| 2 UCE The sunO|
move?t LIEHLH= 0|S5H=" 899 F=H|0|22 SR ZAF movingO|
= 230 HHSIT}. (2ol ue 24-3)
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® Renewing - extended - send

(A) Renewing your subscription now will make sure ~.

Z0l(SYAD SA
=W Fste] 1= ALIsh= 20[2h= o)t £li= 20| At
22RO, ZFAF will F|of SAt makeZ 2 RACE LH2kA] 3201

X2lof & 4= UATE BAL AYS ot SYAF Renewing0| 240F
SHCY. (2ol o 21-2)
(B) You'll get extended delivery of the excellent stories
and news ~. ZPIEAL A s BAKITSE Helol tha)
SOHAF ‘OIEbE| WSROl oln|E
7} extend?}
extended?} 2t0F SHC} (ol
(C) Simply send back the card today ~.
ENETE
2y ‘GME CHA| 2uizbete ofoje] HHEER! 20| Xt
2Lt HES 0 youE M5t SAIAEOZ AElSt
send?} 2FOF ST} (2ol myet 21-1)
HaneM|H|

, A B AL delivery
LEfUE elgshs 6o-c%|9| thaol22 TAZAL

[

THE 24-1)

st =2ls Mslo| HAXlE ZHetsR|g Sttt st
Winston &X| 7150] 2 SR Xsl= Fet2RE J218 Arlst
£ Zoi| cish EX| RUSLICE Msl= 2SHIA T siLte| e &
b Ex|1 AX| gtoM Zof2tn sRAIHLICE X2 Pt 152
Alste 22 75te] AH|A7F SEF glo| AlSE|AH & ZiQlLict 75t
= Winston ZX|E 0|=20|M 7HE 2 &s6t= X2 otEs &

Bt 7|t Ao AFE HIZS Bod AULICE FSPAIM XIZ 5t
A= Ag Z[ChE 271l s s, M3|7F {5 7| et B8 A

£ BUERISLICE 2N 25 1 BME CHA| BLHAZ (2 512 2{SPH

ME Winston ZX|Q| &7t S 7|4 gto Al ZiQlL|Ct

Thomas Strout =&

subscription = renew ZAI5ICt issue (BLHE2))

interruption Ztt &5

fob
Mo
=

AE8 =0{F = CHY$h 8H5 Xt= XIS HackersBook.com

12 Y @ buying - changing - make

sii&

s

ol

(A) However, what often happens is that shoppers end up
buying things that are not really needed. end up
SYA
B3 ~5l| EICf2t= Q0|2 Tend up + v-ing, S HEH Q2 A
83182, SHA} buying0| 2t0F 3tCE what often happense
‘BE LojLt= Y02k 5£Q] HWAFE ZO0{0|Ch (2w T 26 &
TH 2OLE7])

(B) Take half an hour out of the day to do a little research
At
at the grocery store as a method of changing this

HX|AL HRIALS] FH0]

(SGAHD)

bad habit.
‘GES B =02k 0|2 HX|AF f°| S%0] xf2|of| 2fof 5t
o= SYHAL changingO| 2t0F SHC (2ol njs 21-2)
(C) In the end, it will help you
SAk(help) Fx0] S5
for grocery shopping.
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@® ~, you'll see a sky full of stars brightly shining like
SAL A s WANHLEE 9lo] FH)  SIRIEAL
thousands of brilliant jewels.

FUA B YLh= HEO|2H= |0| 2 starsE 4l5H= 20| At
ArBIQD, ZEAL lwill) Flol| 25| EArseeﬂ 12 QI o
3

2fM At starsE ASHE YBAL 8tg ot =SAP} 2t0f &
Cf. Al Bh= QAL stars7t shineO| LIEFLE ULt 39(2f =
HO|2 2 SHIYEA} shiningO| 2HOF SHCL. (2ol miEt 21-3, 24-1)
) "01 this amazing sight7} confuse?} LIEILH= ‘E2tAZH| 5t
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five stars7t ZEA0|22 =St looko| 2 0| HHst
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® putting - put
® Similarly, Native Americans in old movies, in order to
B 2 AO|(HAIAL + PAFT)

detect distant footsteps, put their ears to the ground.
S AO{(TR|AL + HAL) A
oA otH|2|7E HFEIS0] #E JCHets 207t = 20| Xt
AR, 2E0| SAPVHIE Q22 puttingO| OFL|2F SAF
putO| 2FOF SICE (2ol e 21-1)

@ think F2| thatE(that ~ a2 SA} thinke] 2%01 &t 5t
= HAPHO|0, that® LS| 301 the mediumO| EH4LEHANO|Z 2
ChSZAb is7F 2 Z40| HASICE through ~ carried= 3209 the
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B2, must FOIAM A Lol CHet FFHE LtEHH= have
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such sounds7t 2AFLEC| o|0|4f F=0{0|CE U4 T45h &
27} FEE|CF2tE 90| 2, such sounds?t carryZf LIEHLH= ®
2ot=" Wele| 0|22 BARAL carried?t 2 20| HH5ICE
BALE 20| When2 2ALRF F0{2| A 0l= Feks O|X[X|
b= TEAOICH el ojet 24-3)

® =01 a gentle tapping2 TH=HALO[HA, SAt hear?t LIEFLE=
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SE SAE Tt is7t 2 Z40] HASICE at ~ table2 F0{ a
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@ Formed — Forming
@ Forming special bonds with the artists he worked with,
SR EAIRE

was able to capture vivid and iconic imagery.
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QIOF BHCL (=2t miet 24-3)

O SUY T ATIRTF2LE oI0|2, 44 BHe YAFa 20th-
century photographer?} admireZ} LIEfL= ‘EZ5H=" &l22|
o022 1fH2AF admired7 2 Z10] ZESIC (2ol mi 24-)

@ toF ™At photographerg ~4Alot0] T2H0| S24S B2 At
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£ A= 4834 SA0IBE, +FEf SAL Fof 2 2HSH0
unrivaled accessE B 11 SSEf SAZ} FOF stCt &251X| &F
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©® SAtappeare= S0l SE0{7t 2X| ok0F +SEHE £ = Q= At
SA0|2 2 SSEf appearz 2 Z40] XHSICE he tookE =01
the photographsE $4Alot= ZAEE SEZ 2ACHYATE A
2kE|0] QICE (2ol mhs 13)
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(1) @ interact, ® touching, © to have, @ sent
(2) it is easy for the users to learn how to use touch
screens
AtetsAt ST2{EH0|(SAF)
(1) @ Touch screens let the user interact with a
=H0]
(sEtgsts Welol A
computer ~.
U AMEXITH §SEESICF e 20|72t = Z40] Al
APREE, 27| & interactZ} MASICE 2%0{ the user=
interact’| LIEIU= ‘&% st=" 92| F=H0|1, let2 =
HAHO| Xj2[ofl SAAEES Flote SA0|EE BiIZtol= S
AFYE interact7t FOF SITE (2wo) mhe 23-1)
® Afingertouchingthe screeninterruptsthe beams, ~.
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SHo
)
BOUA HEsH= £7120[2h= 2|0|7t El= A0| XAAR R
92, 57| & touch?t MEsICt 4] BH= TAL A finger7t
TEst=" A2l FH0|2E, BIZtof= 3R &A} touchingO|
QO ST, (2ol mEt 24-)
© You don’t need to have special skills to use it.
SAHneed) SX0{(toFEA})
My YlsE 7t Eert glckeke Qofrt &l 20| Xt
AHREE H7| F haveZt MHSICE need= toRHALE
0|2 F|ot= SAIO|ZE BIZto= to haveZt 2tof BTt
g1o] TfEl 22-1)

wiodore Ho

@ ~ you must do to have your requests sent.

AteiESAt S0l SXAL0EHEAD

(HUi= delel theh)

2 gile] 0| HUX|=S Sitf2h= 2|0)7t &= A0] At
AARROZ, H7| F send7t MESICL SA havels SAIRE
2 SXAEZ Foh= AASAOIX|2, SX0] your requests
7t sendZ} LERLEE ‘HELHE *9{9| 0|2 2 TP Z AL sent/}
QLOF S} (ol myet 23-2)

(2) In addition, it is easy for the users to learn how to use
7tz=01 toRFAL 2|0| 4 0] Tt 0]
touch screens.
74301 it FOl| 2 012 & 2 U= A2 YA S St toR
FALOICE W2k SAtlearng ‘HiR= Z'0[2H= 2[0]2] to learn
O 2 H}20{ MOF BHCE to learnO| LIEIL = iR = LIS St=
the userse= to 2 HAFC| 2|0|AH Z0{0|2 £ for the usersZ HHY
M to2 AL 20l WOF SHTE (el miet 21-2, 25)
EIX|ATRIE 7120 HES Sof ABAY BREIQ 4SAEY
2 | SiiECE 3HHE EXISHH, AFEXIS 2 7[HELE OrRA 10|
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g ol

achieve =HAsiCH A%

5iCt certainly 2H35|,

=SHO| [HE 44 =zsto|NIZ &It AS AiZst=
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thatO| 2FOF BHCE (2ol met 43)

who
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-
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whose — who/that

Foff 301 QI0] SAf inventedZ} B2, AQZ ZACHEAL
whose?| OfL|2t =01 Aetg Stz 4 BAHZAF who/thatO| 2f
OF BICt (2ol mye 45)

2 AMEIS0] 0475 EMA OfC|&0] £[=2| HE YHSH ALRO0]
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where — which/that
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0| tonq, ZAIHO| =45H= MEAL aircraftZ7t A2 S 712171 Y
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5k H0| Lo o2, FMX|AF + ZACHYAL in which7} 2F0F BHCf

afial 20| 2EE eHEol MEs RS MEtds|zt

ol¥l appropriate st environment &%

d= where

aia F{of| Z=0{(many other students)?t SAklived)7t RE QU= kXSG
X*OI gtooz, A LA whereZt 2t0F SHCE
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£ = itk
ol QefE JHASE2 ME7HE0| IS0 4B Qe MER YEE Y
g HppICE
FE What
silad 2uA Wi BHE 42 ofoir|Qictels 9ojo|2 2, That &
= What0] 0|11 H2 F0{ A&tz sh= GALEOICE ol SAt
(Iooked) QU1 017} gl= ELiTst HO| t2 T2 WhatO| 2fof
ik
oflad SALZ0f|A WA HAE 242 ' BIh7 (R
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&k 2ol 2Ct
afia TXp S0l Mol 2o UHES 19M|7] FHH0|| AUAT LT &17]
Z{0[X| e4Lt.
ol%] progress &7 telecommunications Fx} 41
revolutionary &|7|%{Q1, a0l
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o4& F[of FO{(each of our students) SAHwill have) ZZX0{(the S M2H/ZN d&8AF sure FO| F0{(you), SAHwill be), FZE0]
opportunity)7t B5 Ql= 2RIt Ho| i, ShES0| 34 53 (satisfied)7t 5 Q= B35 HO| 2, 22U OHH/~EP— 20|
SAgL VI5E 7%*' Z0[2t= 5l 0l2k= L2 A0 A= FAF SHASICY 2k 2|0]7} £|0f0f S22 thatO| 2 20| HESICE
the hooe°| L2 201 Zgstil e 2 54 thatO] 2fof & i Qel= ghlo] L2|0] AE B2 JHOl X|= mAFSO| BHEE Z0j2tn
Ch what2 S5t H Hofl 2= HAME TEALOICE SIS

siiA S, —rE\L 2|0 el 217H0| U™ sHE ALY 7[5 7HE ol2| satisfied Bi=st= well-experienced Z& e a2is]
02t s|YolM S £S FItst A} BT

tutor 7§Ql X|= mAL 7FY mA}

T O 5 %= which - that

oiiE 1 Hi7F DR|Bfe 2 SAE 22 9ZoIitiets 2(n|2l 210] Xpeis sii&l ol Z=0{(1), SAHcould communicate)7t R& QU= IS HO| 2t
2RO 2, it-that =X 20| Z/0{0F STk T, ZZ ChAf September T, such®} 8P 2UAL 142 ~5llA| ~5ICFEH= o|0|7} E|0{0F 512
7h AZtg LIS 2 0|2 2 that Tl wheno| 2 240] {Es|C 2, such~ that P2S BHE= that0] 240F BH}

aild T Hi7H =S TS 2| 2I&st a0l O[22 SA4E A2 A OFS AIRIS = QRS 2 245 A2 U2 20 QIojA L= 1S
HE SZOIZI 3t 40| QMASS B 4 QUL

ol¥| waters 5%, &3 Antarctica 2= tis of#] accent @gf hardly 72| ~0bL|C}

FY that- what 6 742 which - that

diE BUy Yoz RBalg YeX|E Evets 2o|g, ¥@E Z thato] 0] ail& 0] Z=0i(people), SAHshould be evaluated)7} R Q= FFIEHE
1= HE2 toBYA} to hear?| SE0 A& S 5h= BAFEO|CE Fof 0] 971, AFRFS0| TjErofof SHCH= QIS 0jate =0 2 ofof 9l
Z0{(he), SAHwould get)2t 1 2X0{7} gl= SbFsH Ho| 2o DA} the beliefo] LI2S Z0{A MatT OO 2 £ that0| 9f
O YAE HEA whatO] 210F BH: OF BHCt. of his friend:= the beliefS 4=Al3H= TFIX|AF + BALTLO|CE

o4 Davide &7|AHHOIM &3 o= Bo18 WaX|E 1M e A = AJRIS0| 150| Bt 2lof 274510 TIFEFOOF BHCH= &IT10| Tl
SEICL S2 oI™sty| AlEtEiCE

oi¥l talent contest Z7|x}2 o2 evaluate Zr}sict based on ~oi 2745101

Mini TEST S0 & 47~49 =3 p 147

He What - That aid iR R ARE2 82
Q =

2
sia 2y Pelo| S2S0| FF20} SiCls S BYSICr2tE 9| g=olgEs

0|2, 0] Aete| YAPES 0|11= FLEATH 240f SHCE Foi =04 ol#l cause RLsiCh OF[SICH release 2|, 8% chemical sist 2%
(some animals)2t SAH(must starve)7t 25 Q= 2HHsH =0l Rt well-being s, 2ig
B2, WhatO| OfL|2} ThatO| 2t0f SIC What2 S2txst & ofof @
= HAPE TSALOICE (2o nje 47, 48) 4 FE O
aial HHo| SE50| XfAoM HZF2{0f Bt A2 0 E™stn & e beSAlis FlOIM =20 o] BAES 0|nE= HEAR} 2t0F B
=Cf Lt %ol 0{(we)2t SAHwould expect)2t QI SX0{7} gl= 22t
ofg| starve 2=2|ct deeply 0§ unfortunate 235t et HO| 202 whatO| 2 Z{0] HESILE (zuie| uiet 49)
aid Il Ahe AMslHog = 7|57t Ao gl= oto|SolIAIM HEs|
FE what -~ whether/if 2|7} of|AfsH= ZHo|Ct
afied ol 3=01i(the subject’s responses), SAk(are), £=2{£01(typical or o#l decline Z+ empathy 22, Z0l2l socially Afs|=oz
atypical)7t 2% Q= ebdst Ho| 2ton, 2y B3 E0| Yoy
OIX| O|24|&QIX|' Bl = 2|0|7} &|= Z40| AfiAZRE 2, ~QIX| (O}t 5 Z%E that- what
Xlyetes of0|2 s A 2ol 8 4 s YA &AL whether/if aild 2oy EHE 2o AU0IA MERHCHets ojojo|2 2, FRAL ing|
7} 90 BHCf. what2 S2HI5HE 0 2L (2wel mhe 47) SX0] des ot éAP‘E*% 0|T1= TZEARTE QFOF SHCE Fof] SAt
s AlE CHALO| BE20| UHER{OIX| O[3 FOIX| & Ehe0] 917 | w20 cF (was expressed)2F QT Z=0{7} 9= 2etxs Mo| 2002 that
o M MO M LHR AE Aote XSHE JEXIE ZH=Ct O] OFL|2} whatO] QFOFEHZk thatO| HAPE Mt s 2bdst &
o] experimental Al&o| subject A& CiAl T&xt value 71| Ol 2Lt (2ol e 48)
response B2 typical 2utx{ol atypical of2 =9l aial AMZHSO0| AFAFC| of &0l =347 | W20l Q1M T ols2 EoiE A
ol A0IM MERICH= EE 7|sh= 20| ZR3tCt
¥ what > which/that ol impressionist oAl realistic AfAIZ=O|Q|

ol F|ofl SAHbring)2k SX04(a feeling)2t Q11 017} gl= EATSHA

0| gron], 2oHAF ZIHS UoF|= 5let2E0|2H= o|0|2 MBHA} 6 7JE The fact that we can do online shopping at home
chemicalsE #=4l5t= HACHE AL} 2t0F SHCE chemicals= At2S siA AAOl2t= o|0|Q] AL The factE2 TIX A1, Fo| LIS =4
LIEfL = FALO|2 2 2 2ACHHEAF which/thatO] 2tOF SHCE (= that2 AM2sA @1Z8H0F SHCL that F|0oll= 3201 we, SA} can do,
o| T 48) 5% 0] online shoppingS &=ACHE MOF SHCE (2ol mje 49)

Chapter 08 HX|AFREAR AL 57
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OIE BFY TesT

=3 p.148

01 where 02 because of 03 where 04 on which
05 that 06 that 07 which 08 what
09 O 10 that 1n 6 12 ©
13 @ 14 O 15 ®
16 (1) © because — because of, @ which = when &= at which
(2) so severely that it can’t[cannot] swim to the surface
01 FE where
& Fof there, beSAk(is), Z=0{(enough light)7} 25 Q= 2kFSH AHO|
RO =, EARAL whereZ| 2fOF S (2wio| el 46)
aiial SESHH0| Q= HiCte] M X0l =, 0t0FR0{ AFERIZZETL SiZ
AEIEE Ze 20| 7kttt
olgl surface X amateur 0j0tx01{2| F|0|2 5t= shot Azl
02 Y because of
aia F|of WAL (the decreased number) 7t £t© B2 2 FX|At because of
71 tOF ST (2eio| piE 42)
si4 T Lt2te] B2 SnSe OIS s 4 1f20] 0j0] 28 BT
o{%] decreased Z0{E
03 FE where
ol Fof| =0i(the tree), SAKis getting), SX0{(it)7t BF U= X
HO| OO AE5H M Q0| B 4 QU= WAFE LAt whereT} o
OF StCt what2 E2iTs A 2Hol| 2= HAFE HHALO|CE (2wl 1
E 47)
aial 29| YR = Kot 0| M 21 LR = H|0|M B E, T LIRT}0]
CloM O 21 =X| ZFst= A2 ofFCh
o{¥ underground source X5} 9 measure ZE5IC}
04 FE on which
sil& Fof Z0{(actors)2t SAkappeared)?t & QU= XIS Ho| 2F
OO2 MEXIAF + HACHHALR! on whichZt @tOF STt ZEAICHH
Ab whichie 22R4sH A 2fofl 2Lt the screen ~ appearedi= 2A}
TE2O 2 the screen0] £At corresponding?| 2|0|AS| F=0{0|Ct
(SHH2| IiE 46)
aiial dste M0l ABQ| OtEAte| FECZ AR, 5HHE HIRE0]
ST 2oiofl sHERACE
ol% illusionist Or&AL Q250|
correspond to ~0f| SiE5ICt ALt}
05 FE that
aie 294 objects(MHMANE 45101 5,0008YIE TS XIX|st
= SUS0Rle oot Ele 0| XfAAHREE AL that
0| 2tof 3t} what2 MYALE fAlots BAME & = QI
(SHo] TiE 48)
s EHAI2 50008HT|E TS AIX[SH= EES 2,000LTE] of
IIEO|| X2 dg 4= QiCt
o|¥] object 274, 24| occupy XIX|5ICt square-foot HEI|E
06 FE which — that
e 2y O HEE MKtz SIS kS NS BESH0F St
2t of0|Ql Zio| AteiARRB 2 L& Fl which?t 0| HE SAt
assure?| S0 JetS oh= HYAPHO|CE ZE Flof F0{(they), SAF
(will not reveal), 2X0{(the information)?} 25 Q= kx5 H0|
2to O 2 which7} OFL|2} thatO] 2OF SHCF, HAPE FEA il that
2 A5 A 2ol 20, which= E21TSH A 0f| 2L} (2wio| mjgi 47)
oild HSAIS 2 YA A2 S Tohs ARIS0A 2S0] MafAtof| A o

HE T S5 b2 AU S BEHOk &tk

58 Y0l MG =0{F= LIS &5 AHE MS HackersBook.com

07

08

09

10

n

54

BE

s

st

84

assure wEsic} telsict legal gxiol
reveal Z7isiCt third party ®AX}

advice X2, =1

them - which
(Scientists ~ viruses) 2t H(both ~ jungle) AFO[0]] F& AT} IR G}
1, HARE two animal viruses {0l 25 AHst= E(both ~ jungle)

= 1ZsH0F 512 2 tHYAF themO| OfLI2t ZEAIHEAL which?t 2tOF

BT} (2ol TiE 46)

USRS 2 F 72l S HI0RIAES 2715t =], OUS S ¢

QIZHofiAl= ISIXIZE OfOHE Y20 M= S5ttt

that —» what

Consumers ~ so that they get what they desire -~.
SAL A F0l  SA

AL

2A S0 YAsHe S Yrtet= oojo|2 2, YE F that0]
0|N= E2 S gete] 50 A4S sh= YAFEO|CE Foi| 304
(they)2t SAHdesire)2t Q11 X017} gl= ERATISH HO| OB =,
thatO| OFL|2} whatO] QF0F BTt thate HAFE FLAIR £ 4= QIX|
2F RS & 2ol 20 (2w miel 47, 48)

2HIXE2 O50| glE7 B =02 Yot As V| 26l &S
Hlwstn o 4= AT

compare H|wslCt goods A% desire §5iC} HiZICH

(o}

ol =0{(you)2t SAHweanE Zelst HO| 2tonq, oAl ‘HAI0]
WOoIZI HHIKIE LE0I2t= 2|07t El= 0| XfAAR B2 ~0|
= (OfL|E) 02tz 2lofe] EAFE &AL Whether?t 2 230 E& st
C} (2ol o 44)

10| HOIZI HHIX|E JE AIE = WS E0l6tE, 28 &=

M g2 AH0] oftH ZEbol| £3H=X|E CHE OIS0 20{EL,

poetry A| belong to ~0i| £35}Ct

which — that

E{0l| Z=0{(animals), SAHhave), 2X0{(moral behavion 7} 25 Q=
SIEeh "o 20, S20| =HHR WSS Y Vs Y 0l’ls K22
Q0| Q= HAF the possibility2] LIRS Z0{A Mdstn Qlooz,
which7} OFL|2} 2 thatO| 20} 8L whichs 29tFsH M gt 2
Ch (zsto| 1jst 49)

S=20| EHHl dSS 2 7Y
g5tz 201 o gtk

o

LEE A2 S22 EHds

deny 2&5ICH morality =4 deal with ~& C}RC}, cix{ICH

® in which - although - why

(A) Slofl Z=0{(people), SAHMust remove), 2X{01(their shoes)7}
DEQl=obMst Mol oo 2, ke A ool 2 4 Q1= THR|
Al + ZEACHEAL, in whichZ} 2F0F SHCE (geo) et 46)

(B) Flofl =0{(many people)2t SAHgo)7t ZatE Ho| genz H
2l althoughZt QFOF SHCE (2#o) miet 42)

(C) ol 71501 1t0] QA1 2L “9ff 021 2H&E 7K1 U=A|
= G5 tfeh= 207t El= 0| Atz Tint

0 AL S Stz YAFE HEAPL 2L0F BHTE 70 Z=0{(they), SAF
(have), 2X0](this custom)7} 25& Q= AxSH Ho| ez
‘ol ~ot=X|, ~oh= O| R 2l= Q0| = st " oo 2 = U= Y
AFE & whyZt 2FOF BHTE (2ol et 47)

Of=z|7jelS2 it Mg} 2sto] [ 2SI esl=

|
kel
X

SYe L3I 2AS T LFE 71X Tk oS S04, of=2[Fte
M2 X[oflM Zap MY = O IS0 HHE 28 S5 A
CIok A=, ARS0] goil S07t7] ol 252f LS BI0{0} 5t



12 BE

CE

13 B

EE

= %2 OfZE2|7} X|S0] QUCE AT, HIE H2 AMRIS0| HE2
CHLIXIEH CH2 AIRFSOIA YHIEE Hoixes A2 8Ye 4 it
JS0| off o|2{8H B&S 7HK| 1 Ql=Al= HESHR| 40t JHoE &
T80, BRoF o] R 7=lo[2HH 0|22 LotE Brst

= 2H50|Ck

practice 23l 2tz
sole g} %t unacceptable 8&fet 4= 9l=
barefoot iet2; aigto] custom 2t&

quality £ E% associate ZtZA[7|CH

ct o
=2
=]

@® when - what - unless

(A) Floi| =0{(Salva)2t SAtspoke)7t Z& Qli= 2AFSH Eo| 210, M
SHAL the first timeO| A|ZHS LIEILHE 2 ZEHE A} whenO| 2FOF
SHC. (20| Tt 46)

(B) 7} Zslfof sH= Zdofl2ts 2o, TR ine] X0 &S
SH= HAFEOICE that = what Fof| 320{(he)2t SAkhad to
say)Bh U1 =X0{7} gl= S&TISH Ho| e 8=, that0] OfL|
2} whatO| 2LOF SIC that = HAFE HEALE £ £ QX2 24X

b & Qtol| 2L} (2ol mye 47, 48)

O:

Web DS0| etFEh=tin S7IX| ob=ChH AHHZo| gityat

=

ol

[=|

o|0|2 H(most ~ others)zt H(they feel welcomed)S 912
= 0] AAAHRO Z, TroF ~OL[2IH0[2h= S22f EAE
At unless7t QFOF SICE (20| njE 44)

Salvag gHatE 7| 2t Z2HEE 2[8 =2 Z0t0f YLt Salva
7t HZE ol oMt 22 a7 X20[UCt B Ho| He= ARRIS

Of AL SalvaZt Ot0|2 Zo 2 Ao uff 19| RE2 He | QU
C}. “OF, Of, eHEstM|Q et T 7 I T9| &0 Ha|HM, O=3
SE2 HEEUCE T &7t 2= ZE 20| 27 Yshok sh=
Zdof| 24 Qlof HRICH= Zis YORIRICE AEES DO|AE 21 Q
QI RSHOZ HJCE O740] IVt 28 O 7|2 A ==& ot
SO0{M, 2= CHA| O10|=0]| TH 2 FIC ISR O
EJCL = Hotsts =70 0|8 XA, Y 0QUCt Salvagt
0|, A2 AEEE Tter O50| etgH=Ctn 7)|X| e=CtH Ct

O (==
MRS b0l XHIZO] GiCt

ot o rr Mo

Mo

N

b

i m

raise 2OC} tremble Ee|ct ECt at ease 0F20] HOlsH

@® what - that
@ | have believed for a long time that a person can find
SAH HAPE THHAL =0f SAH
truth ~.
=x{0]
SAt have believed2| =01 A& St= HAFEO| 2t0F SHLCF.
Flofl =0{(a person), SAk(can find), S&0(truth)7} 25 U=
kst Aol gte o2, @& F 0ol whatO| OtL|2t thatO] 2F
OF StCt thatZt what2 & Cf HAFE ™LEALO|X|EE thate 2
StA Qtof] @11, what2 StTIsh & M0l 2Lt (2#tol ujs 47, 48)
et o] ofl sl 2 F4'2h= 2|0|2 a carpenter(M¥l
£ +A5tE 20| RIQIAR|RTE 2AADTL 2tof St Fof &
has devoted)2t =%{0{(himself)2t i1 017} gl= St
0| 2tonq, MaliAl a carpenter=s ARZIS 72|17 |= BAtO|2
4 2ACHEAF who7t 2 Z10| ZHISILE (2wl mje 45, 46)
Q SAtgrows FHEOIE F[ot= SA0|D, =4E0] XI2|0fl= &
BA7t L0k ST impatient?} 2 Z10] HESICE (2ol wie 35-)
@ 5ol Z=0{(their work)2} SAHwill lead)7} 2% Q= 2bFSH FO|
grony, 2akA ol o 2|o| = A2 = 0|0EIXIE 2 3dHst
CF2h= 20| SAF wondere| SX0{ gts sh= HAPEO| o
Ofst2 =z, ~QIX| (OtIX|)2h= 20| 2 st E Aol & += U=
HAPE &AL 7F 2 Z40] MEBICE (2ol nie 47)
® ‘8t 7K 7|&s YA = 20[2k= 2l0je] SAF can show?)
=017t HRsiCt miat 0] Xf2jol 2 ~ UEE AL Jets
Shi= YA developing0| 2 20| ZHSICE (2uo) miE 21-2)
Lt @2 AlZH SOt AHgHo| &t 7HX| ofl Sst J2ig S8
EMN 4o T2|1E FHE 4 UTHD Vo YL oIE S
Ot 10| Uof| MFsl 2 S J&=

n

g oot

=

14

¥0
R

ey

T OIMO| CHBf B2 M2 TE 4 Ut SlElE, s
Bosts M ARISS D50 Holgin, 712 el £ Yol 3
ZZSHEICh 2SS AAIS0| o] o] gl ofid HOZ 0[0fEAIS
5t 12 MRS 275K, 1SS M) SR 28 45
9ICk Stof 22[o| X|A/0] SIS @ThE, 22| A OfR A B2
CF J12fLt 8 J1R| 7122 2L 2012 WEATIS X2 Mol Zl2|
g =015 4 9tk

impatient =33t £
responsibility 22, zol

® which — where £= in which
® However, we live in a society where/in which gender
HHANEL) BARAL THAIA+ 2ACKEAL
roles and boundaries are not as strict as in ~.
0 SAH FZAEH

/o] Z=0{(gender roles and boundaries), SAHare), FZE0]
(strict)7} 25 Qe TS HO| 20 MEA} 3 society?t HAE
LIEFLHE 2, whichZ} OFL|2} ZHAE AL where EE= TRX|AL +
ACHHEAL in which7} 2t ST ZEACHHAL which= S8
A otof| 2Ct (2ol mE 46)

@ Fol Z=0{(women), SAHare encouraged), SXZAH(to care)
7 BE Qe st Ho| oD THERAL + HACHHAL in
which7} 2 Z40] ME5IC} 534 SAtRl encourageE +~SEHE
MH S SE 2Ee| X017t =0{(women)7} =|HA SAL Fo]|
=01 10| SHZAL0](to care)7h HIZ 2Lt (2xio| 1jei 46)

@ FBUY AAR0| O XAZCID =77|= 20[2k= 2jo|Z, ©
R[AF of o] EX0{7} toRFALS| 2|of&f 012! ment SYUSH CH
Arg 71217122 THCHZAF themselvesZt 2 Zd0] =H5iCt
makes 5841 SAIZ, it0| 7H=2X01, difficulte 2XZAH0, to
feel ~ success?t Tl 2&040|C} for mene M Z=0{01 toF
FAtS| ojO] et 015 LIEHACE (2ol miei 29)

@ ZHE(We ~ stereotyping)dt H(there ~ individuals)0| ¢1Z%|0{0F
St0q, 2L THRIS Atolofl XEO|7F QU7 | thE ol I A E QIXIaH
OF StCF2t= 207t Eli= 20| RAPIAHREE 7| 202t
Q|0|E 7HEl &AL as7t 2 20| HESICE (2ol miet 44)

© XA on| FE0| LS St= HAFEO| 2tof st 2E 7
cto] F{0f| 3:0{(people), SAk(perceive, interpret, and respond
to), 2&0{(conflict)7} BF Q= bXFH H0| LoDy, 2aHAL ‘Of
T AIRIE0| Z2EE QIXI5t, siMstn, thESst=X[ 2tz 2|0]
7b &l A0l XA Dz ‘08 ~5t=X|, ~5t= LEF0l2f
= °J0|Z 2iTst H ofof| 2 2 U= YAPE HEAhow?t 2 2
O| HASICt (2ol e 47)

28tHo| 0{dS0| Y SHECHH ti2{st= 4

A O|2{8 a2 040 7tEE SR LS HEE|

Ho2 YT 4ol ZHEIS HEY = ALSI3t oM HIZ

O

o o

== QUCH 0213t BHEE2 HH S0l IS XHlS2| g3l thigt &
0l

u}

il

2
y

A

[=

g

0x

U

ro

i

rr

Rl

— 09

[ L TG

ZO{X|X| 242 W A A 20 Chsl] AFYA-CID =7l AS O

=

277t ool Aleierg i2ist
22 ABIOIA MCE IS Atolof &1t xtolt 97| 2ol £
= DHPIS 5t 20 ABS QIX|sH0} BT Salot 4
O ARIS0| 252 olxlat SH=Rlol 2a2
3 4 QIX[BL 21 TYAstetS miskn Jfelel 70| 2fste

=
9| 7|=20{0f Bt

n

2o ™ A

suggest AJAISICH caring Hi245H= tendency gt
socialization Al5|5} competitive AHE 5=

credit /7t & boundary Z7| generation A|cj
stereotype 1H2IES &M5ICt significant &&st ZQ5t
perceive QIX|SIC} interpret 3A15ICH conflict 25
overgeneralization 1tQJ2stst
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15 BE

CE

16 B

@ it— they
® Most people understood this ~ and, they continued
EReT EPeTn

doing it the same way.
and F|7t 2y HE 2| AIRIEE 7% 22 YA o= Firyet
= 20|, M g E SHAF Most peopleS 72)7|2&, £
SCHHAL O] OFLI2E S4-CHHA} theyZt 2LOF BHCL (2io) mie 28)

@ H(freestyle ~ strokes)2} H(each ~ performed)AL0|0f| t2 F
LA} QIT, WA swimming strokesS 2 MH5H= H(each
~ performed)S AZ&{0f st2 2, TACHHAL which7h & Z40]
EAIBICE (2o ajEi 45)

@ ZF0] their armsZt SA} pullO| LIEIL = SV |= 39|Q] CHAMO| =
2, 2SE were pulled7} 2 20| MHSICY (2eo) wE 10)

@ EUHoE ZMsiCrete o0|2 2ol U= SA competeS
£AlET Qoo 2 EAt effectivelyZ} & 40| HAESIC} (2o

© BUy T5°| AF0| FAURIX| SHEIYCIEH= 2f0jo|2 2, SAt
declared?| 520 9&S st= HAFHO| 2tof STt Flof 301
(their decision)2f beSAHwas)2t A1 FHHO7} gle ELtH
St Ho| 2tonf, 2y ‘I50| AHo| FoIIX|2h= 2|07t &
= 20| AR RB 2 "R30| ~oH=X 2h= 2j0| 2 Eetdst A
2ol 2 & Q= YAPE T&AwhatO] 2 Z40] ATt (=
E1 47)
1920CH7HR], XtRE, B, WOl RLst Ml 71X] Z7|8 -0l
1, %S ZZ0fls 3740] OfEA| #siXof sH=XIE dYate A
ol FEIS0| QUQUCE AHHEO0| Y S & mf, 25| T2 S50|M
20| SAHT & SA0 D7|= RHMle| MBS 2 E|EO0ZIC CHREC|
AIZFE2 olefst 2 SEUS EL0IMe 2AUSZ ofs3i, 5
2 A& 22 Ao 2 O718 it d2qLt 1920, YR &
+E2 I59 HS E Ho =R 501227 ARSI 0] M2 i
0| SF ISHMIE Of We7| tj20f, 7|=2| HAS 0|Zst= AfRIER
OS2 AYAEn 20RO 2 ZME 4 QIQICt 1 X2 s &5 |
i 21717t st Mofat SiCt £+ 2AXES 2 OS2 Z2F0| 2
SED, IE2 IS Wile o2 THEQICE O M2

2 HYoz LeX|A =YL, 19560 BT ZVI2 TRE

2 1z

oo

ol

al

£0 02 39 o |
T 0f o

freestyle XR& backstroke i breaststroke T
swimming stroke ¥ specific 74| %{2!

simultaneously SA[0l, 2x|5| conventional 7|Z9|, 2H&%IQ1
official 274X} declare ZE3IC} AMei5ICH

separate Q| M2 Ct2 butterfly

(1) © because — because of
@ which —» when = at which

CHAPTER 09 '§2-4=t-ol=-X|

=H9| IHE 50

SAE BAPIZ]

1 3E

sii&

ol

p.154

refuse

He can take what'’s offered or refuse to take anything.
O ZSAL SAE SATSA AR

J= MI3ElE Ag Zors0[AHL ofH A0|E Be A HEY +
Tk

refuse 7&s|Ct

A8 =0{F = CHYsh 845 Xt= XIS HackersBook.com
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si&

st

and/or/but 2FI= SENR} 71501 HSEt AI2I LIZEI00F SHEE

ol

(2) so severely that it can’t[cannot] swim to the
surface
(1) © S0l 2 its own weight= HAF0|2 2, because’} OfL|2t
because of 7} 2t0F SHC} (2o uys 42)

@ 501 Z=0{(an elephant)2} SAk(falls down)7t 25 Q= b
SHHO| £t M3HA} the momentZt A|ZHS LIEHHEE, 2tA
CHYAL whichZ} OfL|2F ZEAIRAF when SE= THX|AL + A
CHYAL at which7t 2t0F SHCE 2HAICHHAL which= 26t
A otof| 2Ct (=l el 46)

A SE0 WSS Asts Yol FORE WefAE0|
2h= o|O0| 2, 20f| Q1= WAL ScientistsE 4=Alst= Z40| XpA
AT, UE F CHof Fol] SAHwere given), ZIT=X04(the

task)BF Q11 017} Q= SISt HO| T Wt AES

7t2|7 = M} Scientists S0l 2 = U BAHHAF who

7h 2 20| MHESIC (2wel 1 45, 46)

© B ZSES0| 0EA S=X| B0{FQICr 2= 2J0[0|2 8,

St showed?| ZX0{ S St WAFEO| 24Ok SHCE F0]]

Z=0{(some animals), SAt(help), £X01(other injured ones)

7h B Qe eidsh Ho| gtonf, 2 ‘s =S0| CHE CHE

s==2 08 s=X2ts 2ot &l A0 XAz e

2 O%8A ~5l=X|, ~5t= W0[2h= 2|0 = 2tEish & 2tojl

2 4 e BAPE &AL how?t 2 Z40] MAESICE (2ol nye

47)

®
HO

(2) For instance, if a dolphin is wounded so severely that

so HAt that

it can’t[cannot] swim to the surface by itself, other
Z0f SAL

olphins push it upward.

FO0El 2HO| LT (FEA/RADSIA ~sichet= 2fojo|22

thatS M= E45H L2 fso + FEA/RAL + that + 0] +

SAL SEHZ MOF BHCE W2t so severely F0f| HAt that

g 8 M1 Z04(it), SAHcan'tlcannot] swim)E MOk S

LO| FOIFEH IfeixtE2 =22 Y
th 259 di7E ¥ SES0| LE Ll =252 o9
2ref Shei7t R Hsi ChA
& QiCHH, THE S42iS0| I8 2o
OS2 E AIZESe oS A& Aol
SF2| &o| Z7/|2|Z ALO[of| A ZOfEtCh M2{Tl B77|2|= 2%e|
S R0l & +li= T 0SS 7L HEO|AM DtEE &+ QAT B
2 IE| MEIS2 227 iRz &ztoll, R22| ChE 7
S0 IAS Lo M Srt B asict

N
o

on
nr

[
SN
k=)
O rlo i roh > yo

I
-

me o

o

task &, 2t¢! discovery 274 wounded Ctzl
severely Al517| surface £ overheat 2=|Ct

are
Productivity improvements generally raise the standard

2430 =484
of living for everyone and are good indications ~.

SUAPSAL 24SA

MAY BHAS UBiHo R mE AfRlo] ME £ES £0|1 UYsH
Hle| £2 X|EOo|ct
productivity AAtA improvement &4t indication X%, =%



W) TEA= TEAMIE, toRPAH= to R AMIIE

1

Y remarked
sl& The security officer accepted the responsibility for the

= =X
expensivg});welry and rem;rked, “I'll be very glad ~.”
SATYSA S
siA 0 Zuigle vl Ao et AelS BotS 3D gl glat 1
2 27 =0 0h 2 7|& AYLICFEtD ZRUCE
o¥ security 4|, &9t responsibility =2l

remark 25iCt 1St

ZE buying - buy

si& If you want a smaller place, get rid of your belongings
YR SARY
and buy a small apartment.
SATYBAL SAHY
il proF gllo] O &f2 FAES S, ghlo] ARES Mot &f
2 OHILES ALzt

o{%] get rid of ~2 M=5iCH GlofCt belonging AR, AX|E

Y walks — walk
si& The driver must get out of the car, pump the gas, and
Fol  xEA SAEY SAlH SQIESAL

walk over to the booth to pay.

SAEY

afi4 2FXh= Kol A LHE2| 1,
71Ok SiCt.

ol2| get out of (xtoflAf) LH2IT ~Oi|A] L1
pump the gas (X2t S0f) 7|22 gct

7188 ¥n

sS4

ES 7] 2l EAMEX| 20

ct

Y ignoring — ignores
s When the doctor only spends funding on the latest

AX A
EE= BN

medical equipment but ignores the cost,
SOEAAL HREA
problems can occur.
atid olAE A oF HH|o2t Xi32
M7t ebdst 4~ Qlot

of¥] funding xt2 latest x|Al9]

financial

M0 HIEE FAISHH, MY 2

p.155

FE cutting

o4 By living with their parents and drastically cutting their
TRA SHAL SeTEA SYA
leisure expenses, ~.
59| £ M 41 0f7} H
AEH ES 2OV|E YL

82 s EUcEM, O52

ol¥ drastically 2254 cut £0|Ct leisure 07} expense H|&

e act

The tools of the digital age give us a way to easily get,

A to A
|7(1 A',
share and act on information in new ways.
toS Mafst toS MEFst SALUS
SAtRIY

SAYFBALS EA/GEADIIE]

1

s

oy

aiA

ol

BE

sii&

a4

ok

oy

oy

to enjoy

In the late 1700s, the circus encouraged millions of people
to see wild animals or to enjoy stage shows ~,
toRFAt SOHAAL toR AL

170040 0], MAHAE S0 HOJ AIZIS0] OIS
= Z0|ut s AEE|0[LA S0l 2fsf AslX|= Frf ¢
e TE3ict

fLI\O
A
N

mailing

& Instead of writing a letter with pen and paper and then

HR[AL SHA SATSA
mailing it, we send an e-mail.
ZOAt

H} 0|2 HA|Z AT
= O|HYS EHCE
mail (RE2O2) ELHCt

LM 28 QEOR Hifi= oitlof, 22

p.156

(©)
Your dog automatically knows the way to make you

feel important and loved.
AL SATBAL BAL

SHAI0] i ShAI0| BB ARILETED L] SIEE gHE 2
ojajxoz oitt

automatically RoAlXMoz Ktso=2

excitedly - excited
Looking lively and excited, ~.

BN SRBAF 24t

1 ALE Ol ®M 2, Johnnys £Y&S

2 7t ol S

while it is making — making
~, increasing your confidence and making the
EARE SelgaN EARE

presentation easier.

CHAO| EEXOI MZIES RIA|sHs 42 RFAIZIS =0|T BHEE O
71| BISTA|, SAl0] of2ie S 2251E 2

=
=
face Z|A|5lCH BHO}SO|CH overcome ZE5ICH

()

Old coins are far more valuable if they are neither too

worn nor too damaged. SET S (neither ~ nor)
A At

Qe sMS2 et
SN o 747} 3k

HASO| LR S AR aAbs|x| Qiotrtod

valuable 7tx|7t 2 7|ZE3 worn &2
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to place — placing
Compared to robots, humans are more capable of

operating machines and placing them in ~. HRIA
SEAr SolEEAr S
S2UA|HE A5 OUES HiXIStE e of HE 4 Qlotet

= 2|0|2 HXIAL ofe| ZX0{ = 7FK|7} LG &= 20| XFAAZICE
TX|AFS| 201 operating2 SHAIO|E £, and F[0| placing0| 2+
OF ST} (=wiol mhgt 50-2)

dropping — dropped
The researchers took a light, tied it to a rope, and

z0f SAb St SelTaA
dropped it into the cave.
SA
Sy HTLS0| HES JIHeIN, WB0l 2, Toj=Rckats

O|0|2 Z=0{ The researchers®| SA} 3747} LI¥E|= Z{0] XpAA
&Ct tookdt tied= IHAIH| SAtO|2 &, and 70l dropped”} 2F
OF BT} (2ol myet 50-1)

D72 TSS 7IKeM, BtE

OfEESHC]

s2olozd

o

ol |1, A

light (&)S, =% lower LH2|Ct St

o

Staying in ~ humans learned to cultivate plants and
tame animals. toRFA SATSA

102 M3t SAIIY
EUENEE S22 2s0l= oo =20| sloitkate

Tl I )
O|0|2 FAl helpedS| S%{0{ 2717} LIGE|= 20| AFAARCE w2}
M to cultivate@} CHSH toF A7} 240F BEX|ZE F{0l| LIFEl toF
HAHE oS AM2ke 4 QoD 2 SAMIS tameO| 2 70| XHH5}
C}. (2ol el 50-2)

gk X|qofl 71 AlZH {REE= A2 £

2 ZS0|= o =20] =ACt

ol=vt Al

sty S=

o

extended 7!, &7|7tol| Zxl cultivate xjuisiCt A=ESHCH
tame Zso|Ct

and/but/or FH| BEFE=EEl= HFHE

Alton’s Cookie is, wraps — wrapped

S20iAF and FI7F Alton's 7= XMoo 2 ZEE|0] QUCHI| El=
40| XpAAR{RO 2 MEF ™ LS2 Alton's Cookie is wrapped
individually7} =|0{0f SICF M}2EAM and UOA AZEl Alton’s
Cookie is7} M2tz|0] QI11, @& Zl I0jli= wrappedZt 2t0F SHCF
Alton’s 7 |= ZARZ Y HF0|0 JHEX o = HEE|0] QICt
rectangular ZAjzt&do] wrap ZEHSHCH

individually 7jgx{o 2 2i2} w2

the criminals were, deny — denying

Soiat but §7H 0 HERISS RSO HBS BolstD Y9k
7t El= 70| XiA2{RB 2 M2F M LHEL the criminals were
denying their role0| &[0{0F SICE M2tA but A0A AZE the

criminals wereZF AH2FE|0{ @)1, 2! 0= denyingO| 2t0F S}

-
=

AHS =0{F = CIRFSH &l X1Z M|Z HackersBook.com
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AH Et'('j |-J_|_

o [ |

st
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(o}
~ when you are lonely and frustrated.

EENEDRENVEEN
SO QIE T AEAS S nfete o|0|2 HEAF 2717 Al
20| XAAZLE lonelyE -ly2 ZLIX|2H HEAL0|1, frustrated=
St 2AL0|S 2 8P| LIZE 4 QICt m2bA and F
b2 20| MESICE (2ol me 50-3)

of| frustrated”
QIte| FEEe JZ0| ghlo| 2lg 1 xS =2 I

UCH= Zo|Ct.

g

o

E24
frustrated zt™ZS =7|=

leaves — leave

These bees are similar to cuckoo birds, which lay an egg

HYAEZTAD 57 AN S-St

in the nest of another bird and leave it for that bird to raise.
SOIFSAL BHEA

JRE L] ECfete olo|2 MaliAt cuckoo
SAE 27047} LiEl= Zd0] AFAARLE cuckoo
birds7t 24HAI0|2 2, and T leavesZt OtL|2t leaveZ| 2tOF
ST (20| ol s0-1)

0| HE2 7|2 HIZEHH|, A7 [= CHE Afe] SX[of s
JMZHOZRE 7|2EE LB EC

cuckoo bird {327 lay (Z2) ZCt nest SX|
raise 7|2LC} 7|RLCH

is not to replace verbal communication but rather
complement it
The aim of non-verbal communication is not to replace
to A}

verbal communication but rather complement it.

toS 2kst SAIRIE
THAISE | I8k Z30] OfLI2t 25|23 Hetstr| #[st Zo|ckek= 2lo)
7t E£|0{0F 5t2 2 ‘AV} OfL|2l 23|21 B'2t= 2|0|2| not A but rather
B2| A XI2[0] to replace verbal communication0] 211, B XI2|0|
complement it0| 20F StCH to replace= to R &ALO|X|TH Fof Lt
AL = toBHAIM to= MEF 7Hs5H0{, to complement 2 AAH 11
THO{7t =[0f R 740f| BEX| 947 201 complementS SAHAE 10
2 MOF BICE (2ol ay= 50-2)
non-verbal H|¢10{%{Ql
complement &£t5ict

replace CHF|SCH

= 2401 TI[HZ 2t0F SHCL 27 p.158
1 RS2 1 ol M2l KIS oigg elxshs A ofLlzt
olat ARACH

criminal 8%|x} admit QIFE5IC} A|QIICE deny SQIGICH

because he was, allow — allowed

2L or F|7t Tt MEPPIE AESHE 0] SI8EX] Z7| WHE
Ol 7} El= 70| XfpiAziRE 2 M2k M LI because he was not
allowed to use his phoneO| |0{0F BtCE [2EA or 20N AZE
because he was7t M2f=|0{ QI11, 2= &I 20f|= allowed?t 2LOF ST
71 YR = HHEALE J0] FEPV|E AREStE 20| SHEEX

oror7|
LS AN
HE0f| Jeremy= TSHS BHX| QSQUCE

f

occupied HH, B=3H Q= allow 51835iCt 5{2katct



we tend to, argued — argue

B and |7t Rl 22 AMAo| chslf IS st ZEo| QY
7t £l= 20| XiAA RO 2, M2f M LSS we tend to argue over
the same sets of facts7} £|0{0F ST TH2tA] and 2ol A 1S El we

i

'

SH{0| El 52 HH=C|= HK [HAI A= do/be/haveSAt= 1740 THAISHS SAIQL S2T+HUKIGHOE SITH =24 p15s

=H9| & 53

did

B as F7H 20| 2U|lMA0| LHEIHCEOl Zi0| XtiAHRDZ,
M2k & LHE2S it developed in the Renaissance 2 £ 2= QIC} HH=
e SAPE YRS AtC| 2t developedO| 22 doSAte| 2HAHY
did7} ofof stk

SA| Alcholl=, st X|[Alo| 2U|MA0] O54H oHE IA| LHsEEK] of
otk

QUL

Middle Ages ZA| Alch

have

2O but F7F I SHtst 222 EXME ZeiCrel 20| k&t
AAAZROE, M2k M LHR L the strong winds that came with it
have caused problemsZ £ = QJCt BH2%[&= SAP} have caused
0|22, have7t tof BTt

1 ZZ0| ZER&= OFF ZH T Xefstx| eSUR|TH I Serst &

cause x2H5iCH Lo 7|t

did
2 than F7F 2S0[ HEA|0FRI0[LF T12|AQI0| OH AFZfS1t
ZHeHFICPRI Zd0] XfAAR 2B 2, M2k M LIE2 they traded with
Persians or other non-Greeks2 & %= QICt HHE2L|= SAZF LEts
Ate| 2743 tradedo|2 2 doSAte| 13 did7t 2t0F SHCh
J2[AQIEE2 50| ZEA|OFRI0[LE T2 ARI0| Ot AFRHE:

o ZAECE M2 N O K= Heigict

i

what are you doing — what you are doing

what ~ doing2 FX|A} aboute] 2E0{2 2At0| YLE 0|2 7+
TO|220|2 2, what are you doingO| OfL|2} TO|2A} + 0] + 5
by 221 what you are doing &=A{ 2 2F0f SHC,

SRS BhA AAROIA| 1 2710 10| RS Bk QUKo chet
NS 5, TS Jhe B2 WS AFsor sict

when ~ return2 FX|A aboute] 2X0{2 2AI0| ALRE 0| =7t
o2 E0|E 2, "O|2AL + F0{ + SA} =2l when gas prices will
return =AM 2 £ Z10| MASIC

0 =27t S22 X 7P M2 SOot2X(0f CHst AME &

AHie st

-

official 229, 22| gas price {7t ¢i=H|

where they spend — where do they spend

but £[9| LHE0| TE2 LM ASE ELi=7et= Qoo &
BEXQI o|220|D 2, where they spend”} OfL|2} TQ|2A} + SAf +
201, 29| where do they spend £A 2 2t0F ST}

0| M4=0| 7tE0l|l 2 X9 g mtCh= 20| SFAsHX|RH J52 0iC|

(h

e

ZIHOI2E2 "OIZAt + 01 + SAE &2= 2A0F 8HCE

ks

oy

trade 7zlsict

does — is

Qafas F|7HZ40] ZHRI AFRJ0l| ZRSHCFRI Z40] KA RB R,
H2k ™ L2 it is important to the individual business2 & %= Q!
BHEC|= SA}F beSAfisO|2 2 does7t OFLIZ2} is7F QHOF SHCL

A2 20| JHRl Aldoll SR8t 2HE ZHol SRS

2 g

n

-

is > does

ZU but F7F 22 W O M2 of|HX|= F MEfStCEl 20|
KAARREE, M2F M 8

energy ~2 & 4 ULt BIRElE SAPH LESAtS] 321 Hhad
cleansO|2 2 is7f OtL|2} does?t 2FOF SHCH

O MEPI= 28 & MEfS ot oLy, J%2

= o= NEISE A
Srh 2Y H H2 X2 2A Btk

have — are

A but F7H 3S0| S=2 OFZLIH S5AHE 7HoF stopel A
0] XAtiAz|{RE 2, M2k XM LI L if they are extremely sick @2
2 & QUL BHEEl= SAtareE beESAIO|2 &, have?t OfL|2} are
7} QLOF Bt

L2 OZX| 42 ALEE ZIZ of|2hS sfiof sX[gt greF T50] O
ZOHH S A2 7H0F STt

extremely 2= 2 doctor’s appointment zI2 ofjot
emergency room 224

H=3i p.160

oM Azs BUi=7R

how vast was it » how vast it was

how ~ it2 SAt remembered?| £%{0{2 22| RS 0|F= 7
TOIZ20|2 2, how vast was it0] OILIZ} TQ|ZA} + 30| + SA},
2=Ql how vast it was =AM Z 2t0F SICt ZHYCIR 22| T5:0{ + AL,
QH0fl= how vast@t 20| how + SHEAHYOILt ~8hH7t & 4= QUCH

1 Of0|S0| YHiFES e wf, 352 J7210| Lot Heg=X]
28T 7|A93ICE

cabbage % patch &, (Ss| MLt s 7125) 22 G
suddenly £8i%, ZAl7| vast 2ot st

what methods can they use — what methods they can use
what ~ use= SA} are discussing?] 2X0{01 7HEHQIR2 20|22,
what methods can they useZf OtL|2} TQ|2A} + =01 + SAL ¢!
what methods they can use &AM 2 2}0f 3} ZHIQ2 22| T304
+ &Ah &0ll= what + HAHOIE ~)7F & = QICE
HE7IS2 020 7| RER QI8+ @S YKsh| fleh 25
0] ot S AR 4= USX] =2I5H1 QT

water pollution £% 2¢f
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=H0O| IHE 54

(0]

how ~ built= TX|AF aboute| SH0{Z B&C| YR E 0|F = 71y
O|2 20|22, MO|2At + F0{ + SAt, 221 how the Egyptians built

=ME 2 20| MHsICE

=HHo| mjiE 51~53

has — is

BOA than 7 HE AX X HES| 474 B7tst UCHR! 20| Xt
IABRO 2 MeFX LI 2 the number of traditional sports fans
is increasing@ 2 2 #= QUCt BHEL|=
hasZt OfL|2} is7} 2F0F SHC}. (2sie) 1
eATXE HE WMEQ| £ HE ARX WEQ| 47} Z7I5H= UL

CHEN O w27 S7ksta ATk

LHE0] is increasing0| 22

rL"_|'
w
)

rapidly b2 7|
(o}
S0y a5 F7HRES 230} 012 52 42 B2e 20 Yrkel A

0| XA RE 2, M2k ™ LHE 2 broth-based soups have a very
high water content2 £ 4= QICL EHEE|= SAPF LEES AL haveO|
O =2 dosAt doZt @& 20| MASICE (2xio| miE 52)

F, 0|, EDIESL 22 M= A 5 F2 I+ JZX0| 0f
=

&
© ge 42 s D Ut

Al
T
A

lettuce 4= water content 2 52 =2 broth 22 4o

how long had her mother been dead — how long her
mother had been dead

how ~ dead= ZAt know?| 2X{0{2 2F9| ULE 0|FR = 719
220|2Z, how long had her mother been dead”} OfL|2f
TO|2A} + 01 + SAL &2l how long her mother had been dead
EME LOF SHCE (2ol jei 53)

Thomas= 49| OFHX[Z7} O{E =X, 2|1
7R K] Lot @2fF=X] 20 410] FHCE

N

o] ofHLI7} Sof

woke up them —» woke them up

wake up2 "EtSAL + FALO|L, Oft S X047+ CHHALO|H EFS At}

AL ALOJOf| 2t0F 5t2 2, woke up themO]| OfL|2F woke them up
OF 2f0f SHCf

ARME2 27D OS5E MHRICHD 250 sHarsof ZZof A

JgHCE

claim =&sicH

(o)
put out2 "EFSAL + £ALO| 11, Oft S X017 HALO|H EtSAIRL £
AbAO[Of] @ALE AL F[o] 2 £ e 2 2, putting the fire out &=
O 2 Zio| MHsiCt
1

J ATl ER 240l TS 07| AIRRYCE

fjo
rr

=
=

crew (&7l 2& 5t=) @ progress ZIT, TIH

AE8 =0{F = LISt 8t XI= NS HackersBook.com

QI

of

¢

shiA

sl

TEISAL+ E2AELC| ST HBAIH EFSAIRE AL AOI0N 2F0F SHCL

O|FEQIS0| 01‘E‘71I ool m20|=E AMF=Xof 2tet E JHX| o
2 0|250]| QUCt
ancient 1cHo|

E3 p.161
change — changed
24 and F7t S0 A2|Z CHA| HEE 2 QUCEIt £l 20| Xt

AARRO Z MEF ™ LIE2 music can be changed back ~0] £|04

OF i} 0]F and 2ol HZEl 0{ 712} BH= | = music can be7t 42t

™, L= 2l R0lli= change?t OfL|2t changed?} 2LOF SiCE (zuie|

&l 51)

S92 MP3 = WAV Thdt 20| CIXIE gAe
o

eI EE + Us 222 T HAE 4 UCE

2 KR LA

has — does

Sy MOIZE() SI7HWSL0| & AHE 84S ples 2

HE He= °FEF°_| 20| ApArieB 2, M2FHd L2 creatmg

an environment ~ requires great intelligenceZ & 4= QIC} EH=E|

= SAP}requires2 LEFEARC| 391l EHS0|2 2 has/t O H_|E}

does7t 2H0f BICE. (2wo) Ty 52)
b

FIO
FIO

~

ok
E) (=]

WS ME 22 e HRE U SR YIXIEH M0| B A1 &
#g oles e ¥
intelligence @&, X|5 successfully 2 M3xoz

what the computer problem was and when it was
broken

HREC X7t 20|UT AX| 2240] DF K=XI7H SAL asked
o SH0|Z BXo| YRE 0|F = 12 20|22 QZA + =
01 + SA}; 221 what the computer problem was®t when it was
brokenQ| &M 2 MOF SIC (2o mje 53)

technician 7|&xt

deals it with — deals with it
deal with "XFSAL + TIX|ALO| 2L, O S2{0f= FX[AL
StE2, deals it with7} OFL|2} deals with it &2 2 210 T

Ltol Of2l A2 of2fzla, Lol M 2 S e 22 228 HhEL,

1|

(o]

give away= "EFSAL + EAHO[ 1,
QF HALALO[Of| 20FSHE 2, given him away =2
YoiL= S5 ESA0M 7HE §h0t2| Yd=0], O 2S5 A= 6t

7tE0l 1 =28 FHE! 0|20l 28 Bam RACt

, Ol S X017} CHEAO[H EFSAL
2 2 20| HEsiTt



=40 HE1 55 SADHZ=0{ 20

BE

sii&

oF
=t
x

oA

oy

CE]

si&

R ELEEET

ey

ol

o

Beneath the stamped mark was a note from the bank
HAE LIEUE o7 s\ Fof

in ink.
CFO| =l HA| of2of| 2o 2RE| 2 2

beneath ~ ofzlof|, 2lof stamp (=& S2) AL

I realized — did I realize
Not until | got home and reached for the house key did

24 olojo] of 7 ESA

| realize that | had left my purse ~.
0| SARIY
Lt Zlof| SRBHA T 42 &2 WS mof| Mof L7} A HEE
cto

[
#IX|ol| X|ZS F2 ACs WS WEUATE

realize 7HEiC} 2ofxtZ|CH

they can create — can they create

~, rarely can they create danger for humans.
ESENEE]

=S4o| ZatAE OS2 ztol| flds

ouse ge

o 4= it

|

72| 07|

ol

poisonous £49|, 0| Q=

Mlnl TEST stte) ayet 54~55

put down it — put it down

put down FEFSA} + £A}L0| 1, O|uff 2017} CHHEALO|H EFS AL
oF EAF ALOof| 2t0F 5t2 2, put down itO] OFL|2} put it down &2
2 2O ST (ol mjei 54)

T Aol 4R 0|IZIT6M Jl4= OAE s S 5 AT

absorbing E0|ZIZISH OF2= xH0|Q=

(o]
HAE LIEILH= 017 Inside the boxes7t 2| QHZ0f gtz &
A7} 301 2to 2 EX|EICE [M2kM are computers &2 2 2 240 &
EIBIL}. (2ol mie 55)

O M7t etoll= AHFE, S &|, 02|10 HE SFO| O

7|£0] Ut

Ty
b

=l
equipment | sort 7 |
high-tech #|&tto|, Het 7|&9

waited him for — waited for him

wait fore= "AFSAE + TX[ALO[ 1, O SZ{0{= TIX|AF 70l +OF 5F
B2, waited him for7} OfL|2} waited for him =9 2 2}0f 3t} (2
o] IiE 54)

O 7k ROl 25 F=H2F R, WSR2 SE610] 15 7|CHRCt

people will - will people
Hgte| 2|02 71l 07 Only if 7} &e| 220l e 2 ZE AL will

@= A FZ20I O

Z=O|oHOF SHLL. =3 p.163
dE O
die Across the sea sailed the ship, ~

LS LE= 017 SAF o
st BICHE 7t28e] Hi7F s, 1 = O[2IR S S M Yo 2 HlE

24T,

ol%] immigrant o|2Ix}

= Never violence is = Never is violence
SAt
si& Never is violence an appropriate response to a situation,
sgonjo ol Fof
so it is important to control your temper.
siA EZ2ie {2 AMEHo|| et A H20| ofL| =

T2 O
Hsl= 20| ER3ICE

gelol 5t &

ol¥] violence %3 =3l response £tS, 2 temper 3}, 40|

22 hardly Greg had fallen — hardly had Greg fallen
haveSAt
84 ~ hardly had Greg fallen asleep on Saturday night.
23 ojnjef of 7 zof
did EQY Hf 19| 0|20] S22 ATEA E7] AIRFIE W, Greg= A
< 70| S0{ QURACE

=3 p 165

0| Z=0{ eto 2 T X|x|0{0F St M2kA people willo] OfLIZ} will
people =2 & 2F0F SHCL (2ol mjel 55)

Al QX1 0| H|Y QK| |27} F=4E|0{0F0 AIMES O} =11 HS AR}
2rEe ZoIct

oj¥] duty 2|2 confidentiality H|Z SX|

respect =46t} Z&sICt consult AEsICE tCh

ol

L &9

q2 O

s EACHZAL whichZt 2Hol| Q= A18A} a ‘technology shelf'E 7}2|7|
D2, THX[AF + ZACHYAL on whichs HAE LIEILE 0@t 2
Ct w2k Foll 0]0fX|= Mol SAPE 0| Ao 2 EX|E 4= Q2
22, were placed technical solutions &2 2 & Z10| M&E3|C} (=

Ho| T{Ed 55 EhH| LOotE7])

S|AtE 7|2 Mebolet B2l Zig Jisien|, O 9ol o2

o
=zig7
=0| D2Hol| Ar8E 4= = 71=% s 2HS0[ s 0IFL,

st
er
==

o]%] develop 7iefsiCt solution s{ZH

Y why don’t you turn off the TV [turn the TV off] and
walk the dog

s ‘~sheE 20| ofmfi7’2h= 9|oje| SRl why don't youE I M1
~2 NC{Eh= 2|0]2] TEFSAF + £AL turn of fS AOF SHCE 2|
EX*CH the TVE CHHALTL OFL|2} HAIO|Z 2 EFSAIR £A (0] 24
7L}, ELSALRE 2ALALO|O £ I QUCE (2ol mjsi 54)

o{%¥ concern ZHAIAL
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Hi OF& S
0184 BHE TEST 23 p.166
01 | review 02 is 03 settighmup 04 heard S~ J=FEE52 IS MM, PSSOl Lot 2 &30 U=
05 awarded 06 has the quality of architecture 07 ' unhurried K| ot8ls] Hetn @Fstn, LEXAH SH Halg FULCE
08 O 09 collect 10 O 1 @ of#l marble 7% guess Yo9ts|Ch FE5HCH
ZC} 40451
12 O 13 0 14 O 15 © award L, -0{5tct
16 %i‘jowt‘,jfo Dr?gati’_?know_’ how predators know 06 ¥ the quality of architecture has - has the quality of
identify — identifying .
(2) did predators attempt to drag away the black-and-white foxes architecture
died Never since has the quality of architecture been
01 FE review F@olnjelof  EEAb . =of
N ) . . o achieved as fully as it was in Egypt.
ai& | became a medical curiosity, causing some specialists )
=AF =x0] HXol o|0|Z J}El 047 Never since?} Ho| AZof| ooz =5
to take an interest in me and review my case. ARl haveSAZE =0 2O 2 EX||0{0F SICE [M2EA the quality
toRFA SITSA toS W2st SAHY of architecture has?} OfL|2} has the quality of architecture £2
2 Lo A 2HalE ZHK|T LIo| AlIE AESIChEk= QDIE 2 QtOF BHC (o) i 55)
01 some specialists F|0fl S =0{ 2717} LtQ&l= Z40] XteiAa a4 1 0202 O|FE0i|A 12d0| I3 oS HE 22| 440 2k
Lt W2t to take@t CHSEH toPFAZL 2t0F SHX|ZE Fof] LIEE 5| FHE M2 iUt
OFPALS 108 U £ ACTR, SAAY review?} <[0SI 0%l architecture 715(2) 758! achieve ZHsict
(=412 T 50-2) fully 23|, 223
il e
aidl Lhz olstNel S7|MAHR7E 29I, B MEJHS0| LiofA 2dlg
7RI LEo| AtHIE HESHA| FCt 07 %= unhurriedly - unhurried
o1¥l medical o[3tx{9|, oJste| curiosity 57| 84 The pace of the baseball game is leisurely and unhurried,
specialist X127} review ZHESICH like the world before ~. UBAL SATSAL FEA
02 XY is U O A7|9] SETHRELD =RSITFElE Q0|2 FE-8AL2
- TH7F LR == 20| RIIAREZ, and {0l A unhurriedly?t Of
siia 29A than F|7t ‘DenaliAto] &=Ll Zi0] XjpiAz{@O 2, Mk T LI2} unhurried?t 2FOF SHCE leisurely= -ly2 ZLEA 2ALR] 24X
L8 it(Denali) is highZ & == QICt BH=El= LI&0] is higho|2 2 HO|X|2t HRAIQ} BAL S CH2 40|04, 0] 2X0|ME beSA} is2|
's7F SHOF BIC (el et 52 02 MOl HRAOICE (el il 50-3)
ali4] H|E Denalith2 SOH2|70f| A 71 =2 LHOIX|2H o2 A ELH S14 OFF Z7]9 2= =XE A7ke| 70| Q17| 0T MAHKE 019
2 1740] O ZHCE W o =01 =7 L35t
ke A A 3 i ozmo 5718
03 T setting him up ol%] pace £, £52 leisurely 0{R22, sttt
unhurried =36t MF2Xx| 4= discipline #&
81 set Up2 FEKEAF + SAL0|T, OJ) SEO7} CHIAOIRH EFSAte} &2 A=A pline ri &
AL AFO|Of| @FOF 512 ing hi 202 9O} B} (2ol
FAO[0i| 2{OF SIE 2, setting him up &2 2 20F BHC}: (2wio| uel54) 08 ¥ O
A o8l 7t 74o| Zt7to| Ro|Kf= EH5H NI=RT>S] .
o I_;EO—,E:L_J ?I; | 82IXH= M7 O KRS 280l thf si& If cars have mapping systems, the systems show where
cc IR . =2
SRR EIE 2 they are going and ~. IBA}
ol¥ suspect 9|k} accuse ~0||A| Z|E A|RLC} nSICt =0] =AF
set up ~2 280l 2|t ~S SRS crime 53,y where ~ going2 SA show2| SX0{2 29| YRE 0|2 21y
O|ZE0|2&, "o|2Af + 501 + AL Q! where they are going &
04 B heard o= 2 0| HESICE (2wiol el 53)
o4~ small girls should be seen and not heard. 3141 OOk XI2F0|| K| A|AEIO| 9lom 11 A|AEIS TS0 0iC|2 7}1
= SEY " — —O= —
FEN be pp SEESA - eo QUER|et 8t A4 2 THe Jhat B W HOJECE
WA and F|7H A2 AHS2 SHME oF BRI 0| AR L
o2, M2F A LI 2 small girls should not be heard7} E|0{0F SHCH 09 ¥ collecting — collect
(e and §fe AZE 017t gh=gl= small girls should be7t 4 4 A designer must both examine the conditions of a
2F| 1 = 242 not heardO|2 2, heard7} QFOF SHCE. (2o mjel 51) FEAF EVEIE
A1 MatildaZt 012 o), L] HRLS 42 A|TR2 4002} problem and coIIe(_:t data to solve it.
221D 11407 B2 ALSS =00} 51 S2iA= ot Elrin s
ST} 2OA MENE MTE #EF OfL|2t HIO|E = £ETsoF SCtets 9f
o Zofl SAF 2717} LIQE| = Z40] RIHAARICE ZEA
02| chatterbox £CH0| |2 must Tloﬂ;o f2 H_l’ FEE|= 20| RFAAZCE ZEAF must
= ol SAFE0| 20F 3t2 2, both ~ and F0i| collectingO] OfL|
05 ¥ awarded 2t collect?} fOF SHC. (=il mie 50-)
' . SHAt A L Dg|o| AFEHE AMI{E BuO 7S slzst
& He filled a bowl with marbles, asked the students to si4 SRt 2RO HEHE M2 ol IS sz HolHE
0| =Af A SZlalof stct
guess how many marbles there were, and awarded a free ol#l collect 27l5ict
lunch to the winner. SESA SA
2oy 0t TE2 IRS MM, Lo 2211 27511, 28 10 35 O
AtoflA Sm Malg FRUCrEh= o|0|=, 01 Hel| SAF 3707t LI sla 2WA but also F7t0[Z! AFRISQ1 Z10| XIHIAR QD R, AMaF &

= Z40| AFAARICE filled2t asked= DHHA|N| SAIO|Z 2, and F
0il awarded?} 2{OF SIC}. (=#io] njs 50-1)

66 HO| MHS =0{F £ CIYSH stE A2 HlE HackersBook.com
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LHE-2 those who win@ 2 & = QIC} BHEE|0] M2l SATL gt
SAtwin0|E22 doSAt do7h 2 Z40| MESILE (=wo) s 52)
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sii&

&atoj| chigh Z| =92 0|7|X
& o2 =80| & == AT

performance A1}, X

et H7IAHERE OFLIRt 02! AL S0

participant 27}t

@ instructed - impressive - did

(A) I have coached Ashley in soccer for three years and
PIETIETT=) SeATSA
instructed her in Spanish for the past two years.
(=1 have instructed)
ZWeF and FI7F ‘Lhe JHE XE=FCH7L El= 20| XpeiAE
LB Z MEfL|7| ® L2 | have instructed”} E|0{0f SHCE O
& and 2| gE 07t BH=EEl= | haves 21 H2

instructed”} 2LOF SHC (o] miE 51)

(B) The commitment ~ has not only been inspiring but
impressive. oA
EER,

T
N e
NS
rg M0
W H
mn
ir J
oy
=

AL
Rl
s
kl
AI
il
rir
o

S ®ot ofL2t QleXo|Cy k= oj0|2
K AABCY inspiring= S8AF A
At &7 LIGE £ IS8 2, but
Flof| At impressiveZl 2F0F SHCE inspiring2t impressive=
SA} has been?| HO{0|C} (2o mie 50-3)
(C) | believe she will take an active role in college, as
BrEEl= Lig
she did in high school, and recommend ~.

(= she took an active role in high school)
QUBHEA}

=S

Mo o2t Ho
or 00 12

n

5 3%l o5t
0| XIAAHROZ, M2k ™ LHE 2 she took an active role in
high school2 & & ULt BIEEl= SAP LUtsSAe] 1Y
tookO|2 2 dosAt 2= did7t QFOF SHCE (2ol st 52)

K= Ashley Hale2 2IaiAl SHAl0I7] 22 HLICE K 3¢ Sof

Ashleyoll7l Z72 XD X|ct 21 S0k L0 ATRI0fE 7}

EXELICE AshleyZt OL42| 250t 5t 30| 2ojE sl 17

Kl 0t ofLja} QIAHOIRSLICE Ui X1% el v Hl 50|

Lt 2IS0| 150| SEE e 4 YEE 57 SIsf 815 O =2

BHLICk M= JU47t DSEmOlA JRE 9 chatolAE S

ol jgks g Zio[2t Mztsta, g0 JHE ghilel chatof it

AlZ|lE g HELICh 2o ghlo| 7+ HEIF HeotHM, iXIEX]

A oAzt FMQ. Al LIFMH A ZAFRILICE

S as F7h T DSSHROIM TR S YOl X
AH

oN

hid

on behalf of ~2 9lal, ~2 Chls10{ commitment &4l
athletic 52| academic 5}2{2|

inspiring nRxel, Aefst= frequently xiz

go the extra mile &t O =5}ct

® admit -is it - give it up
(A) Asking a few simple questions gives people the
chance to explain themselves or admit they ~.
toSFAF SSATSA 108 H2ret SAY

AL SHHESIALE Q1S 7|5 2H= /0|2 WA} the chanceE
AlSh= toREAF 27070 LIE]= 10| RFAARICE [W2fA or
Tl to explaint CHES! oA} 2F0F SEX|B Fof| LIZE
tOREALE 108 WHE 4 QOD=Z, SAIH admito] 2f0f 3

C}. (ol e 50-2)

=
=
A
o

(B) “Yuck, not only is it disgusting, but ~.”
23 oloje] o] SAFF0f
89| 2ln|E 71l 017 not only7t Eo| R0 222 bes
Abis7t 3201 22 2 EX|=[0{0F BHCE TH2tA s it &2 2 24Ok &
L (24o| o 55)
(C) It will also encourage her ~, and she may choose to give
it up on her own. EtSAr

S 50f =it
(e

give up2 TEFSAL + 2ALO| D, O|mf SX0{7} CHYALO|H EbS
AFb AL AtO|Of| 2F0F BFEE, give it up &= 2 2O BHCf (2
o et 54)

i

13 3
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14 73
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M
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id

(=3

A
=

M
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[=3
=

A
=

F/PEAEE HMeE AE 2 Y E2 YEE Sl 8
0] 2A 2 SRICH= ZE0] 0|27 stz Zo|ck E 7HA| Zhetst 2
S St A2 AMES0I 28 AHUE| YEE sligst ALt 2501
SFE LA AIEfsiof Sithe AE AFE 7I3IE ELL HIE S0, Y
Mo 7 zlgt = T2 S $11 40f oot g2 "=, O
4AE T OfL[2f, moje2 LR FLAojoFEf 2ed 4= QICt it

of, “OtZ A ZX| o LT of g SR et 22 R K| |=
2 otz A2 ofEH7P 0|22 FAI0| 49| ol thsh At
PA

save face #|PS MLt #1|= M5iCt conclusion Z2
explain oneself x}7| Qzte siHsICH

go back to the drawing board XS5 CIA| A|Zt5}CH
pierce 1Yg £Ct disgusting 21742 infected ZtQ=l

® reaching — reached

Q Fliy 'el=8Es LA, FHof| =Ry 2H= of0|= F:09
Wee| SAF 2707 LIGE|= 20| RAFAAZT, trustedZ BEAAIK)
SAO|EE, reaching0| OtL|2t, SAt &S &t 4+ QL= reached
7} L0k BICE (2ol me 50-1)

O 2UY ‘2= 22| Mg FIUCPEh= L=, SAttiedo| S

17} Z20{ weet Y CHAMS 712|712 2 M 7{CHH A ourselves

7h 2 20| HHSICE (=2uo) ae 29)

@ "1,000L|E Oz 2 HO{X|= ZI'0|2k= 2|0|2 HX[A} from2| 5
04 Xt2[of| 2ot 5t2 2 SHA} taking0| 2 Z10| ZHSICE keep
A from B= ‘A7t Bot= A2 YCF2h= SEOICE (2o ms 21-2)

@ ZUy THZ AIRSS 2= 20| E28CHE 24Tt 0[Z40] Qlo|

k=3

CHE 220 HEEtts Ag Lrfets Q0|2 SAL learn2| =

o

o

Ho{ HeE st BAME 2717} LIkl 20| AFAA-LE and/
or/but2 AfO[0l| &1 7|50] 22 Eap Ho| Lt 4 ez

YAFE &AL thatO] 2 20| EESICE (2eie) mjgl 50-3 gl 2ols

Uy BIEO| O WEE, g3 7tsd2 O AHXICrel Ao0| A
St 20l The moreZt QS B 2, Tthe + H| & ~, the + H|m

=

=~

=

g ~24E o -slthe 2E 4 = Hlig better/t 2
20| &2

S|
A7kR1 LES| 30] 13,776 M| E Q| Grand Tetonoi| LHE 2|1 22t
ol At A2 FMRCH 227t S2HE 5T, O A2 7HEA
T AEM, 22| 22] & B Yol Bo{ME f2(9 E52

7] flall 22| AAISS| 55 M HEZ |ACEL 2 SE2 UL
O0U|E of2l2 Ho{H == 22 & U 2fof FUCt f2l= 2 8¢
0] 2[o| eFiE AIAZCIL VI ORFL Foll =E3UCE G
HEZ MZE FoH, Y2 L
Zdat o|ziof eledel ChE 20

= o
e AE 2
Ao| 7H BBl O a5, gilel d3 7tsde of & 40|

S D ron

o

o0 i M

rope up $t=£2 MZE fCt apply MEg|Ct

@ what - that
(@ Since ~ led people to believe that dreams were
toRFAL  HAE  F0|  beSAb
messages from the other world. &5
Z7{gof

2 Fo| HAXZIn P=CF2k= 2lo|7t = 230 Riiaz|

2, UE ZI CHo{7} 0| 11= B2 toRE A} to believe2| S%{0]

ofehg sh= YAPHO|CE 2= Fof ZR0(dreams), besAt(were),
T2 H0{(messages)?t 25 QU= 2tMsH Ho| geo =, 2=
ROfli= whatOl OtL|2} thatO] 2tOF SHCE that2 HAFY FEALY
f ‘~2t1, ~2h= Z0j2h= 2Jn| 2 ebdsh A fof 2 £ Q11, what
2 E2XI5HE 20l 2= HAPE TLHAO|CE (2ol 1 47, 48)

@ ZAFE Though ~ futuredf 047} Iz YOO 2 FHO| F0{
dreams7t 2AH22| o|0]4h 0{0|Ct Y ‘HO| FeI2Z 0f
AZICr2k= 90| 2, dreams?t regard?t LIEtL= ‘0171 &l

=]
==
oO
I
[ez}s]
=

{5}
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HAM
A

o| THEd 24-3)

th&0|2 2 BfHZA regarded?t = 10| HESICE. (2
=) #% }dreamOI
=AY

® thatA2] Z=0{ individuals7t £24HAL0|
2 740| MASICE who ~ one(ZHAE)S £ | P&k Olx|
X| b= =20{0ICt 2EE Mo = HH, o kol 1t2 7+3:04
0], that®2E{ one moreZkX|7} TIFF 220491 thatO|Ch (2|
I{Ed 01-3)

@ By T B I AR S27t0l|A MSHE A LA =|oFet
= o|0|2 0] the dreamer2| SAF 2717} LIGE|= Z40| XfoiA
2ICt Z20] the dreamer7} BHEHALO|2 2, and FO|Z EHSA}
finds7} 2 Z10| HESIC (=ee) ae 50-1)

® F9 I—.—Oﬁ (one), SAt(has), _.75.01 (concerns and fears)7} 2% Q!

Ab + BACHE AL, about whichZ}

e ], Eo| iAol BE ARISE S10f HOl 12 Mo
20| HAIX|2tD 24| #HC et Ojetof ot o|0] Rl Heto

2 O{AXIX|2E, SO HIEA] OfH 2S5 of2A5H= 242 OfLICE Abd, O]
OfZ0f| thet et 7= T3 QICh AlShe Algte el 2ol ol
3l 2otz AIRZIS0| 1 Ak ARl tis & O = A2 2
5| AFAOICE BFof 11 B & ARZHO[ ol M IHofh =0ff =x7tof
A TISHE Z0f Al SHE ARRI0| JRUth=E Ae %*71| Eoid, 1 52
71 0 2E =29 o|A0I2t1 017 |= Zde oI5ttt shX|at 0]
A2 Fo|ck 718 &5| O AFRIO| 7—.’88P Feieote o

O|Ct

mysterious £7tAto|5t AlH|EH nature 2 E7
communication ®¢1 A= predict of|45}C} o =5CH
absolutely #&{, "rjxo2 theory 0|2

assume 047|Ct EXsICt vision 0|74, M7AX|Y

® were — did

® 29 so 77t ThetSat 7|¥E0| I8 AREE AGCrel
20| ApAARRE 2, Mk ™ LHE2 colleges and businesses
linked up their computers2 £ £~ QIC} BHEL|= SAD| QUbts
Atel 243 linkedO| 2 2 were7} OtL|2t doSAtS| 24743 did7}
2tof SHCt fso + do/be/havedAt + F0{,= (FONE GA| IH
Chete 90je] EHOZ, do/be/haveSAZE 0] Qfo 2 T X|&|
O QUC} (2ol mjet 52, 55 347 20H=7))

@ turn on2 TEtSAH + £ALO0|D, O SZ0{7} HALO|H EtsS
ARl EAL ALO[Of| @ALE EAL Fof] 2 4 J2BE, turn your
computer on 9 2 2 Z10| HASICE (2uo) mE 54)

Q@ BUN w7t UEQEX| FF5ickets Qo)7L Bl 40| XA
2le22, @& Tl who? 0|1 H2 SAF wondere| 50| &
&S st YAPHO|CE ol SAHmade), SX0{(it)t L1, 501
7t gle 2eidst Mo| gton, “Frrets ojo|7t Eofof stez
who7t & Z40| MHsiCt who ~ it2 2&e| YFE 0|2 & 7
OIZEC 2L = % =0, when ~ began®t 74| and 2HFI = Lt

GEl 2702] HAPE =X0{0|0, 2| 2AL XEA|7F ZHEHS| 2 22| =01

gts sh= 42 "QlE2At + SAL| FEHE 2CF (2ol ujg 47)

WA HEEES sty FEE SR/VIE Hcrets 9

2 SAt wanted®| E=X0] Aetg sh= toREAL 2707t LIFE|

@
nr = Hu 12 m

20| XtAAZLCE and FOf| to connect?} CHESH toB - A}
2Ok SHX|ZE 70l LIFE toRFA= toS e 4 UASBE,

SALIE shareZt 2
@ Z=0{ four computers?} 24HA0|2 2 2LZAF wereZt 2 A
O] Z{HsICt in different cities= 4 X|0fl &2 OIXIX| b=
FAO|ERIAL + BAFO|CE. (el mhet 01-)
O|_|E1|-‘||9 7:1m L-:F'_rﬂ O}gjp EM|O| 9“-‘-’-E1E 9454 EI-)\ % IJE%
A7 AR AU BHe H|of| OHS AFRSE £ QT A2 OlF Ul

=L o= T l_l_ —
Of AH| A=t
A

Z10| MESICE (2ol mE 50-2)

AN F7F %S UEUSK SSAMLX| = DECE AF
A, QIEHI2 19600l A=|ICE Ol= FHRIF 2% AIRFICH
O HRE M2 OE "o s gRESS g 2%E 2|
YEE SHOVIE HICE 0|22 M22 2o|leH, AE2 0
ol AFEIS 2 iZsl 2 Mol UACEL 2 YR YHS LopL
OF 3Yct Dzi2 = H0| 2R OFEU, M2 ThE Aol L= dl o

AAHS =0{F = Ot 845 XI2 X|E HackersBook.com

16

sii&

2
¢

S SH| AZEIACE T HREHSE2 HEES
oh 2 O M2 ZFES0| FII=iCt thE

B2 7‘|EH°H3EiEf.
2totLiCH hook up Y1Z&}CH

(1) @ how do predators know — how predators know
® identify — identifying

(2) did predators attempt to drag away the black-
and-white foxes

(1) @ She wanted to learn how predators know a skunk
is a skunk. oA Fof SAt

how ~ is a skunk= SAf learn?| SX0{Z2 279 AEE 0
2= 7HHO|220|2 2, how do predators know?} OFL|2},
TO|2A} + 3201 + A}, 2221 how predators know &= 2 2}

OF Shet.

(22| T{El 53)

® She concluded that experiences of encountering a
HRAL SHA
skunk and identifying its colors and shape teach ~.

SATYSA SYA

2 AT} OFFEX| 1 M2 MZIME Sfolsh Aozt
= 2|02 TRt of Flofl SX0] & 7X|7t LtE|= Z40] Xt
IARLE FX|AE 2X0|Z2 SHALS F[5HH encountering

S SHAOIE R, and 0| identifyZ} OFL|2} identifyingO]
<tof BHCt, 51 50-2)

(22|

(2) Never did predators attempt to drag away the
sgon 254 FOf SARY
black-and-white foxes as well as the gray skunks.
259| oj0|E 712l 017 Never} He| %0] 002 ZSA}
7t =01 FO 2 T X|=|0{0F BT} ZE 2| SAt attempted”/t Lt
SAS| THFHO0IZZ Never HIZ Flof LRHSALE Citlshs do
SALS] IS didE A 221, T Fof| 2201 predators2} SAL
e attemptS MOF ST (2o mjei 55)

OfM =2 1722191 Jennifer HunterOf| [f2H,

OI‘— iAIX|-': e 7 :Ol /\H77F7’. EEOJ» AH7 H

230 gt Zelo
= Lt W20 282

i

BTk D TARIS0| AZA7} AZAEHE 2 OfEH OH=x|
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3. fills

seem
Memories of my behavior during childhood seem funny

=470f HR|AF+ BAFT TR+ EAE =2 SA
to me today.
Of2l A Lto| S0 st 7|92 R Lioi|A| 229/ Heltt

behavior &=

does

Artificial light, which contains only a few wavelengths
B4z A

of light, does not have the same effect as sunlight.

cSAt

olZ Yo yo| U npmet mEsin Y 22 &3S IR Y
x| g4c
is
The historical idea, formed in the concept of us versus

EE SA
them, is strong enough ~.

CHeSAL

22| o 250[2k= 7HE0IM FME Al 2HES U2 AIRES
=5t oS oHE &85 %*i‘éftr

0II

historical &JAt&Ql form dA5iCH argue =Z5iCt

OolI

are
The bodies of flowing ice we call glaciers are the most

2470 @AAF+ AR WAE 2454
amazing of natural features.
Q27 Jstetn HEE S2& 2

ol £d & stLio|ct:

22g0i2IE

ro

b =2k Aoy

body Hoiz|, & glacier &5} feature E%l, £7{2|

has — have

As a result, our efforts to develop technologies have
LR toR AL

shown meaningful results.
2 sferlais

ZMHo= Jls
Ak

e(of =32 ofn| U= Y1t 2o

effort =21 develop 7H&5tC meaningful 2|0] ¢l=

o

4 Although sound that humans can sense is usually carried

A
Che3

through air and water, ~.
QIZHO| R 4= A= 22=

So o2 T3S £YS %OH XdoH’é! 4= 90t
e

A= EEA}

OT3S

37|29t 22 Saif M=x|et &

sense ZX|siCt =Ct soil EY &

ensure — ensures
This way of building new knowledge on older discoveries

ChZ0f FR|AL + AR TAR|AL + HAL
ensures that scientists correct their mistakes.
ChSAH
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ol¥] knowledge Xx|4! discovery &7 ensure BIEA| ~517| GCE
8 ZJE are-—is
54 Stonehenge, the 4,000-year-old ring of stones in southern
ChaeZR0] dels
Britain, is perhaps the best-known monument in the world.
ChEA
aid b= HEO[ 4,000 B M50 12|l AEX|= Ofote A|Aof
A 7Ve Q24T RH ZO|Ek
ol monument S
— —
SHO| fiHE 02 935 p.3
1.t 3SAE 2. SEARE 3.is
1 %E helps
si& In most cases, planning for our future goals helps us
reach them. CHEZ0{(S YA Ch=SAL
sid ool 22 22lo 0f SRS S 9is At 22 227t 2
SOl 2 = AEF EoECE
ol¥ plan Aglsict future o2 reach =5t
2 ZHE reveals
si& Usually, who people have as friends reveals much
ERTO|(FARE) EHEAf
about their personalities.
si4 =S ARIS0| HRE T 0jS e J5e| M2 s Be e =
2fHCt
o]%] reveal =2{LiC} personality Az
3 FE wear
ai& At the marathon, competing athletes in the event wear
athletesE $A5t= SIRIEAL 2470 HAIAH+ BAT BASA}
uniforms made by our company.
afid 1 Of2EE0|A, CHEJol| BV st M52 P2| SALBHE |RLIES
Ol=C}
[= -
ol$l compete (A[gh-Z7| Soil) &7t5ICH A™SICt athlete (25) A4
4 ZJE depends
sl Whether climate change gets worse depends on the
ChEZR0{(FAMR) ChSAt
choices of humans.
aid 7= Hat O MZisiEX| OFX|= Qlztel MEdol Ead ATk
ol¥ climate change 7|% 3}
=H9| miE 03 0|3 p.4
1. 245A 2. 88At 3.poor 4. LIO|7HE AREE 5. blind
6. think
1 %= requires — require
& The aged require health care services more often
2450 SREA
(the + HEAf)

than young people.

LIO|7} E AIRIS 2 A2 AIRISELC 712 22| MHIAE O i 2
Q2 §iCk

require =R 2 I}
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a4 Unfortunately, the poor in this country have few
=430 AL+ BT ESEAL
(the + HA})

resources ~.
dtid SR™SPT, O Liate] ZHEtet AlIS 2 RS2l afs AP = Ol
=F0| 2 RS HOf ZFX| 1 RUX| it

oj¥ resource it

3 %SH were— was

s1& The homeless man carrying the boxes was living in
Btz EARR

[

a tent under the bridge.

i URIES LI20 = eskhE T2 of2Hol HIE0H| M A1 AT

S
ox
of

o

sl& These days, the unemployed receive many benefits ~.
2450{(the + HEA) S4SAL

84 9F MeiRiSe HHRuE Yo s e wert

SH19| IHEl 04 3% p.b
1.B2/42ES 2.was 3.H2~ 4.YA 5. are

-
oX
it
=
)
<
o

aii2 A number of new species have been discovered ~.
Z0f(anumber of + HAD  ELZA}
=

a4 kst Aol ol H2 ME2 ES0| LHE=/UCE
oj¥ species & discover 2f745}C}
2 JFE was

1q

di& Last year, 20 percent of economic growth was due to
FOYMMIE + of + EIHAHAD CHESAL
increases in exports.

EH0], ZH| gFe 20HHEE £52| B2 WEZ0|AUCE

oF
=t
Iz

2
¢

economic Zx|e| growth A%t

3 ZE advises
s~ One of our friends who was a teacher advises giving
Z0{(one of + HA} 2AE Eh=SAH
calendars to children ~.
si4 DAL 23] FTE & o W2 ofo|SoiA| H2ig 52 159

HollN Q8 BE AMASS Ho2f HMEHC

ol
el

of%] advise s}t Z5|C|

4 % has— have

s& Clearly, some of these practices, such as eating a

Z=0{(some of + S=HAp TX|AL+ SHA

high-carbohydrate meal the night before a sports game,
have become common.

EEEN
84 EE| AL 27| He ol DESIS AEHS B 20t 212 o]
25t BYS B YL S

5 7 contain - contains

oF
=
[l

Much of literature contains a rich source of information ~.
Z0{(much of + AP CHASA}

CHh 5
M2 Zol2 Zslol| cist S8 XA fES B Ct

ok
=
=

2
1

literature 23t rich &35t
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Because most of the planets in the solar system have
Z:0{(most of + Z4BAN HERAb+ EAL 244

245

harsh environments, ~.

EfA0f| Q= CHRE 2Ol M S0| st st 7K1 Q17| =20,
O

o
XS0l YEAHC| SHE Fh= A2 710l giCh

planet 34 solar system Ef2f7| harsh t2fst 7zl
environment &2 evidence =74

unlikely 7130| Qi=, 838 2 ZX| ke

| THEd 05 9a=p.6
2. MEAL 3. are
receives

As time passes, she could become a famous artist who
HEAEEEA) 57
finally receives praise for her excellent paintings. /M2
HHEA

AIZHO[ XIgfol| w2, = DFEL XHA | fHojeh Do 2 FhAL

2= R olEvivEE 4 S AoIC

i

praise %A} ZI%t

share
Judith Rich Harris, a psychologist, says the world that

SXZ HACHYAL
children share with their peers is what shapes their
24700 B4SA

behavior.

Al2[8fxkQ! Judith Rich Harris= OFO|S

=
Mol 259l dss ddst= A0zt

0H
rir

0| 1S9 et 295t
5iCh

psychologist Al2|stx} peer £2l, 52

was

There is a gold crown in the temple along with the bones
of a person, who, it is assumed, was an ancient king.

HBASETAD =7 o oAl
EACHBAL

APRIOlE, FYEVIE, 100 Z0IUE AtEfol et 2H =200 QA

crown 22t temple Al assume FH3ICH ancient 1cjo

we, was - were

| wanted to know more about the inventors who we
257 =2axof

ZAICHE AL

were learning about in the last class.
SESA

L= 27t Xl ol B QAAE LHIHSOf sl o 2
Alotct

inventor 2347t

a simple matter, are — is

Offering help is a simple matter that is not so difficult ~.

HBAKELBA) =2 T4l
BAChEAL

EEE FE A2 02| OfFX| 42 ZIEeE U0, 27 ARRHof|

TS > dulE AS 7|5k Aat 2ok

a few devices, tests — test

The spacecraft carry a few devices which precisely
MBAHESHAD 7 BACHHAL
est the characteristics of planets.
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2. enables

causes

~, it is a construction project that causes citizens to
L= (ST ERSAL

be stuck in traffic.

AZISE uE MBS0l 237

IIE A
s,

St 22 74 AfRdo|Ct,

construction 744 citizen A2l stuck sl traffic nE

are
~, itis leopard seals that are the most common predators

BEUYESFBA)  S53A

S+5
of penguins.

HEf WMof| =, Ero| ot

7Hg

Tl

ki

AXtE 2 27H0|Ck

biology 423t leopard seal # 27| predator ZA|X}

discuss

It is the moon that members of the astronomy club mainly
ERes TR|AF+ BAFT

discuss during their weekly meetings.

Sol2)2| 32150 1S0| Z7H DRloflA 2 =

olst= A

FW

astronomy =25} discuss =2|5}C}

matters
Most people agree that it is love that really matters ~.

L= Y (E7HHEAD EhSAE

oF AfA| ZhO| BA O M HE S0 A2 At

ch 2ol ARt
ol ol

50| 22
Soletct

agree =9|5iCt relationship 2t

3.notonly 4.are

is— are
Rarely are the waves dangerous in this area of the sea, ~.

55 2354 545

HICIS| O] X2 mi=7t 9I3iet 2R7F E20M, QE EP|Z 217|
7t AL,

o

~, then there is a chance of false results.

& BAEA Baxof

RrefrefslAE OS5
sff 2ledoll HIZ S A=

O MZ0| LotLt 22HE H e 2Felsh| 9

SICHH, FRE 2Pt L& 7Hs80| Utk

experiment 4& product HZ

was — were
On the roof of the apartment building were placed

oY EPNEIY
solar panels that supply power for the residents.
22701
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S0| Hx[=[0f AUCE

solar panel EfgF Mx|zt supply 225iCH resident =0

()

2 Not only do we cooperate with others to build

ks BAEA E4

relationships, but we also compete with others for friends.
2= 2AE FYstr| flal THE AlRtSaE &=ig et ofL2) 17

=2 ?loll CHE A2tSa sk | Sttt

cooperate §2i5|Ct relationship 27 compete ZZ5ICt

02 @ 03 @

® promise = promises, @ seeks = seek
control of our desires looks like a key to happiness

01 JE

CE

02 BE

sii&

@ leads - are - interest

(A) This is because a thought without clear strategies
EZ0] SAOJ(HAIAL + PALT)
leads nowhere on its own.
EEEN
=0 a thought2 CH-HAIO|2 2 TH=-Z At leads7t 2FOF $HCE
without clear strategies(FMX|A} + Mk?)é = LR Gk
OJX|X| k= £=Al0{0|C}. 2o mjEt 01-)

(B) Take a tip from writers, who know that the only good
=470]
ideas that come to life are the ones that get written
down. =A0I@AE)  =4s4t

SHAO|2E ST At areZt 2

Z=01 the only good ideas7t = 1=
H)e 4 Ux[ol| BEks O|X[X| &

OF StC} that come to life(ZHA/Z
= $AI0{0|C} (2#e| 1= 01-3)
(C) You'll have a reminder and motivator to get going

on those things that interest you, and you also
MEAHEREA)  FH =4sA
ZATHHA
won'’t have the burden of remembering all of them.
ZACHHAF that F{0f] 01 GlO| SAP}F HIZ B2 that2 F
Z| ZACHYEALO| 1, SAtE MIlALQ! those thingsOll 4= 2X[HOF
SiC} those things7t 24HAIO|E 2 245 A} interest?} 2F0F
SHC}. (2ol afE 05)
hlol {5101 Z2 010[C|01S0] A% HEA sh=
LOILIX| 24| St E2 Yo Ck 2EgH H2fo] g
AABZE 0|t RO 2 & 0[BX| Ro7| Wh20|Ck Al
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float M=Ct strategy Z2f reminder A7|A7|=
motivator 7| 201 5t= % burden SEkz)

N

® meets - meet

® These are good strategies: climbing stairs provides
a good workout, and people who walk or ride a bicycle
S35 +Aof(@HE)
for transportation most often meet their needs for
SAO{(HAIAL + BAD S3EA
physical activity.

0] people0| EHAO|DE Z+FAF meetO| 20F SHCF.
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who walk or ride a bicycle(ZtA &)1} for transportation(F1X|
Ab+ HADZ 4= R0l F&kS O|X|X| ob= ~A0{0[Ck (2uiol oy

& 01-1, 01-3)

& @ 30 The recent increase= tH4=-BHAIO|2 2 TH4=Z At concerns

7F 2 Z30| MESICL in overweight people(HX|AF + HAR)2
2= AX|0f| FekS O|X|X| b= £=A0{0|Ct (2te| mjei 01-)

@ thatEQ| =0 one of the waysO|A| one of= &b of S £t
& F|gote £EH0|ZE thaSALis7H 2 20| HHsICt to
become healthier(to 2 EAF) = 4 LX(0l| kS OIX|X| b=
£=Al0{0|C}. (2ol mEl 04, 01-2)

@ 2H9| ol0|Z LIEHHE 07 seldomo| 2&te| tof| @bM EX|
7t BB E A Fol| LtRE 0] theyof & XSO 5t
C} they7t SLCHEALO|Z 2 S4SAF do7t 2 20| MHs|Ct
(22| IiE 07)

® Z0 people0| S+HAO|EZ2 S42SA useZt 2 20| HH

SICE living in neighborhoods(EAF1)2}F with safe biking and

walking lanes(MX|AF + HAHL)E 4= LX|ol| FekS OIRIX| b=

$=A10{0|C (=2wiel miE 011, 01-2)
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2 XiZ= 050 150 #H2 X E5S STBICL
overweight 1t4|=2| professional 27} expert 27
workout 2= face ZIH3IC} barrier ZHojE, &t
environment $tA4 prevent 2ict lack ~0| giCt
inconvenient £&st neighborhood S| surroundings £+

@ are~—is

@ Though we don’t know a lot about dinosaurs, what
we do know is that they are fascinating to children

EISZO[(FAE) 54
of all ages.
Z=01 what we do know:= b= F|lZ5t= GAPE F0{0|22 &
S} is7} QOF BHE (2o) 1iE 0

@ =0{ Something2 tCHEALO|Z 2 ThaSAt seems7t 2 A
0| A5ICt about these extinct creatures(FIX|AL + HA) =
2 YUR|of| &S O|X[X| k= $~A10{0|CF (2ol mjet 01-)

® Z0{ the reasonO| Ch~HALO| 22 ThSAtis7tH 2 Z40| A&t
Ct why kids like dinosaurs(2A/ &)= 4= LX|o| F&k2 OJX[X]|
QL= =4l0{0|Ct (o mjEt 01-3)

@ Z=0{ Jack Horner7} BH=HHALO|2 2 Ch=Z AL explains?t & A
0| MASICE a technical advisor for the Jurassic Park films(&h
AP e = YR|of| FEHS O|X[X| b= =AI0{0|Ck (22| mjE 01-4)

© HACHHA} that Flof =01 gl0] SAP} HIZ 2B Z that2
T4 ZACHYALO| D, SAt= M1EIALRI the characteristicOll 4
QUX|SHOF BHCE the characteristicO| THEZHALO|D 2 ChSAf
inspires7} & Z30| AHSICE (2ol 1 05)

ol Algt 0%| glo], SE2 T M| ot0|Sof|A Q17| )L

0| BB E MHAof cist A52 A 7| BF9| n

X2 HRICE HIE 227 SE0f| thalf 20| UX|= ZstX|gt 22|

7t Ok= A2 IS0 2E 12| 0t =01 #| o2& 0|2H= Zi0|Cf.

SEX|EE 9ff T 2477 L= 00| S0| 38& Z0tote 0|R7F I

=0| 30, @5 A0t = ofE Aute Ch=21, BEE(QV| TE0

2t MZISHTE TF2b| Sl Fete| 7|& nEQl Jack Horner7t 2
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(1) ® promise — promises, @ seeks - seek
(2) control of our desires looks like a key to happiness
(1) ® However, according to wise men throughout the

years, decreasing your desires promises a sure
SHA 0 CHeSAL
way to happiness.

Z=0{ decreasing your desires= ths | G6H= SHALTE =
00|22 THZ Al promises?t 2t0F SHCL (el i 02)
@ He found that the people who are less happy

CPES SA{0l@AE)

seek much more than what they already have.
CPEY

that=2| 2201 the people0| ELHAIO|Z 2 BLS A} seek

O] 2t0f Bt} who are less happy(BIAIE) = = LX|of det

2 O|X|X| gb= £=210{0|Ct (2ol e 01-3)

(1) @ 252l 9J0|E LIEt= 017 RarelyZt 22| 2ol 2t &
A7t ERe B2 SAts Flol Lt2E 01 weo| 4 YX|sHOF
SICE we7t 24CHHALO|2 2 24-SAt do7t 2 Zi0| HE s}
C}. (gl mEt 07)

© Z0{ The scientific study= ETHSHAIO|ZEZ CHASAL
supports7t & Z10| H5ICE of desires(HRIAF+ BAR = 4
UX|of| FEkE O[X|X| &= A0{0IC (=eo| T 01-1)

® Z=0{ most of usOflA most of= SAZt of F{2| FALOf 4= &
X[sHof 5= B2/ HH0|2E, SHYAF usol| 4~ LX|st
= S7SAt wantZh 2 20| HESICE (=wol 1 04)

= T o

(2) Thus, control of our desires looks like a key to
CRTAL SAIO{(HIXIAL + HALT) THSAF
happiness.
#2015 Helstn BH ‘SX7F ~HY BRlth= o 27 0|2
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AFOl ALK 1 %FE cares
CHAPTER 02 % l-_l I 1' | a4 If someone cares deeply about something he or she will ~.

Z7O| HAPE HAAL  EHTALR

1.t 2. 2texid (o} ~3Hrie)
s Bre} =271t R0 Chaf 20| 417 £CHB, 1 52 Tt 230
o 2 7IXIE & ZolIct
— ol¥] care A4 #Ct deeply Zl0| place FCt value 7}x|
= =] = -
49| HE 08 9|35 p.10
_ ) _ 2 ZZ will depart
1. 8722 2.since 3.hastaken 4. 32| & Al 5. last G B
6. visited a4~ and nobody is sure about when it will depart.
’ HAPE FH&AL  Of2fALH|
(FX|AF aboute| 2X01)
1 3% hasworked a4 1 |7 i H20] O|SE £ glo0, & 70| N 2
34 ~ he has worked at his current job for five years. 2R RELE
et (XIS7HRD 5 Set ol2] take off 0|Z5iCt depart Z2t3ict
alii4 Jonathan2 ZFE S&At0|0, J= J9f #xf ZIFofA 54 SoF
SHRATE 3 JE get
o{¥] computer scientist ZIFE| 25X} current X2 84 Sometimes we will not realize our mistake until we get
Alzte] HAPE F&AL STAIR|
2 FY left an email pointing it out. (~2 T7x])
& The young birds left the safety of the nest for the oA 2 22|= 2[e| M5 X|Hot= on| e 87| MItx| O d
ChaakA Of| CHalf x| et Zdo|ct
first time %' of%| realize 7§2'CH point out X|&s}CtH
=T
aiia] Of2I S0| X|:t0f| S 2 SX|Q QFHeto 2R H mitLt 4 %= publish — will publish
oi%l safety eizi(g) nest &% 84 The writer wonders if The Coast Times will publish her
HAPE FEAt a2 A|H|
3 BFE was (SAt wonderso| S%{01)

article on their website next Monday.

di&  Artificial pesticide use has increased ten times since
821 3 XMXp= "The Coast TimessZt 242 7|AFS CHS = 2eoj| O

it was invented in the early 20th century.

PST 20M7| 0| =9/ YALOIEO A xH ZiRIX| SSsHetct
st Q1B AETO| AFE2 1310] 20417 20 LHE OfH2 108) S7t of#l publish Axfstct, ZEsiCt article 7|4t

SHC|

FHCk

e - B ) } 5 %E willuse - use
ol¥] artificial 2132| pesticide 4&x|, =2 invent ZH5iCt
si& What you buy will be just a waste unless you use it.

RO EALE M &
4 %E used - have used g;%:l;ﬁf_ﬁﬂ% SHXHA|H|
s& Koreans ~ have used high-quality paper since around A1 SHAIO| TOHSHS 712 712 AMRSER| Qb= BF LiH| B0l Zio|ct
Sixyer N7 =32 072 (RI27HX . ot i ’
1000AD.  FHEE ronoRE o= D Qe b0l 4R & ol APl Mztsts 0] SOt

84 SRS Z0| Xxto| QU SIALS JHX|1 Y20 A7| 10002 o9l waste 2|
O[22 1EHS| F0|E AHEsH RACh
6 ¥E O
si& After the price of something important like electricity
o4 Elizabeth Catlett ~ obtained Mexican citizenship in the AlZte| EALE F&A
summer of 1962. =& 2t 2o
196213 0120] drops greatly someday, the whole world will change.

ST AIR
a4 Elizabeth Catlett2 HA|R0A 5018 SOt ARt HA|Z AZIH . ==
RiE—re Rt o4 oUE}E7|et 22 BRd 7ol 7t20) 27 stetst S0, T A7t

of%| electricity T7|

5 7% & has obtained — obtained

o

ol%| obtain %|Ss5}C} Lt citizenship A|2I#

6 BE O
& ~, we can now discover how humans evolved and
how long they have made tools. Al A
RIFRD) oit o exez M HAE SESIHE
a4 7]zl T m2of|, 22| 0| ofEAH| QIZHo| TSKHT POt @
S0t TS BHEOIZHEXIS ot 4 QlCk 010 (02 @ 03 ©®
ol¥| technological 7|&2| advance zI2 discover 20tLHCt L (1) ® will choose — choose, ® has been — was
evolve ZlslsiCt tool =7 04 (2) the word was made, people have chosen careers
01 F= O have learned - research - was
=1H{0| [HE] oj5 si& (A) ~, we have learned new skills since ancient times.
E549| iHE 09 H35p-12 Sfera ~O[2HZ (K|27Hx])
1. SAIMl 2. AlZE/ZZ 3. ~StXIOFAE 4. unless 5. provide since ancient times= 2kt $ITHE BF Etot= Al 2340
6. TAFE 22 3xi2tz have learned”t 2tOF I (2to| mfet 08-1)

Chapter 02 SAt| A[X| 73
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A o

1% 00

BE

CE

(B) ~, you will be better prepared if you research how
U BAPE HLEAL STHAIH|
(8tof ~trie)
the native inhabitants dress, work, and eat.
if7t O|1= Ho| Z2749| 2|0|E LiEt= SAPE0IZE, ZAlst
= 20| O[2Hof| Lotk Lo|H2te HAXHAIK| research?t 2tof 5t
C}. (zeo| 1 09)

(C) For example, Nicholas Miller, an explorer, was lost in

the Amazon jungle last month, ~. S
WN=E]
last month= 172 &t A|HBHS LIEHL = A7 HE3l0|22 CF

2= 17 was7t QOf ST (2uo) e 08-2)

Ql2o| XEEQl MEL st XM3ote 22/Q 5

=l 2 QlCk 227t EYstHEl Als|ol|lAe] MEt2 ofsistHA o
& J|EE8 ARITE 22l 1Al 022 M22 7|&5S Hifigt
Ct @Y, oit| 7|&2 Qlsl, st 22|17t 7H5E 7= &0t X 2 22l
7b 7121 712 & 2te| Atol= o2 Aot JaiE, 2hlo] ZEX|of S0
7| 2|t , AFDIE0| OfEH R 21 Yot HAE=XIE =
AFSICHA Shil2 O & Z=H|E0] 9l ZI0ICh O50| 4ol MSsie
grale ghhlo] O 2tA S ofstiatn | ol HHIE MESt= o == S
Z 740|Ct o2 S04, &7} Nicholas Miller= X|:H2hof| OFOFE M2
oflM 22 Qloin, Tl 2Isist MEES T3t 2 ARt=|, ol O

L7F EXs E=HIS sliZt 7| W= olct

i
=2
10

o o

continued X|£%9l human race 915 adapt X&35ICH
transition 0/&4 civilized 283}=l wilderness &2X|

inhabitant =8I gear ZH| thoroughly Ex{5|7|

® are~is
® Walking a few blocks is often easier and cheaper ~.
SHAR =0 ChEA

Z0{ Walking a few blocks= Et4 Z|Z5t=
2 TheSALisTt 2OF SHCE (2o mjet 02)

@ since ~ centurye= 2pAQ} SAXHE P& I Ets)H
SIl2tZ has lived”} 2 Z30] MASIC (2ol ufe 08-)

@ 301 people0| E+HAO|ZE S2FAF walkZt 2 Z40|
Lt living and working in cities(2AtT) = 4= Lx|0f| P&kS 0|X|
X| = £=2l0{0|Ct (2ol miE 01-2)

@ once?} 0|11 HO| &749| 9|0|E LIEIE FAPHO|ZE, OfAL
St= 20| Of2Hol| Loie LolHzte XA moveZt & 20|
E{AISICE (2ol TE 09)

SaAT Foj0|2

rr
>
=Y
FH
ol
o

Y=k

® Z=0{ most of the public transportation optionst|A|{ most of=
SAZtof F2f HALOl| = LX|{0F ot B2/ HB0|2E, 5§
28 A} the public transportation options0f| 4= Lx|5t= 245
A are7h 2 Z40| EHSICE. (2ol miE 04)

MA Qo] CHEE2 21M|7| = O[22 TA| X|of| A &fotetD, Of

G o 2 ZHA 7[5|5S MBS tHE 22| 2L, TA0fA

A0 A5= MRS 2 FRESOIM AFRAZX| 717 25l 4TS 57|

3, B82S 57| 9/} 25U T P RS HE HS HALLA|
gl

o=« CE AT T
2 7ICkels AR H g =0l o 27| ECf o2 Aoz, 2
Lyde Ko FEE 4 ALk 0= L 2S0] W e[ OAfst
2X| ¢S oIt wel= a2l A 7| HhZoll, AR 2
2Lt SR o717 10l HR 0L A YREMA| ZoP7k= A2
Hol 0f= Fro| BE|S MSHAIT, XS 2 iR =2 thsns
MEHHO| H[BHHO[01A, | AFIS2 2= R0l TS silA 2Tt
50| AZ3h= 7= shF Sete| HshHel Lx| €S|tk

==

|
mu

population 917 urban TA|9| opportunity 7|3

run errands 82 HC} structure ASICH routine LA
suburb we| spread out O E2| HX|C} S 27+S RIX|SICH
public transportation cizwE limited H|sHxQ!

® will focus — focuses
® Aslongas he focuses onrising higher above all else, ~.

| A HEAL HHAIH|

(~sl= stoll=)

Al S =0{F = Ot 845 AHE M|& HackersBook.com

04

ey

8E

si&

sl

Aslong as7} 0|T1= HO| =742 2|0|E LIEILE= EAPRHOIZE,
&= Z40] Of2Hof| Loi'd Uo|H2t= SXHAIA| focuses?t 2F
OF BIC} (2ol miet 09)

@ Z0{The person0| tt+-HAO|2 2 ChrEAL stays7h 2 20| &
HstCt who ~ others(AE)= = x[of FetS OIX[X| S=
£=2|0{0|C}. (2ol uyE 01-3)

@ EACHEAL who Fofl =01 Gl0| AL OB & whoe= =4 2
ACHHEALO |1, SAHE MSHALR! thosedf| 4= LX[SHOF SI2 2 24
SA}are7t 2 Z40] HASICE in his imagination(FIX| AL+ HAL)
2 5= UR|of| YakS O|X[X| b= =A10{0[CE (2ue) miEi 05, 01-)

® Z0{The only way= Et+HAIO|2 2 ChaFALIs7E 2 Z40| M

SICt to get through life(to 2 A1)t he concludes( H) =
= UX|0l| FekS O|X|X| ob= ~A10{0|Ck (=l mjel 012, 01-4)

@ Inthe past= 2A2| SHAIMTES LIEFAE AlZH ES0|S 2 Thes
317 needed?t 2 Z10| MH

XHelS CHE ALZHSTt H| ot A2 F2{S2| AEfo| HRELCT

= ARAOf A KollM XEZ|ECE {0 Q= ARES Fe{KSICh

£0| PYoittn Yo, I J7t JS0i1A Hoh e 4 gls

Ol2tm =7ICk = =5 X7 |20 of2of] s AEE Fa{9]

ol, 30| matets A 27| 20(ct T g 571 fldxel Exi

| I 32| 2|2 S22t J= 42 sy

7te RS YHO| AIES 017]= Ziol2t 22 ALt 2o,

AOHE7| 2ol Z7aloF 37| 2o ol2{st Ef=7t 23l

C}. SFX|ZE O[2{8h ALIHHALS [ Of &t MZE0f Z+XO0|X| 4Tt a7}

CIE ZE O|SHCHH £0| 22P7h= Ao TSst= & 29/ a2 &

HEE oA & Zolck

compare H|WslC} state AEf superior 25t

match Z&35iCt catch up W2tECH threat =l Z=xy

conclude ZZ #lCt beat 07|Ct attitude Ef=

compete ZH3ICH survive MZESICH essential 240l

focus TE35iCt

SICE (2ol mE 08-2)

[ s W

o
-

(1) ® will choose — choose, ® has been - was
(2) the word was made, people have chosen careers

(1) ® Most people today will consider if a job will be
fulfilling or not before they choose a job.
AlZEe| RAPE FEAL  SMAIA
(~s7] Zofl)
beforeZ} 0|11= FO| Al7t| o|0|E LiEt= £APEOIZ
2, 2|2 Mefsh= Z10| O[2Hol| Loje O|Ci2tE SXHAIK|
chooseE AOf BICL if ~ not2 Z742| 2|0|E LIEIL = £A}
E0| OfL|2t SAt considere| 2X0{Z A0|= HAMO|ZZ2
OJ2HAIH| will beE €Lt (2u1o) ajEl 09)
® However, the idea of fulfilment was just not on
CheatA
people’s minds hundreds of years ago.
=4 13 Foj|
hundreds of years ago= 2t742| gt A|HTHS LIEHL = A2
HH0|2 2 ThetA was?t QF0F SICE (2uo) m 08-2)

(1) © in 1755 2p70f 3t AERES LEILE AR E3i0|22 &
217 was?t 2 Z10| MESID|, =0 A Dictionary of the
English Language?} Tt4=BAI0|2 2, tiaZ Al doesn't7} &
240| HHSIC} which was published in 1755(&A &)= 4
X|of| ZakS O|X|X| = =A0{0|Ck (=tio) oy 08-1, 01-3)

(2) Certainly,

since the word was made, people
1 £o{7t BHS 0TI o2 2 (XIZ7HK])
have chosen careers that they find personally
sxletz

fulfilling.

since ~ made”} ‘BHS0{Z! O[2HZ (X|Z7kX|y2t= 2|0|2 npH*t
BSIME 25 Zaf5t AlZE HEB0|2 2, SAf chooseS SIMAEE
HOF 3H=C| =01 people0| S+HALO|ZZ E4+FAI2l haveS
ArE3l have chosenS 2 MOF ST EESF THO{7f BHS 04Tl 242
Q| St A|F0|2 2 THETEA was made 2 MO ST (2o) o
£1 08-1, 08-2)
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Hel citis| (EISE o5 180l AEi Sty Sl 1ol e ppHOLTiEL]) sl 17
e & ARIXIE g Ao|ct O 1 h “d%(of| cHEt 7HL48 =
H Hak S ARIS S| HEI&0f QUX| EUCE = MI7| St M7 MA 1.v-ing 2.p.p. 3.taught 4.3A 5.CH4 6. has
o| i 2ol AlRE2 a59| 7|25l %?2 SEAZ|7] 2laH o4
=2t Ui IS 2 RS2 S S 018t =X|E 5*”Al9lh =3 1 %Y have
0|22 2iS JHHE=X CHEHA] AlZd 22 A ofofr| (] )
|22 HAS THEX( tieh L8 & = - k1755610 & o= ~,theyhave sentalmost 13,000 volunteers to 25 countries.
Z| TA Dictionary of the English Languages= ‘AF[2H= CtO{2 013 70| have=At pp.
X} oHK| =Lt 23|, T EHo7) BHS0{E 02 E, ARRIS2 72! (ELH= gele| =H)
Mo gFAUg e Elgg Mets| Ltct ofl 4 T CHH|S0] AIZHE Of2iE, D52 of 12t 3/ XIASAIKIS S
ol¥l fulfilling A5zte == fulfillment A% struggle ofct 2574=0f| EYHCE
meet Z=A|7|Ct basic 7|£%0l need 23 talent & o|¥ organization £t volunteer X}IE2AMK}

wellbeing 2x| publish £7t5iC}, ZE5IC mention Y1Z3ICH
2 ZJE advertised

s Imagine thataproduct ~, is not advertised.
beSAt p.p.
(Cni érgr@, S
atiA] Ot HIFZ0|, HIE AFOf 27t SAI=IUCHSIHHE, 20 E[X| gb=Ct

CHAPTER 03 Balltc ke et | npasEl Eorar.

3 %FE used

= At
.SSH 2.0HY &i& The stones may even have been used ~.
ZO{(Ar83t= 2l CHal) ThaveSAt + been, p.p.
814 1 SS2 MXI0] B S5k eferol YAlmt ol YAl oS3}
— - =0 AFREIRE 45 QUCt
SHO| iHE 10 Y2 p.16 A= Bl s R
ol¥ predict 0|5t}
1.+3E 2. 5SEl 3. #o Ty 4. HHRAKp.p) 5. were lost
4 7%& produced — producing
1. BE are trapped sll& Electronics companies are producing faster computers
3 i e i ; FO{(MAtste #RIo| FA|) beSAt  v-ing
A W t fficult situat ~.
oA TT:are ¢rzgiped deep in a difficult situation and laptops these days.
Ot Bole i) siA FRE717| SALES 9F O #E HEEIQ} =ESS Miksin Ut

BEA| 92lo) 2

84 2l X3 0f212 Bl 20| 25 Uk S2l= of#] electronics ¥} 77|
7| /3 t=2iafof Bict

HSS UM 2Y3| 5t LM IS S Y5t

of¥| trap 7}=Ct achieve EAGICE 5 7%E expressing — expressed
s& ~theideahasbeen expressed in different ways overtime.
2 GFE bekept Z=0{ ThaveSAt+been, p.p.

(Esist= delol the)

sl Though chocolate may be kept in the refrigerator, ~.

e 14 MZe | Y= 4 o=t 0] 40| AlZHo| X|LtBA Cresst gt
s4 HIZ £33l0| YEM ot B2 4 XISt IO CI2 SXS) HSE HRE0] 27 ot
HAZF A= Zdo|Ck ol¥] success A& describe MAH35ICt express EHGICH
o2 keep Et5iCt Lt refrigerator Wain take on M2|C rct 6 ®Z O
3 X defines &i& This evidence has raised the problem ~.

. ZO{(H|7|5H= #LI2] FA) haveSAt p.p.
s+ ~ how a person defines a problem. B e

E T aia 0] A= Wstzef ol chst 2XIE M7 (310, sich 2t&tXE0|
("olsts #9lo| =) MZ2 0|25 == 0|B2ICt
ol sfiAEHe| 2E2 ALR0| EXIE g Felot= et YrstA 2t ol evidence =7{ raise X|7[3ICt ice age W3l7| theory 0|2

rin

C,

ol% nature 2% solution s§Zx connect Zt2AA|7|Ct

define &olsiC| = -
sy =H0| THE 12 3= p.18
RCERE s e 1. MAL 2,556 3.45E( 4. beseen
& ~ a tape measure was employed to determine the
distance a javelin was thrown. 1 %= touching
=0 £ . . . .
(BIX|= 32(o] THAD 84~ try to feel everything that is touching your skin.
- - - MEHAL 2| SSEY
di4 O ST, Fo| HMT H2IS ZHP| Qe EAIt ALSE] (s isjo) ) FAHA
Ak 814 =2 24 gile| TjHE Ealn Qs BE Jg LHEotat
o2] previous 0|x2| tape measure Zx employ AtE5ICH
determine S&s|Ct 2 7%E searched
aid ~, many of whom searched all night for the missing
F0f(=Msh= HRlol FH) SSH
hikers.

84 Sels IEHASO 4L LA, 1S 5 B 47t 45E

on

Chapter 03 SAtS| SSEf-+~SEf 75
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SHOIIE 13

1.

A4S Uh) ST

(illey

rescue worker Lx=CHS

collected

People whose stamps have been collected with much
FOl(E st AWRlel Tha) +SE

effort do not use them ~.

B2 1212 7120] 159 PEJ ATE ARISS IXSS LTS
(e

S Hui= ol XIE3517| fla AHSSHA| ©

are included

~ for the harmful ingredients that are included in the
MBAHEESHE BoI0/ ) 72 CIBA 56

product.

osdol AbRISE O B2 WwE Hsien|, S8 MZd ZgE

S22 JES0| tist HEE pIEHT,

consumer AH[X} information & especially £3]
harmful s§22 ingredient M2 Mz product M=

3L p.19

XtSAE 2. remain 3. YO{LICE HOJX|CH 4. lie 5. emerged

occurred

SAtoccure S5E0{7t K| 2,
SSEf occurred?f 2F0F SHCE
sl U7t mAo| =2 ), J =
DECH= M2fo| S]ICt

— o7

BE

oia 10t =SEIZ & = QlE X

RS

ol¥ arrive £5Ct assignment =
2 %Y are stored
8ll& =01 large containers7t SAt store?t LIEILH= ‘HEt5HE" i 2(o T
0|2 2 S are stored7} 20 F%H:}_
aid AR 2shoilA=, @belo| ord FH(7F E miz7kx] °felo] g7l 2 87
=0| X|otof| E2H=ICE
olg container 87|, 12 store HESIC XESICH
3 %E happened
oil& SAthappen2 X017} 2X| 20F +FEIE £ == gl= ASA0|2
& SSEf happened?t 2t0F BHCE
ol & SIRiLE S 42 22 XIIXHSHE 2 MIA OfTIZHol| A Eha EAHSHT)
o{%] natural disaster xtQixjjs| flood 4
4 7 place — be placed
sH4 201 Small carry-on bags?} SA} placeZ} LIEIL= ‘== ai|o| Cif
H0|22, SSEY placed”t OFL|2} +~SEH be placed”t 2t0F BTt
s A% FOIS 7HYS2 Tl ool 52 54 of2fof EO{0f BTt
5 7% & is become — becomes
14 SAFbecome 2X0{7} @X| U0 £SEE £ 4 Q= Xt=Al0|12
2 SSEl becomes?} 20F SHC
olial Qrok CHE ALZHO| Hhblof|A| S2lotX| bertH, Jze 2 152
et of3iaHR| RaiRre] Ex7t Eick
ol¥] disagree S2o|5tX| 2t very often mjmjZ matter 24|
6 BH O
e SAtlies SE0{7f QK| 2ot +SEIE £ & gl= ASAO|EE 5
SEN Iles7f QtOF BT ~& ECeh= 52| EFSAtlay(lay-laid-laid)2t
S SoIX| A= F Fo|stet
ofldd ZAXZHEO| AF0[e| £ HSAME2 T719| vz A7 |of| Q=
ol, 3242 o< SHEFSICE
76 Qo HHS =0{F = CHASH als XtE HMlE HackersBook.com

o|¥] protection 253 25 predator ZAX} shell 2id|7|, 2=

SH0| [HEl 14 == p.20
1.550{ 2.8ty 2 3. 7HH=H0] 4. TSH0| 5. give
6. grant 7. were given
1 % are offered
si& ~, teens are offered the chance to learn what type of
70| 4zAaEE  HEEEO
(HIZste 3ele chan
jobs they like.

-

dtid HIE RR RS2 OFZHIO|EJFAIZEHI2E MZESHR|RE A of
2 10| o SRO| XYS Yst=A| B2 7|3E AMSE=Ct

n

0¥ part-time job O}2HI0|E waste H|

8E

a4 ~, he taught his students lessons to help them do their
Zof 434 SZEf ZHE=Ho  HF=E=of
(IER]= B2l FH)

= ST

best.

Ofit 7 Fhof §f

S+ A

=

taught

aiiA

=2 A
e+
preparation ZH|

grant

Shakespeare, Milton, and Keats all hoped that poetic
FO{(R0i5t= Helo| FA)
greatness would grant them a kind of immortality.
434 ZESHe  xE==of
S=
1 7|= 25 AlQ| f|cigtol

84 Aol 207 Y59

are being given
~, many patients in need are being given a new life.

==0f SN0l 4gAasH  xE=Ef
(G 91| T (RIRIAR + TIAR)
AMIS0| 3 20| 1529| Y7|E 7IBEHTH, 04 Z0f X5t

il %
M2 RS2 M dES 2l Eiok

Q138 p.21

SHZH0 2. 5+SH| 3. SHZHE0 4. toREFAL 5.v-ing
.is

xpected

& was made —» made

A India made

5M SSH

Increased trade between Britain and
FO{(2tE= |2 )

tea a popular drink ~.

92 16000 S=F0lM X2 27| R

ol¥] trade £

& told - were told

s Before the hurricane arrived, all residents were told to
F0|  sEALEE| 2xzE0f
(2sts el ciah

leave the area as soon as possible.




ail&d S2[A|elo] 27| Mo, ZE FRIEE 7tssh 5t el O X|Hoj|lM 5
ojLt2tn SCt
oj¥| resident oI
3 B2 O
o4 ~, the children left their wet clothes hanging in the
=0 5EA| SEH = xof SE{Z{k0]
(F= el =H) (F=deloltid)
sun to dry.
i HICHOlIAM QS $t %, Ol0|§2 152 A2 R Y7 2lof 3HE
0l Z0{ FALCE
4 BE O
s& ~, laws in other countries are expected to acknowledge

’<01(01I*+or‘- #2lo| chah
similar rights in the future.
atiA] o =t= 27t Aol A H2| S RoIRY| W20l THE Li2te| HE
of2holl SArEE 225 elget Aoz oIt

o=

ol%] legal #ix2l right 22|

5§A| ESES

1TSS

={Z{H0]

M HAE

238 p.22

oo 02 ® 030

(1) @ cleaned - were cleaned, ® was appeared — appeared
04 | (2) were given the pleasure of splashing in the stream,
i splashing in the stream was given to some boys

01 ¥2 ® be studied - distributed - occur
54 (A) Sharing can be studied in a laboratory ~.
FO(ATS= Holol tha)  HSEf
=04 Sharing0| SAt studyZt LIEfLE ‘A= % 29| Chato]
B2 45El be studied7t 2t0F SHCE (2o mpE 10

(B) ~ until all food has been distributed.

Z0{ ThaveSAt+been; p.p.
(25t #ele| chdh)

01 all food7} SA} distributeZ} LIEF=
CHAO|2 2 ThaveSAt + beeny FOIN =&
distributed?} 2tOf SIT} (ol oy 11-1)
SAtoccure Flof 52017t @X| k0t +FEHE £ +~ = XiE
AO|2 2 SSEf occur?t 240F BHCL it ~ circle 22X 20|11,
7= CHA} the possessorZt AFZH0| 22 that CHAIO| whoE AR
STt (2wl e 13)

=

‘Zhtists" A

B SALE 2=

rr 1o

c

E
=
_.(
i
= Jo
rlo
== HO
° S
10
0x
cl
i
1
\J
K
©

E EH”W *Hiv_- 1—El7f %ﬂf gFsl 259 =2 &2 Ao|ch
Tdsol= FUAIS0| =2HE 55‘_ % ’*E AR, SHERl SE2

EXE UOJLIX| =Lt 5
LA BHE3{= Xt HEE A xrom XLE & U = W77k
Jd= xRl LIRZIX| 2 52| TE| #F W2 |HL ofF =2 &9
242|2 IS0 4218 Zo|ck 159| HHo| R0|E, 2R}
A2 522 EXsict

o{¥] sharing 28 laboratory o174 leafy 2/0| 2Aist
branch L}27}X| observe ZHalsiCH owner AQX} =9
center stage siAl =@t st distribute 2Hl5}Ct
beggar 2 45H= X}, 7{X| aggressive 22%2l conflict 2=
rare x4z ~ot= =2 possessor ARl circle Zict
bark A2|x|C} high-pitched (£0]) 0} =&

2
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02 = ©® is seemed — seems

03

st

ol

BE

© SAlseem2 F|0f| SZ{0{7} 2X| 0t 5
AHO|E2 2 SSEH seems7} 2tOF ST} (zeo) mye 13)

@® Z=0{ 158 moviegoers?| S+HALO|HA SA} provideZt LIEFLH
= HM3st=" A2 0|22 pp. A0|M +SEH SALS EtE

SENR 2 4 o= XHS

=)

= E4ZAb wereZt 2 Z40| HASICE in Philadelphia(FX|AL +
YAhE 4 LX[ol| FekS O|X|X| §b= ~210{0|C (2w e 112,

01-1)

@ Z0{ popcorn0| SAt eat0| LIEfL= ‘2= (o] ChAO|22
ThaveSAt + been, FOA ~SEf SALE BHE= eaten0| 2 A
O| MH3ICE eol ot 1-)

® 2Z=0{ The moviegoers7 SAt ask7} LIEHLH= ‘2= $42(0| CHAF
0|22, beSAt Rl M ~SE SALE BtE= Sked7fg7*0|;H
HolCt At ask= 27H2] SHO0IE 2= 484 SAO|E2E 5

Ef EH0IME SAF Fl0| SX01 SHLE7t Lt if ~ not2 SAt
aske| ZHYZH0|= MOl HAPHO| D, ~FE SAL Fof| HE &
H=Z0{ if ~ notS 211 SSE SAZH2t0f SHCHD Z2fotK| oF
2 ZOI5HC} (20| miEt 11-1, 14)

@ ZACHHAL who Fl0l| SAZHHIZ B2 whos =4 2
CHIHALOICE M34AF moviegoers7t ZEARIQ| SA} giveZt LIE}
Ue == delel tao|22 HARS| SAte +SEf were

20| ﬁ’%of f. SAF gives 2710] SXM0IE 2= 4

A SAO[ZE »FE| EHOME SAt Flof SX0{ ShLt

7t "=t St EAF Flofl e Z™E=E0] fresh popcorn

2 B0 SSEf SAP} QtoF SHCH ZZISEK| S O[St

givenO| &

i2emiofe] 1582] Yt BRASO| X VS
oo 22 BE0| g7l 57 A7i0| 52 2 8718 N3
Ui} Bt 3, B20| okt 80| HOFEX] Stol=ioict st
2YASE B0 AQIIER OHIxlol et WP weolck 1 A
2 5 2SS T20| 2 87(0f M3
28 sojzolt B

2710 golkict 2 8

231

oIE‘FOI-—KI bre MRALE, AMREE 574
361 ICh 241 27|9

7|= %S of 0§xs| 3
A7} MEHE0| 2= 249 g FE o wolrt
moviegoer & h

influence ¥ak2 =C} amount &

® does — do
® Today, rarely do 3D printers require an original

Sy 2454 24F
object to copy.
239l oln|E LIEtl= 017 rarelyZt 22| 0] 24 X
7t E[RICBE F|of| 2= 54301 3D printersof| 4= YX|5t= =
£=SAt do7t 2tof BT} (2o T 07)

g5 @ 0 3D printing technology?t SAF useZ} LIEILE At}

= #lo| o2z 5
(EtH9| & 10)

@ sinces 14t SITHE BF Zetot= A
has becomeO| 2 70| MASIC} (2wo] miE 08-1)

@ aslong as7t 0|11= Ho| =719| 2|0|E LIEIL}E EAMEO|IZZ,
J2I0| SHIE 2AtsH= Z40| Oj2Hof| 2oi'd Yo Ti2te SHRYA K|
describes7} 2 30| MASICY. zuo) el 09)

© HACHHAL that F|of] SAPHIZ 2t D2 that2 2 2K
YALO|CE MAYAL plates7t ZEARS| SAt print7} LIEFLHE Q144

Sh=' @llelof CAt0|2 2 4~=E are printed”F & Z10| &SI
(22| 1{E 12)

O|Holl=, 3D 212l 7|=0] S|Atet CHEt WOl AMBE ARZE|QICE T 2L,

3D Z2IH2| 7+40| of2fst7| AJ&HSt 201044 022, O 7|s2 H

22| 0|& 7}+59] Hﬁl:f 22| Ofzof] 2= 7H40| 3D Z2IHE AR

Sl Q= WS Adre 4 QITh @5, 3D ZEIEE SAE 29|

=HIE 7ol He = ofX| gh=Ct ofHst J2l0[2t: J710] 2XIE &

[y

Ef was used7} & Zio| MES|C}

7k BSI0|o 2 FAje

[l

Chapter 03 SA2| SSEN-+=SEf 77
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04 FE

o

o7l ZARSEY |2k B ThsE Zolet 2 SALE 7HEE AR
=FE AbEsl Helst Cixtels erEoid 4 2o, O 20 7tYE
Z2IEE dH| SAIES S 4 US AOIH OIE E01, &HE 2ot
M HAZESE26HX| S, G2 glo] 7188 HFE0llA 24

El HAIEE IS0A MSE 4= Ck
previously 0|x0j| technology 7|& available 0|8 7t55t
original 2&29| object 27| precisely HatstA|

(1) @ cleaned — were cleaned,
® was appeared — appeared
(2) were given the pleasure of splashing in the stream,
splashing in the stream was given to some boys
(1) @ The roads and the trees were cleaned of dirt and
Fo{(E 392 oA +SE)
dust.
=01 The roads and the trees?} &At clean0| LIEHL = A=
A2/O| hE0|2 2 4~SEH were cleaned?| 2t0F BHC}. (2ol
T 10)
® SAf appear= 70| SE{07F @X| 0ot +SEHZ £ == Q=
X=At0|2 2 SSE appeared?t 2OF SHCE (2to) miEd 13)
(2) » Some boys were given the pleasure of splashing

FOIEE Folol cha) 484 +58)  mg=H0f

in the stream by the rain.
2AOIRRIAL + YA by + = ele| FH

e The pleasure of splashing in the stream was given
FOIGEE #RI0I ThaY)  AO|RAIAL + BAD) 434 S
to some boys by the rain.

FAAF 2P0 by + 7 eIl FA

SAt gives 2712| SHOIE 2= 484 SAt0|2 2, 2= H0q
some boys@} 21T =2 0] the pleasureZ 2{2t 012 st= 45
Eff 2202 di30{0F SiCh X #nf 222| 220121 Some boys
= STYAO|ZE FAt giveE SE4SAt0[HA ~SEHR! were
given@ 2 HHD 0| S04 the pleasureE 2Lt & HAY
2%t9| 012l The pleasure= TH~HAIO|Z 2 SAt giveE th
SALO|HA 2SEHQ! was givenQ 2 BT F{0f| MX|A} to2t 7t
H=2X0{ some boys= £LC} 2 2AC| =0{E2(2] Z=H|) The
rain by 2t 71 2% Flofl 2ACE (2eo) ae 14)

|7t JMCE 22 LIR = &b HX7F WAFLCE Mlao] AaehA

O 7i72|52 HRoIA An2RCt IHES a =

2le EHSO 2 7t5 AL QUL TC|= A2 SHSEZ UEHRCE

HlE 2HE 2ES JH20M HYA2 = E7188 FUCL IS

r

U U, I50| HZ0f $H 0|47+ ERACE 3 HO| TSl A
Q72 Ysts o H|S 250 shotC| = ofsi5kK| RiHete 15
E7180]| 2Lt

dirt & ™x| dust Hx| earth Mja & refreshed Azfst
pond 12 throat 2 swell 7t=3ict sparkling EP87{2|=
splash H#7z|C} stream 7Hg

CHAPTER 04 B bRl |

1. ZSA

SHO| 1HE 16

1. SAHY

Y35 p.24

2.have p.p. 3. must 4. haveseen 5. should

6. have received

78 o

AlS =03 = CHkst 8t5 X2 X|E HackersBook.com

B

oy

il

St

ol

see

‘WL@zhol) SEhES £ = JCF2te Q00I2E, RSA
LIEFLHE see(SAHAH)7F

2tOf SHCf.

410 20| ESCHH, A2 LY 22[e] FEM ofdl Sof uiet Lzt

3| slgixlE S12ES 2 £ UALE

have landed

‘Pytheas7 (t740f]) OFO|&ZHE0]| H4EFASK| = ZECFEH= ol0]
0|22, Z3At might FloflA 2tA of| chgt =& LIEI= have
landed(have p.p.)7| 2t0F StCt

FH JARIXISE o TJ2(A BTl Pytheas?t OFO|SZHE0|
ABHUSKE DECHD M2piC)

historian 2jA}&tx} ancient 1cje] explorer Ef&7t

land AZ3|Ct, &Estct

have prepared

‘Chuck (@740l 7IZDAIS ZHI3H0{0F JH=Cl o FChats o||
0|2 £, Z&At should F{of|lAM 2t oi| cist 3| LIEHHE= have
prepared(have p.p.)7} @F0f StCf

Chuck2 7|ZALS F=H|ZHO{0F gHX|2 O o &7
E[0i| 2t Al2doll A HOIFICE

in

2} g7l ehs

be

(&ixH/ol2Hol]) 7HE2 A Lot £~ Qs Qo] SRIgICHetE 9f
0|0|22, ZSAt must F|of|A SAxH/0f2 ofl Chet =S LiEtLE=
be(SAHA=)7t 20F ST

JHEE 59| BE AESte A2 Ui &Hotr| 2of, 252 22|
7t 7| 5 A o | Lord 4~ Qs ZiQlo| ERIICE

sense LOfR{CH ZHX|5ICH

SH9| IHE 17 93= p.25
1. SAHIE  2.should 3. FZSICH 4. #sICE 5. put
6. LojLict
1 %ZE have
A

aiiA

Hote] oJ0|E 74El SAf advised2| 2X0{2 MOl that&0| 2akAr
ARIS0| 4 TlTks 2rotof $tryate= 90| 2 ofH S sijof 5
t
|.

AU

O = = —
£ LIRO|D 2, should= M2kst SAMIE haves} 210} 3iC
O|Ab= 25M| OfAke| BE AtRHS0| M7 |XQl 74 Tch

xfol 7424 7
Chn S

1o rol

grofof

re

regular 7|l physical examination 742+ ZICh AR ZAL

learn

H|ote| o|0|E JHEl SAF recommendse| 2Z{0{2 A0l that&0| 2
2t ‘Lte| OF0|7t ~2 HHof BiCtat= oJ0| 2 0 US sfioF BTt
= U&0|2 2, shouldE M2Fsh SAFS learn0| 20F SHC

O WAk= Lol of07LOf7|X| i AldE £ = UCh= AS
{OF SHCF HIOSHTE

==

instructor WAL ZAF recommend #1560k

crashed
At insisted2| SE0{2 QI thatH0| 224 7|7t F2tFicy
2t= of0|= o Yo| YOIt LHE0|2 &2, BPAHAIN| crashed”t
QFOF BHCf.

SSAtE D HIREY |7 DY = Qlsh FEFIC FEFICE OA
Of MCHZ HZH=|UCHH Ol 5 Al = LO{LIA| 22kS A0|CE

crash =ztsict failure (7|4 S2|) D&+
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4 FE increases 8141 Ll L7t O LIZHOfC| QIRISX] Tsttatn ACH LA 2stE
84 SA suggestse| 2X0{2 MOl thatH0| 2o Aol SJ3lS = AU

7tAlZIcket= ooj2 ofE o] ojHCh= LHEOIZE, SXHAIN)|
increases?} Qt0F SHCH
ai& If | had the space for my own garden, | would grow

A A {1 2% SX}HA|X|E == Z40| AlDO| 2|3e
ai JiAam:rl—; i EO” FOHIAIXIE F08h= Z30| At 2| 2I¥S SN would + EAFRIS
S7tAIZICED HA[SHCE some food, ~.
of% risk oI o4y Brof Lioi|7| Ligtel FRIS 2ist B2t0] QICH®, Lis ofztel 2i7{2]
£ THEfEE 4 AZAX|S L el ool @ik
— =
SHO| 1iE 18 9a= p.26
i HiO| JHEA 9|3% p.27
1. SAE  2.does 3. solve 2| IHE 20 A
1.AIM 2. had p.p. 3. OFX| ~@! 242 4. lived
1 ¥ O
o4 ~, make sure that you do read it carefully one last time. 1 FE were
erdosMEMES si& as iFRO| 2OUA (AHA2 DRIK| Q4RIZh OFX| Sif L7} 017 |0l Qx|
a4 Aol o|H e HLi7| Tof, DI 2 st 81 7l FHYE 9 ore Zixjzlol2ts oln|2 X AFAS HiTi2 7hEs] 21 9len
| SI01ERL=A] ZhelsHof St 2, I7AH| were7} 2 Z10| ZH s

aiiA A= L7E ol S01tE M LHS BXI2E DR JEE L7t 047|of
UX| b2 AN ASStL ULk

>SS

2 JFY visited — visit

OI

si& ~, but he did occasionally visit his brother who lived

abroad. Z%dosAt Ve of# pretend ~l Zixf2 S3iCt, ~el Hict
5141 Joneshl= 71 718 712) J1%] QIIKIEE 2= B KB 2 AL 2 mE had completed
= XpAlO| BS s
= At ws gEst S as F0| SHA (A2 J2UX| QXIS OFX| TO RIS EXHA
of#] occasionally 7} abroad s{2|of T A0t ol0|2 T AFALS BHHZ J1ds| B0 gloo

=
2, had completed(had p.p.)7} 2t0f ST}
8141 Mikei= DOFX| 27+ SXPA 3 BHH1S Bl S42] LRI APM 2
a4 ~, so when a person does lie, the responses will come It 2= ZopEIct
2% doBAt EALRIE e

3 HFY lies— lie

more slowly. )
ore slowly. ol%] complete ZLHCH 2tZ3ICH assignment Tbx|, 5|
afid = FEE XM2|sh= ol O 2 RN R E 57| W20, O At by oneself £xbA in fact AjAlS AlF|2
20| U= H7ls & o, chE2 o =2|A L2 Z{0lCk
0¥ process X2|5tCt response CHE, BHS 3 ZFE had arrived
aiE asifAH0| 2UA (AFH2 T-X| §4A|2H OFX| 2pA4of 2S0| Huh =
4 B2 0 215t 2Ux0l2he 2l0|2 271 AtMS ihE JhEs B0 Qles
o4 ~ they do probably need assistance. 2, had arrived(had p.p.)7} 20 SiCf
2% doSAt SAIY o4 T sHYSS 0FX| 3S50| 2ol Hjm ==t 24 sSEHX|TE OS5
ol 2|DHE AS o2 EH HEYAISS I50| ofot = =20| 2 2108 =9ict
Q3 Zi0|2tm 23Ct
o{%] builder AZx} assistance =2 4 ZFE felt

e as ifE0| oo (A2 J=EX| K| OFX| 34X OB 24X 0|2t
= O|0|2 B AFEE B2 7hgst B Qo Bz, MAAA felt7}

1 < 740 psEskin
Eﬂgl ".HE Ig _?,_]3_5:4 P.26 = A | - |' |'
a4 Kevin2 HAX|SH O o7t m|ZshA|, OFX| 04%5| OFE ZixE &
1Lif" 2. 2AIH 3. 2{%2 4. have p.p. 5.be olct

1 FE knew

a4 If we knew the way, then we would have no need to use
AR would + SAT2IE 41X HIAE 9|32 p.28
the map ~!
ol grok @2|7F AS ofChH, o0l X|=E At HR7t gl Hid|! ; :
T s = sTeE ) 02 @ 03 @
2 ZE hadbent 04 i (1) @ save — have saved, © knew — know
(2) If Neil hadn’t fixed my computer, | would have lost my script.

a2 | could have been sent to jail if | had bent the law ~.

could + have p.p. had p.p. h ked — had buil
_ 01 FE want - have worked - had built
i Li7F K|l A7HE20) AAS W HE AT US| 24 = e

= QJoiC} si& (A) ~, but he did really wan? to retire.

2% do=A  EAIRH
ABtSAte| O|0|E ZZ&st= dosAt did7t 20l 2B E, SAt
P& want7t 2tOf ST (2] mjEl 18)

(B) He should have worked hard on his final task but ~.
55| ZSAH have p.p.

fjo

of%| jail 2 bend ofgsict £sH 0|B3lCt

3 ZE have been

si& Would you have been able to tell me if | had asked
would + have p.p. had p.p.
you to tell me ~? (@t7Aol) DX de Fals| 3010k =l oF FChEk= 2l0]

Chapter 04 ZSAte} 718 79
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02 FE

F

Ce

H

0|22, ZZAf should FIOlA 2p Lo thEt £35S LIEH=

have worked(have p.p.)7} 2t0F SIC} (=2tHo) njE 16-2)
(C)He would have been rewarded even more if he

would + have p.p.
had built the house well.
had p.p.

ZH9| SA}would have been(would + have p.p.)0|04, 24 Ak

@Holl) e & XAHH 24 o B2 Baks Hets Hinret

= 2J0|2 I At S BITHE 74y Hi= 7Y aiets 25

0|2 &, ifH0fl= had built(had p.p.)7} 2t0f SICL (=2o) mfet 19)
8HLIOI7E E =71 39 AFYOIA o =28 48 A7 fl6l 2E/E
J9| Al=lof| chis LFCE T= o =25 TX| oA =IZKe F
UZ 2E[CP|E HFCE T AFYE2 XfAe| £2 20| MHLt= Zd%
27 =0 0|1 7HeIFQl HEto 2 S ot ATt O X|01E
UASEX| SEUCL FE= LZICHD HAAX|SE AZH0] X|LIFEM T2 Dk
20| 1 ol giche e ¢'7+| o 4 QI D= 12| Oixlet YU
& el5] FHojof FHx ek,
—17-|O 10| OIAHOl 7:|E_1|%

_|
§ T
r|o

B2 AIZIO|Lt =21 7|2 0[X| RACE
f—‘:'rﬂléploﬂ HIZFASHA] oi2 2401

Ck 27} 29 Xl2 2WE ), 19| Aol B it Tk 1
21, 2= 1 FSloj| B2 HAS 21T 0171 Sale] Holoj
2 Lol ££ L USRILICH2R BRCL 78S B AR

elderly Lto|7t £ ¢1M7t =4I carpenter 24 retire 2&[5iCt
leisurely =315t 01%%': paycheck & personal 7§QIxol
favor REf task & 11! unfortunate HIZIZI51X| ot 23l5tH

35t
lifelong Y4io| career 424 reward HA4S =t

® are—is
® The difference in distance between the two routes

ChZ A0 (HR[AL + HAD A0 (HR|AL + HAEL)
is ~
EAEA
Z0{ The difference’= CH4HALO|D 2 TS A} is7} 2F0F SHCF
in distance®} between the two routes= —”.\— Oailoﬂ %%*% OJx|
K| = A0 (XA + HAHT)O|CE (2t mjet
@ TACHHA} that F{of| 301 GlO| SAZtH f @

2LOOZ that2 F

2 PACHEALO| D, SAtE MEAL two citiesOl| =~ 2X[SHOF St
Ct two cities7t S4xHALO| B2 S-S At areZt & 710| X&sH
C}. (ol g 05)

@ ZFHEo| ZAP} would be(would + SAFIE)0(0], 24 (EHAY) X|
T BT, JHE W2 2 SZCO 2 Axlsts A Hiop
2he O|0|2 STl AHAS BIHE 7hYel B 7Py
92, ifH0ll= ZHAIK| wereZt 2 Z30| MHotCt ifE2| &. bee
SAY H2, I/he/she =0{0]|= wereE £ == QUCE (=wio| gl 19)

@ Z0{ Much fuelo| SAt wasteZt '—fEH—HE ‘HHlst %%IEI CH&
0|2 2 £~=El be wasted7} & 74 2y

® FEe| o0|E 7tzl SAf insiste| Eﬂoﬁ ] that.é*ol ‘o
™ Z=2E afztof stcrets o|o|2 ofE g alof Stohe LY
80|22 shouldE 425t SARIE follow?t & Z10] HH otk

20| TjE 17)

10] Aol Z2 210l Y= F TAIR! F&0||M Ot=EZ|=E2 0| S5t

AHAfsliEotat ook X| 7t WEstotH, THY He 42

’S.EEPE 24 ZI0|C}. THof Sl I SHotH, Sl

0l 3,7070tU g oS5t T =&Et Z40|Ck 2Lt Z4I0]
2= EEfEPfEt_ gile 2% 36050t Brof a3tof Akt
= A2 7| He|ate| Xtol= x|l =™ ujRo|Ct orek &

2 Z2E MefSICHH B2 =Tt HHIE £ QICE SBAE

7| M20f, 252 ZE RBAPt A 2 E watof sict
ct

zr>

fu o 1
II'II-ﬂJI:l

.ﬂou n ik 2

BIro = 4> Z2rjorr K ooRt
+>+23;0Fﬁ50m|

o 1
ret o i

flat @=st route Z2 great-circle (X|22|) ci# distance 72|
curved 29| surface #H waste HH|SIC} insist FESICH

Al S =0{F = Ot 845 AHE M& HackersBook.com

03 FE @ feel—
Siad

glll-

=

i

04 FE

QIZI-

=

i

A

=
S|
|

M
=

id

=
M
|

have felt

@ ~, so the older group. must have felt time passing
ZEE ZEAl have p.p.
more quickly when they counted.

Rt B MUAS @A) AlZto] o Wa| X|Ltzictn =2
| ERIgiCPat= Q0jo|2 &2, ZRSAE must FoflA] 2pA o
F 2Z2 LIEFE have felt(have p.p.)7t 20k BT (el

oo H
e |

C|

=
rol

rm
o

1
@ when®Q| Z=0{ peopleO| SA} ask7} LIEtL}= ‘@& Si9
O| CHA 0|2 2 4~SEHf were asked”} 2 Z40| HESICE aske to
EYAE SHZEHOZ Fots 584 SA0|2E, Flof U=t
counte FAZH0{0|CL 0] %7%*74&012 SH0{Z 42| f01 S
SE SAHLOF SICHD ZZE5HX| QI = FOISHTt (2o e 15)
® FAE LIEHHE 017 there7t H2| AZR0|| 2tM EX|7t E[RI0T
2 SAb= Fof Q= =01 alot of benefitsOfl 4= YX|[3HOF 5HCt a
lot of = SAPZ} of F[2| PAtO o~ UX|aHOf ot E&/4-FES
0|2 2 5HA} benefitsol| 4~ YR|ot= H4SAtare7t 2 Z40]
TESICE (2ol 1iE 07, 04)
@ YetEAte| 2l0|E A=x5Hs doSAt
I3 feelO| 2 Z10| HESIC (2ol izl 19)
® asifH0| 2oA ‘(AA2 JZX| oEX|2h OFx| SixY i“&' O ®me
AlZt St 22l ZAXZ 0l2t= 20| 2 Sixf AFAS il
1 AOBE, MHAIK| ran0| 2 Z0| Xﬁ*xe*oftf (=240| T 20)
Sk AE0l|lA, 654 O|&2] AIRE0| I52 ML E 322 M2t
QFHIS W, I52 25M|Q1 AIEECHE HESHH A |° Ct.
2 25M1Ql AtEtSat H|mstS f BH MO R 40% HEE
92 H Lot g2 I8 10| 2 Mg m AlZto| o “é*ﬂl 7<|
LIZiCtn =Z4=30] E2IgICt 0[zd0] 20| gio] 2YUX| ZEX|2 65
Nl AFFEXE AlZES QlA5HE Ziof 52 O|™E0| QUL OIS 50,
DroF chAl0] Z2MEES 8AIZI s QUX[2 3740| & 6A[7E
MY SHZTICHH, Sl AlSE £ e O 2 of|uXIE THXA 2
Zo|ct 258 ol OFEER|ol|, oS S0, E4l0] i FHAUS
I 1022 g2(7|7F 20| ictn =/FICE J2Lt X2 g4l2 of
A EN O B2 AlZE S0t 2l ZiXE =74 Zo|ct

does7t 20| Qloa 2, SA}

experiment 4% accurately ©2&l51 on average H@#xo=z
compare H|wstCt meaningless 20| gi= benefit 0|
perceive Q1A5IC} QIX|5ICH endless Z0| gl=

(1) @ save — have saved, © knew — know
(2) If Neil had not fixed my computer, | would have lost
my script.
(1) @1 should have saved it to another device, but
S35 ZEAL have p.p.
| didn’t.
Q2+ (2kAoll) CHE ZFRI0]| MZEREU0{0F hi=ri| 2t ZHF2t
9|'3||0|‘:'§ SAt should Fofl A J—W dof| EHé 3|2

=T}
=0
=

[

© Thankfully, Neil did exactly know how to remove it.

UZdosAb  EAEE
ot Atel 2|0|E Z&SHe doSAL did7t ohofl Yooz, =
AFIS] know?t @F0F BICE (2ol aei 18)

(1) ® @AHoll) Amtolgofof] Z&iS0| ERgicket= ojnjo|= &,

ZSAL must FloflAf 2 Yol chst —’T‘—é% LIEFH= have
gotten(have p.p.)0| & Z40| MHSIC (2ol me 16-1)

@ H|2te| oJo|E 7Hxl SAF recommended?| SX0{Z A0l
that’Mo| ‘2ot T2 J24s MX|SHof sichats 20|12 ofd
US Ffiof SHCH= LHR0|1, 04 a security program0| &

A Sta||0| LIEfLHE “MX[eHe 29(e| CHA0|2 2, should
2k5t SAMRIE £=Ef be installed?t 2 Z10| H&ESICE
(el 1 17, 10)

a4 (2) If Neil had not fixed my computer, | would have lost

had p.p. would + have p.p.

my script.



oA

oi%

Z0{Zl 2H0| ‘Lio| HFEE 1A7| W20l L (S edx| o
ACFEh= 20|29 IAAM| 2Z0|2 2, 0|Z B JHEs 27|
QleiME 7Y ItE 2RO E MO SICE W2t ifEe &
AHE ‘DX|K| 23YCFEHE 29| had not fixed(had p.p.)2 41, =
EHo| SAt= ‘UAS Aolchet= %QI would have lost(would +
have p.p)2 HFFAM MO SHCE (el miet 19)
W ES0| 0% Gte o, Li= L] AH0| O ZFE{Q| ot= E2tol=
ollgt ICh= A4S MMULE L= 22S CHE R0 MERHRA{0F
SH=Cll J2AX| AUCE L= 30| AR S} B HHEOIM, HF
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o|0|7t &= Z40| XA LD Z CHEAL themO| 2F0F ST

O SEOIA LA = THX|O] ofj & RESE Qoo HaFo

RoM, INS = CF Wh=H| HAY LIZ{CE

movement 25, %] arise 25iCt spread HX|Ct

o

2 HAL bookdt &M ‘19| H0|2t= SE0| E[HA, Fofl SAF
(became), =ZE04(one ~ bestsellers)2t Q111 F0{= = 2 24Tt
Ho| 2o a2, f'whose + HALE BEE ARZ A CHHAL whose
7} 2 20| ESICE A Brief ~ TimeS &o| H2S Mufst 47
o[k

ZAZ 0| AF2H2 TA Brief History of Timey0|2H= XFAIQ| 20| iCy |
1 HAEMZ] F SHL7EEl AFZHO|CE

which — they

Zap = ALojof] F=ZAso7tojn] L1 ol 207 glo| SAkare)2t A
o2, PACHEAL whichZt OFL|2} 352 THHAL theyZ 2fOF BHCH.
MZ2 Nz HEE2 S8t SERdciM, IAS2 B2 AUFE

o7 BatAziCt

ey =]

regulation 7, 74 confusing E2tAz{2 Z2t2 F=

when - why

2AHO| Al5H= MBAP} the reason(0|R)0|22 ZA LA why
7} QLOF BHCE in his view= MSHAIZ} OFL|2} 7} AZtsi7|of 2t
olojef s~Alofo|Ct

HarperM|= J7t 42t517 |of| OFAH|RIEI0| &THE|0{0F 3t= O]/ E H|
F3CL

expand StCiAl7|C} SHaksICH

SEETRY)

L

4. where &£ at which

in which
F{ol| =04{(you), SAk(have observed), =X0{(@ smile)7t 2% U=
QtXGH MOl oo 2 THX|AL + EACHEAL, in whichZ| 2F0F

glo] 0j~E B J710] TR OfL2tE g =2 4= A= Wt

-

BE

sii&

e

BE

st

84

BE

st

il

e

si&

aliA

aiiA

s

a4

Workbook Answers

UAULCE
occasion (0@ 20| ojLt= EXsH 1 observe HC}
sense -7|ct

which

o] Z=04(they)2t SAHspend)2t QL1 SE0{7} gli= 22Xt Mo|
oo 2, SXA PAHHA which?t 240 ST

Taf= 0150] 2{0|E Y| QI X2 S2 0|SsHX|E IE2 A2
of| Lt O EEsh S0iM A2 S 2k

where

|0l Z=01(the best)2} SAL(is praised)?} 25 Q= s Ho| 2o
2, ZARAL whereZ| 20F BHCF

ZRxol PSS 2|07t AR LIDRIS RAIE| st AL

1 0leel ol E = AL,

competitive ZZ%{0l praise ZIZt5ICH ignore fA[SICH

which — when EE£ in which £ during which

Flofl Z=01(peace ~ opportunity)2t SAk(increased)7t ZF QU= 2t
Zoh Mo| oD 2 A ERAL E= THX|AHHACHEALIL fof &

Cf. &184A}F the 192057t AlZhS LIEFHEZ AR AL when0| 274
L}, 1920HCH01/19201HC Setof'2t= 2|o|7t 8 4~ QU= in which
L= during whichZ} 2F0F SHCE

0j=e| IpAo|M EL38H1042 1920 HCHZ, Tff Ha}, Xte J2|1
GHIA 7|3]7F S7H4CE

decade 108 economic ZH|2| opportunity 7|3

where - which/that

Flof] =01(it)2t SAt(ives)= UXIBE HRIAL 2| FH0{7t gl= 2t
TSt Ho| b BEAEO| AF2E 72|17 |= HARE the environment
£ A5t lo B2 PAICHHA which/thatO| 2tof SHCE

Ol B 1200] Am QI 0l ExfSts BE WME LN 4

& £{0f] Z=01(a single word “uncle”), SAHmeans), £&0{(the brother

~mothen7t 25 QU= 2FI5 HO| OB 2 THX|AL + ZACHHAL
in which7} 2 Zi0| &=t
A2 MZE 0|2t Bt THO{7t =7 to| OHHX|Q| LhXt M9 ==t

C
| o{T{L| 9] X} FH|E 2l0|st= &&tE Ofslet o~ A=

HEd 47 93 p.63
2. =2tXst 3. what 4. whether 5. how

7. how

where

Flofl Z=01(the seller), SAH(got), FXO(i)7t 2= U= 2AFISHHO|
2to 82 whereZ} 2t0f SHCE where ~ it2 S A} consider2| 2Z04
eSS St YAFROICL

ol 7tIMZ 7822 127| ™of|, 2230] Of€A 2HS0{A 10 EHofK}
7t 3238 OfC|M FRU=XIE n{ahzt

if

A £|0f| F=0{(the service), SAHhad been), =2 H0{(satisfying)7} 2%

AU 4TS HO| oy, ZoMA AH| AT} BFERAZ=X2H= 2|0)
7t El= 40| XA REE ~IX| (OFAX|) 2= 2j0|2 etEst A
20| 2= if7+ L0} SHLL if ~ satisfying SAt were asked2| ZHS
0| A2tS ot= HAFHO|CE

HEZAON, THS2 MH[AT} BEEARRE=X0f Chet A2E Bt
ALCE

Chapter 08 TX|AHESAFZAA 93
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SHO| IHE 48

1. what
1 3E

A
94 H0of

why
Flofl Z:0{(we), SAtstudy), 2X0{(philosophy)7t 2% U= 2iF
0| 2te 2 2 whyZ} 2F0F L} why ~ philosophy= FX|A
%0] &S Sh= HAREO|CH

T A Re27Foff Haks S sh=X|of chst REof| 21

20 ACE

o
—h
|0
Jo o

2
[0
hu
s

fact AbM related 2210| 9l= philosophy &5t

what

Floll beSAHwas)2F A1 047} §li= TS HO| 2B 2 what
0] 2t0F stk what ~ him SA} produced?| 2%{0{ &S 5=
APEoICE

FHIZEE= EX| 19| ofof| Rl= AES TS0 W, R2(0fA| S2f

which — that

{0l Z204(you), SAHaccept), =X 01(the responsibility) 7t 25 L=
TS HO| gronq, 2aA: HIZES "o SQIChH= Z0[2k= 2|o|7t
ClE 20| XA RB 2 ~2te A, ~2fneh= 9|0|2 2bst & o
0| 2 thatO| 2t0F BHCE whichs SetFsH & oot 2= HARE
TSAL0|2 2 E2ICF that ~ with it SAF means2| 2X{0] &S
st HAPZOICE

LAE|E it A2 ghlo] Ao = YZs gotsel
Ch= A 2lofstet

accept #2tslC} 2oFS0ICE responsibility 2242t

what - whether/if

Fof| Z20{(the memories), beSAtare), &ZE0{(true or not)7 &2
T Qe TS Ho| ton, 2UAr 7|2S0| AFMRIX| OfLIX| 2=
ol0|7} = 0| XpAARE 2 ~QIX| OFAX|)2H= 2|0|2 2t
&t H 2Hoj| 2= whether/if 7} 2t0F SHC what2 S5t A Qrol|et
Q& HARE FAAL0|2 2 E2|Ck whether/if ~ not2 toR &AL to
know2| =X0] ets oh= HAPHO|CE

ST, AFRE0| 7HK| 1 Qs 7|AS0| AHARIX| OFIXIE 2 2

2 QICk

(o}

|0l Z=0{(animals)2} SAHare understood and treated)7} 25 Q|
= TS Ho| gton, 2UY ‘SE50] Ofoli=1 CHRX|= 20|
2t 2lo|7t &= 0| XAIHAHREE ~oh= W, oYX ~ot=X[
2te o|o|2 st M 9fofl 2= how?t & Zi0] FHSICE how ~
treatedi= TX|A} on2| FA{0] AetS oh= HAPHO|CE

eS| B Hste SEE0] 0lai=| 1 CHR Xl EiHol 2 Pt
2 OJZICt

attitude Ef= influence gt treat CIECH

that » which/who

F/0il SAHhad been born)2t {1 =017} gi= 22K HO| Lo,
B (E B) F7HHA EfofteXl2te 2|07t £l 20| RieiAz
L0 2 which/who?} 2t0F BIC} that2 FFIsH & Qtoj|ot Q&= WA}
A H&AL0|2 2 E2|Ck which/who ~ first= to 2™ A} to2] 2X0f
ets oh= HAPHO|C

27t AS0|E BHets f, R2l= RAAZA S7t A Efolgh=R]
A0 AHRACE

un 4o 12

Q3= p.64

2. M3fAL 3. E2IXst 4. what 5. what 6. that

Ao
2
0z
2
i
fujn
1=
s
i)
1o
I
HU
0
U
itd
=)
N
i)
rr
o
o
ne

ofsic ks

ok

o™

s

aliA

aliA

o|0j0|2 &, that BE&= what0] 0|11= H2 ZA} found2| 2X0{ o
&g sh= GAHHOILE Foff Z=0{(people), SAtate), =X{0(fewer
calories)7t 2% QU IEEH H0| L2 2 Z thatO| 2f0F SHCL

Z|2, §F = AALHO| & ZHe| S OhA AIRIS0| o M2 22
2|E MFFD O B2 HES ZEFICHe A4S LotRict

consume MZ|5CH

what

22 0] sHoF sh= Z80[2H= 2|0|0|2 &, that = whatO] 0]
1= B SAbdoo| 2X0] 22k sH= BAPHO|CE Foil Z0{(you)
ot SAt(have to do)2t U1 SOV} gl= SISt Ho| gieo=
whatO| }0F BT}

BHoF £4010] Of EOfOllA| OFEZ J4RIT QUCHE, BRS Wa 4g
2 5P| Slsf AAR Fhhlo] ot 3t 22 slat

weakness 2% certain 0{# educated ngg g2

that

20| fEM HEE PeChe A2 TodFo|Cyete 2ojo|=
£, that = whatO| 0|T1= 0| £IR 3201 &fats stz WAFHO|D
it2 7F==0{0|Ct F{of Z=0{(they), SAt(get), SX{0{(information)7t
D5 Ql= bsh Ho| 225 2 thatO| 20f SHCE

QIE{SI0| FH2 ARSI ZI=8HX}40(7| WhZ20i|, 3=0] O] 0|
)\.l 7gE§ oih|:|.i 7He EI01X-|0|[|-_

= oI AT 20T

familiar Z1=5t resource X}l logical (=2|Ah) HHIXOI =2|XQl

WA HAO| BX| Rot= ZHS0/2H= 2J0|2 HAissuesE 4]
Z0| RFAARRE 2 issues F2| B2 MEALS SAGHS 2|
=
T

Of(you)2t SAHdo not see)Tk QU1 SH0{7t glOBE £

A oo ot HAHMBANE 418t 4= QL thatO| L0 SHCE
ol 207t gl 2 2 that2 S X2 2 ALO|CE

Sl ehho] 2X| 2aHR|2H CHE A EOIZlE HHlst 2RSS 7t
ofoem a0} Sk

overlook 7tufstCt obvious ZuHsH 2ai5k

(o)

n
>

b

[=]
=
0>

1=
&
rir
N

f '2d5h7| 0f249) B0l SEE0|2Hs Q0|2 HA} goalsS
0| XtHARRE 2 goals F|9| B2 MIALE $4l5t=
Cf. SAHseem)@t FZE0{(hard)2h Q111 F0{7} gleo 2
A ofofl @b HAHMHANE =415 4 QU= thatO| 2 20|
EHESICE that Flof =07 QOB 2 thatS 37 ZACHHEALO|CE
2M517| 0f219] H0l= SEE0| Chst glo| As= otote Ehalo]
S2E0] 28 3REX| 42 ZAo|ct

U
0.

T

ML & 4> HO
2
2

o o

r
ra
i

10
o

what — that

2OA 02l A2 Hf EEE 4 glCts AS 712X FChet=
olojo|2 2, @& &l what0| 0|11 2 SAf taughte| ZHEH0]
olsts sh= HWARMO|CE Fofl Z0i(their childhood)2t SAkcould
never be recovered)’} 25 Q= s MO| 2t© B 2 thatO| 2f0F
SHCt what2 S 2tHSH A 2H0o)|2h @ = HAE FEA0|2 2 SE2|Ct
O 3QotA|, 1 0|0p7|= sHS0||A| LTt A|Zto] X|Lts, J52] of
2l AIEE Hif =lSE &+ Qitts AS 72X FRUCL

recover |} 5|=51CtH

that —» what
S20HAL ‘0J2I0}0|S0| 7FaF LR 2 st= Z0[2H= ojojo|2 2, UE
Zl that0] 0|T1= A2 besSAtare)2| H0{ Aets st= WAFHO|CE
L= Zl that 0l MEATE 4 Qli= HAPE QLD Foil =01(young
children)2t SAt(need)2t Q1 SH0{7} gli= SLAXSH Mol o0
2 whatO| 20} BICt that2 E2tEsh A 2ol 2™ 2Fof| s FAK
MHADE 4GS BAAO| D, HAPE HEALY U 2FFsH A <

o 22 E2|ct
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A[7h= Atgat 2he]0] 0f21010|S0| 7+ He & 5h= Zi0[2tn 2 01 FE @ that-whom -where

a =
£ 3=tk 814 (A) The title ~ was based on the belief that globalization
o{%] author 7} conclude ZZ %iCt attention Al =7 that Fof
would inevitably bring us closer together.
SAF Sxof

8 7% that- what

$H§ _‘?_EIHAI- ‘02||M'E| 2 OI\— -I’ 212 |:-| 7|.77l7.|| D[»E 7‘|O|E|~‘— DIQﬁOlal.i O|

ol2h= SHY HA 22l =
= 24 S [ S k=3
He FMR|A to2] BH0| HTS st WAPHO|CE UE 2l that 2of I3||7fb5||__ 0] Xtodﬁt.ﬂld, tht EEE;ngatOI:I;_TF; ;; Ti
<}
MAZE E 4 = AL, Floil SAKmight be expected)2t ggs E;E'Z;‘iop)';_ L(;NO: —,,gng' }.;L(f;j b orol| Qo A
Q11 =047t gt Oil— =2tHst Ho| 2O 2 whatO| 2t0f SHCt that2 01 kOIUD-L = - Ct ;o L | Jk Am:; En_EOﬂ i
S2ITI5HH 90 201 940l QU= BAMBANE 24/t BAfo| b o8 = A el S SO S = S ]
b

elojo|22, @& %l that0] 0|11=

1, YAE HEAY uffi= 25 A ool @B 2 2|k OtOF BHCE. (ol et 48, 49)

did S=50| 359 5 YEZ2EH oAt £ Q= 2t 2Bds| 2ol 2 ® ~,£017hasg:/en 73;'256 o new cyber tribes, some of
SHESICH= HS XL HO 2yL=3F - = o . .
dSeltts AS 55t A2 271SSIT whom spend too much time creating division on the

ol¥] impossible £7}535t contrary HitHe| expect ofjA5iCt ZACHHAL  SA} 250

Internet.

A(it ~ tribes)t H(some ~ Internet)0| G1ZE|0{0F SIE2 2, THAL
= - T new cyber tribesE 7127 [= ZtACHE AL whomO| 2+0F ST
S0 HEl 49 9|3% p.65 T = °

(o] T 45)
1.s0 2. MZHZH 3. =Zthat 4.fact 5.7ts4d (C)Is it possible for these tribes to coexist in a world

-I:-H}\|. XrA
(2% 7.that 8.when 9. who/th |
Gl 7l B en 9. whofthat where the concept of “us and them” remains?
WASA T 0] SAf
S
1 ST T T £{0fl 250 (the concept)2t EAHremains)7t RE QU= eiEsH
ofld Eoy ‘Aol 4R A O HS ZIRICkets ooz 25 O] 271 M3lAL a world7 HAZS LIEHHE 2 AL AL whereZ}
0l so7t A2 B2 Tso + HEAL/LAL + that + §TSHH, LES THE QO BHCL (20| e 46)
n .
= thatO] 2fOF BTt 84 E0jA Z2|=pio| 20054 0l TThe World Is Flats] HI=S A7
o4 ATeSE Zutol LT HYsiM T dEls ZIIRCL spt ZolMo 2 9a|2 of 7124 oS Zojet= alg S Higto 2 3
o2 disappointed Algtst result Zat give up Z7|siCtH Ch 2L}, J72 E5t 227t /& 2Hets o, CHE RTHSo| of
off AHE MREE DFAZICE o™ HojlA, A4 O|C|0{= 22|12
2 B O SEAZARITE SAl0], 22 M2 AtO|H ZTHfA| et E F=

A WZ R that 5|7} SHAIS0| B Q|2 =Cpat= =02 okof| 9l= 1, 35 22 oYM 2YS oHE0] LiE Hof LR 22 Az
DA} The notion2| LIRS Z0{M AHsH= LIR0|D 2 S 2 thatO] 2 2Hict XF %2 FEhS0l U, T 0{= w20t S Atolof o
2 7{0| MAstCH o2 250 It ‘22t 259 7HL.:10| HOIRA= MI&of|lAM o] FiTt

84 SHS0| Eligf 9IS ECHs IS B Alke] ARSI SA2! =01 SZ3t= 20| 7hsgl
= Zo|ct ol#] base A on B AQ| &2 Boj| FCt belief 23

globalization M|7|g} inevitably Zoix o2 27|51
threat 9|3 unite S&tA|7|CH division 22 conflict Z5

%)

ox
px oo
A0 O

did oM T AR STHATL AFIE X2 QI=T} OFL|RICK 2t

ojnje| ZAXET 0|0, 2% CiAt IndiaZt AHAE LIEHYZE that Cf 02 FZ @ which - that

&l whereZ} 2 Z40| & stCE 2 @ They learn from the rereading that the story has
siA R2|AED BYHAT} 149260 458 £ QIET} OFLIYCE s SHEESA oL BA
o l 1 SEHA7H14920] =8t = hOR-I5ACt personal meaning for them.
oj?| land AE35iCt =270

U T 0jop7 |7k JHRIHQI o|n| 7t RICH= S HIRTFEH= 9
ojo|2 2, Y& zl which7t 0|11= A2 SA} learn?| SX0{

— =2

4 7%& which - that

s Flof| 7FZ=04(it), SAKis), TR Z=04(to know ~ products)7t 25 U= 8t Bt HAFEOIC} 0| =0{(the story), EAHhas), 2X0f
etHsh Ho| g, 2U THS2 HE0)| ol ket SHS0| A (personal meaning)7t 25 U= B3 Ho| 282 that0|
E[=A| €771 OfFitE AS oittetE 0|2 EFo 42/4E o 90} 3HC} whichls Qb5 & Qfojjat Q= BIARE F&AL0|D
8At awareZt O D2 TMZH/ZIE HEAL + that + XS, 18 2 E2|C} (2ol miel 47)

SrnEs 0| 2o st
EL= thatO] P_F° 8 ] ) QEr (@ =04 The habit0| CHBALO|2 2 TH4~S AL encourages?t 2 74

oM Y DMES HIE0| ol skt 22S0| S0{7H=X| Hats| 27| =4 0| BA5IC} of reading books multiple times(RX|AF + S}
7S OfFChs 28 ettt (SHA)E 4 Uxlo| HES DIRIX| Y S4l0{oIck (e

ol chemical 55t 2% el 01-1)

@ ZEuA Op|=El ZH0l2t= Q|o|E, 44l HH= mA} emotions

7t causeZt LIEHLHE ‘OF7[6HE" 2li@|o] CHAO|2 2 THEAL
i e caused?Zt 2 Zd0| HESILCE (2ol met 24-1)
AlM HAE fI35p.66 ® Foj| & their familiarity= HAIR0|2 2, WA} st 6H=

Lt 7 2Hof| 2 2 QL= FR|A} DespiteZt 2 240 HASILY.
THE 42)

© ZEAAZA} helpo| S&2 H0{0|1,

==

[

=

(o

il

THI
o

0o (02 @ 03 ®

| (1) ® what ~ that, @ which — where &= at which , 2O AZES0] ofatEt 4

; what - that, @ which - where E= at whic

| ' |E20|2t= bS] 424

04 | (2) someone has helped you, focus on L e person has done AEE0[2t= 2|0|=, 2|0fe| FF0{¢! % 01 people0| =%{2
| foryou H0{ understand?} LIEFLIE ‘Of3lEHE &9(2| FH0|2 2 SAL

25 understand?} & Zd0| MAESICE (2uo] et 23-1)

Chapter 08 HX[AF™EAL2AAL 9
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A

L2
o

03 BE

s

1z I

AI

ol

04 FE

sii&

96 Ao

HSS ofef ¢ 9= S

2 AIZHS0| IS AHNOR TS U
E2 DSAZICE 2Hof I50| M B BBt Ql=CiR, 152 1 9t
AFZiZt olop|oiiet ZFSshe ZEol ULk J2iLE F B S52 §

oOE,'_'

=] .
aff, BIEE ZE2 O Ao 715 M3l s LA 22{2e
7130, A E0| 2 ZYES THAl 27717 siECE 152 0[0f7[of thgt
°"‘°*01|E S5t CHA %'_ A2 MZT ofsE 7t 2Lt a8
1 0[0p7[7F IS0l A FHRlERl 2|0|7} QITh= ZiS THA| 947 [0flAf
Hi2CH KA, & FAS CHAl fEsts A 6t ARZIS0| O Fa
of IS AISE ZEEH H Ol =+ AEE =2 4 UCh JFLt 0
HE WIS W, ChAl AlZts M= A8 Aleste o ZEolA] 2
ozt

10

n
el

=

engage 272 %t emotionally Z&xo=2
read-through £% initial X{22|, =7[2| familiarity /=&t
immense A&t benefit 0|F, Z& hesitate @Mo|ct
consume ASGICH AH|SHCH

@ that— what

@ ~ and services is what customers were interested in.
beSAM YA =0f SAt FHE0| HRIA
&AL

S0 DZS0| 2AE JBE Zockats ojnfrt Ele Zio] &t
AARQEE 9IE A that0] 0]11= HE beSAKis)2| ZZH0]

HeS ot BAFEO|CE & F{0i 3=0{(customers), SAH(were),

FAHO](interested), MX|AHin)= UX|2E HX|AHIN)Q| EX*017f
ol ZobMst HMo| ooz WE Fl Joj= ‘2oi0[(52912) ~
SH=X|, ~ah= Z40|2He O|0|2 SATEHH Aol & 5 U= FAL

A H&AF whatO| 2F0F SHCE that2
Q1= HAHMBIANZ £Al5

= T=°

FA ot @B 2 S2|Cf (2o njet

=25 A otofl @ 2oyl

ote ZAALO| D, HAPE &AL M=

7, 48)

{(customers)2t SAkHexperienced)2t U1 2 X047t ¢
= LIEFLY

20| ZHst

I"Oi

st &

o 0

EATsH Ho| gt MIlA} the difficulties?t A=

E AtE MALF0f] 2= 2HACHEAL which7h 2

=o| IiH 46)

@ $’é§9| o|0|E LIEtL= 017221 No longerZt 2%k9| 2H250] of
M EX7F ERS D2 there FOf| 2= S4320 any controlled
communicationsOl| & UX|GH= E4SAF wereZ} & Z40| A
SICE (2#o| mE 07)

® Flof =04(they)2t SAHwanted)2t 11 S0V} gl= S4EISH
Ho| gtony, 2aiAL ‘I 2910|E 02k 2|of7t E|= 240 Xt
HAYROE ~ot= 230|E0[2t= Q0|2 E2tTsH A ofof 2
2= e AP MEAL whatever7h 2 Z40| HASICE whatever
~ company= SAf learnQ| 2X0] 952 5H= GAFRO|C) (=
9| T} 47)

© 2oy g Arfet= 2o|2 2ol U= toFFA} to getS 4
5l Qoo 2 HA} easilyZt & 10| MABICE (2ol mE 34)

QIE{ulnt 74, 2= Z40| HEFRACE MIE 2|, 02 X[Ae BF, =7

Il 228 5 DE0| UNZ OE 7|2 22 E FEst 2E o

HBE2 QXPI = 1“*Ef O O| &t SHIE SAASO|LE ALY HAl=

SHX| € HES AR O 2 g Soff 3|Atof| CHal| 2IFHH

E’A'Oilik St S|Ate] M|Zah MH|AO| st ZIME Ot=

7"0| DZHS0| tels 7HAE Ao|Ck QIELI2 nZSof|A of2{8t N

HE &A PS8 £ U= $EE BHE0 FUCEL TJ2|1 252 £5t 0t

A ggntet = YES 7KL AAUCE

oo FII"L"‘

E5} Olh
S= M

lack 2= hidden 74zl fee 42 organization 7|zt
controlled £x|El method #Et instantly ZA|

(1) @ what - that, @ which —» where === at which
(2) someone has helped you, focus on what the
person has done for you

(1) @ ~, many people are so selfish that they ignore

so  Y8AF  that FOf SAH
the good done for them.
Ex10-|
F{ofl Z=04(they), SAKignore), £X{01(the good)7} 25 U=

AlS =03 = CHkst 8t4 XHZ X2 HackersBook.com

1=

2t ojnj2 250f so7t
+ 0] + BAL PES B

[OBZ, 5o + HEA/Z

okRfst Ho| g7, 2oHA 42 0[7|=0[0A Mg BAFICH

A} + that

C &= thatO| 20F BHC} (2o ope 49)

@ It was that point in the letter where [at which]

AN/
HRIA+ ZACHRA

MYAED)
1 felt hurt.
FO| SA FHE0
Fofl F0(1), SAkfelt), FAHEO(hurt)7t 2% U= b

HO| Rt MA} that point7t HAE LIEHHEZ t+71l$*f

whereL}, ‘L7t &4HE g2 &ol2t=

O|0| 2 FFX|A} + 2|
CHEH AL at whichZ| 2t0F BT (o) ol 46-1, 46-2)

o5 (1) ® Foll & the student’s selfish behavior= HAIR0|2 2, HA}
=2 {5t 5t EHO{Lt T Qoj| 2 2 Q= FR|A} because of 7t

2 70| HHSICE (2ol e 42)
© Flofl F=01()
Ho| o= 2bFst A QHof| 2 4 Q= THX[AL
Ab to which7t 2 Z40] M&sICH (
® Floil =0{(you),
D& Ql= okXst H0| QI-O[q
= 0|fete 9ot Ele

(2419] T 46-2)

2UY U7t LA

ilo| x|.oq)\E.|ov:|§ '~

SAhforgot), ZX0{(to give)7t 2F U=

orxist
=

5
+ 1._*71|'1H':‘

ZAk(should express), 2%{0{(gratitude)”

F
Haf{of ot
f

5t= O|R, @

~SHEAIBHE ofn| eHEit E 9ol £ 4 U YAPE T}
|

whyZt 2

HEFH0| HeS Shz YAFEO|CE (el me 47)

Z40] MHSICE why ~ yous toR2 A} to teach?)

(2) When someone has helped you, focus on what the
FR|AL BAFE R&AL

person has done for you.

=0f SAH
Ea7P g £2t2 mf2ts 2|oj2]l When someone has

helped you F|of, ‘&=35tatets

cco
e

FYEO0| 2ot siez 5

A} focus7t @FOF SHCE MX|AL on FOfl= 2X0] &S st &

AREO| 9—f F
st ’S ?—foﬂ QE ‘E‘:“\f’(a* ’é*—%f whats

St, FO0{El thol = 7‘101(the person),
~ote A0l2ts o= 2
MOF BHCE, 3'371|'3H%3/\f

AHhas

that2 AF235H0{ focus on the thing that the person has done

for youZ £ £ UX|BL O] B THof =7} BIX| efof S2|Cf
(20| THEd 21-1, 47, 48)
aid SIS SRS o, O ARRH0| EAlg 2t & 2ol EEstEt
HIZ Ol EE{H{O 2 Wuls) HUR| SatE, BE ARES0| L2 0[]
H0|ojM OS2 2S0|A stz ME RAISHCE & wARZEOfTol| &
shio| B2 MRS O 71 BRIE 4ot T 2 Mardie g
#1S IQICE WAHS 1 80| Of7| Kol #E0 2 Qls AXS BHot
T} “ZiAfe] Ut gigte et ofLlzt, L7t B Fojof & Zig e
U 22 S0l thsl &7 |AZ17|7EK] RUEHCE 2200] L7 HEX|OA X
£ 22 ZHOIUECE” 2= 1 HofA| A& LS 0|0fZUCE “Li= Ul
7+ HE CotRlHE ARSI ZAS HolioF 5t= 0IRS LollA| 7t
2 7| 2J3f 0242 Lst= HRict”
ol%] morally T5&oz good A disappointing A2fAz{2

remind A7|A|7|Ct
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1.CHS 2.A=B 3.both 4.AHOIL|2}BE 5.involves
6. SAIE 7 sliding 8. smooth
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1 %E using
SO
oi& ~, | tried working by a window and using new bulbs
AL SYA SYA
in my desk lamp.
aid U R S2holl Aol He Y| fial, L= E7HoA a1 Lo
ERAE ARHEO| M TS ALl ERACE
o{¥] workplace ¥2 27t bulb H7
2 %E evaluate
SeTEA
54 Our ability to understand ~ and evaluate our own
YARTL toRFA toS 245 SALE
thoughts is an evolutionary gift.
afiA LEFERI AL IS Ofslist AA =0l MZES X2lsts R2(2 5
He Zlstel MZ0|ch
of¥ ability 52 normal 2ol &Aato| evaluate Mz2|5ICH
3 %E lowered
a4 In 1856, William waterproofed a simple camera, attached
0] SAb SAH
it to a pole, and lowered it ~.
STSAL SAt
sll2 18560, WilliamE thest 7tn2EE |/ X2|stal, 3238 8fch7|
ofl 20|11, IS = Q12 siRt7tel HiCl Of2i 2 LT
of¥] waterproof &4 X2|5lCt attach £0|Ct lower Li2|C} SH3Ct
4 2 making - makes
54 Going through difficult times does not harm us but
Z0f =N SelEAA
rather makes us stronger.
EM»
did = AZIE A= AE 2017 BHE 7Ixl= 20| OfL|2t 25| 2
2|2 O &5t BH=C
oj¥ go through ~2 ZiC} harm siZ 7|x|Ct
5 B O
|7H¢A}
54 The delivery was early and unexpected ~.
HEA ZA
A I BIE 2 TS S0l =25 | 2 (0] AU | 2 0]l =11 o &f §40]
ALk
oj¥ delivery iz unexpected ojAf gto| arrive TalsICH
6 & toreceive — receive
a4 In the experiment, the rat might press . and as a
ZEAL SAIRE  SSIESA
consequence receive some food.
SAteY
aial MBI, Fl= 25| E2 thes| 7|80l A7 |E =20, 0 F
22 ofztel Al e 4 Uk
oj¥ accidentally 2915 out of curiosity S7|0]
— —
SH0| IiE 51 955 p.70
1. 8= 2. given
1 %E loneliness can be, avoided
i EUY or 7722 oY 4 AUCHIL == 20| XA RE

2 loneliness can be avoidedZt E[0{0f 5t04, 0| & or &0f| AZE
0112} HH2E|= |oneliness can be= AZF=ICE

Q22 ALeH HHO| HAHE wof 2t ZEEALE o E = AL

loneliness 2|28 control ZX3|Ct

sy

=HO| 1l 52
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the factory’s owner is, accepting

Say put H7F T BEO| ZOIS HILHE Y00 T YL} &
= 40| XAAAR{RE 2 the factory’s owner is accepting blameO|
=|o{of 5toq, 0] & but ol =El 01722t BHEE|= the factory’s

owner is= A2FEICH

3 3F9| Fol2 Felst= 20| ofLzt 19| S| & 290
3 H|S BoFS0|1 QlCt

since he was, required

ZOAand F7H a7 3320 UeEtE Q@FE WA| AR/UCKIL El=
Zd0| RpAAR{ 28 2 since he was not required to be thereZ} &[0{
OF o0, 0| & and 2tof| AZE! 01722t BH=E|= since he wase A
=2 e

RossM|i= Z|Z3in J3t0f| Qloets @78 BHX| 47| th2ol| §]2|
Off EFASHX| OFRACE

attend ZA5ICH require 750 ZRSEHCH

that it should, dropped

22t and F{7+ 20| HO{=HX|H oF EICEI| Eli= 20| KieiAz
L8 2 that it should not be dropped?} &|0{0F 3t04, 0| = and &
Of] A==l 071} HH2E|= that it should= A{2F=ICE

3 MXtof fel7t £0{ 7| R, L= SHF0i|A] 32d0] Z=ASH
A CHE|M0F 5t Ho{t2{ x| 2 oF EICkD 2H3HCt

handle CIZ2C}, £ Z3iCt care =4l =2

Q|38 p.70
1. do/be/have 2. ¥EESAL 3. do

does
A and 2| Tso + do/be/havedAt + F=0{,7F ‘TZQ| 7IX|=
HSICPE QojQl Zi0| XtAARRD R, Maf © LHEE its value
changes over time2 2 £ £ QIC} HHEE|= SA| AHbEALO| 301
& TH% changesO| 22 doSAt2| 391! £H4=34 does7} 0} STt
gk J219| @I7|= AlZto] X|'Zoy| et Mo, O ABtE J749| 7HX|
= Ok
popularity 217]

aiiA

B

afiAd

was

2AA as difficult as F7+ICH A|CHOl 2230 Of2{RICF Rl Zd0] Rt
A0 2 M2EH {2 it was difficult in ancient timesZ & 4=
UCE BH=E|= SATF beSAF wasO| 22 was7} 2fOF BHCL

Q& SAIIIEE M~0] 0|82 T1710| JnCH AlcHof 23 A

2HS CHRA = O] Qict

do

2 than F7t %
o| x|.04)\a1c>|:|§
normal state2 & 4= %UZ}.
2 doSAt do7} 2F0f it

Z|H HEfol AEE2 O50| M
J|o'S HEA|ZICH

Hatol AEoll A 7|2 driAIZICHl 2
2F M LH 2 they generate memories in a

HHRElE SAPE YEES AL generate0|2

o1 JEof M T2t 2

has

BOA but F7F OHE o8t D42 ME LSHRACHR! 240 XpiA
HROZ M2k ™ L2 she also has worked as a professor of
medicine@Z £ 2 E\’AE} HH2E|= AP} have p.p2! has worked
0|2 2 haveSAt has?t 2F0f GHCf:

ParkerM|= SAIZ YRS w0t OtL|2}, dLd= 2|5t .
SiEet JegtCt

SEMNE R

medicine 2|5}
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EHO| IHE 53

o35 p.71

.30{+ ZAb 2.wherethey had 3. EEAHEAL 4. what

SH9| HE 54

1. AfO]

where did the company make — where the company
made

where ~ productse to2 A} to knowe| 2H0{Z 25| UHE
0| & HOIZE0|2E, "O|ZAL + 0] + SAL &2l where the
company made #=AZ 2t0f &t}

T 0742 T S[APLOC|ol M T2 MZES BHEREX
C}.

i

ne
Hx

04

e

how neat was it > how neat it was
how ~ it2 SAf believe?| 2X{0{2 222| R E 0|2= 7HYlZ
20|2E, "O|2At + F0{ + SAL =22 20F §HCF Thow + HEAL
= ERMZ2 Q2 AL AI2[0] 2 4= YO T2 how neat it was =AM 2 @F
OF BTt

H|S JL47t XAlQ| OF0|E EXt AR = A
L7t Elofl Sotgts o, To| Aokt AL e

o
237} O{EA| IRSE 2 4 YS7ats olnjo| Ygkxpl of
0|D 2, TO|2Al+ EAF+ = )

x{ssict

WS 0| LS 2| K| QLo OfEH| Q2| LHS ALRSIX| &

S MERE JASS A 22 2 = ASIP

—35

PN
01, 221 how can we see Z=A2 2

what kind of languages have their applicants learned
— what kind of languages their applicants have
learned

what ~ learnedi= HMX[A} in2] S&0{Z2 2& 2
O|EE0|E &, "OZAl + 0] + SAL =2 E 240F ST} 'what kind
of + BAL= EME o|2AL At2[0] € =~ Y22 E what kind of
languages their applicants have learned #=A{2 20} StCf.

Py 1gxSe J=9| X|YUXS0| 0 ERO| HUS S YK

AN
Ofl Chfsif 2+&J0] RAC

[eIN=R=1} 2=
LRE O|RE Y

35 p.72

2. Ci{™AL 3. ~2 0|FCE 4. bring up

5. write them down 6. deal with

o
=
=

L2
id

turned the offer down tE= turned down the offer
TEFSAL + £AL turned down2| S&0{7F ALY o EFSAtRE £AF
ALO| EE= AL FHO| € £ 222 turned the offer down =
turned down the offer =9 2 2F0f ST

Brian2 si2(0fA L& 7|87t AKX = T HetS

N

1

oversea afi2(0f| turn down AHZsICt offer ot X|QtstCt

23k

put it off

TEFSAL + FAL put of fo] SX017F CHHALY W EFSALRE £AF AO
of 2tof st=2 2, put it off =2 2 QFOF SICE

T ol S| E[ZIS OIS AFRIS0[ A2 Si7| W20l I Efxl=
JRS OhS 22 V|7 |= ZFEIICE

put off ¢17|stCH

looking for him
TXHSA} + FX|AL looking fore| SX0{= XAl F|of| F0F S22,
looking for him =2 2 20 SHC.

AHASAIRIES ASE a0 Chet AAS SR, X[F T

QAL

M
P

i

AHES =0{F = OISt 815 X1E M|& HackersBook.com

=HO| IHE 55

ol

1. =X|

6. CHEHAL

BE

shi&

X of

=]
TS

ol

=

st
ol

ol%

BE

oA

ok

e

si&

s

ol¥

2. Z8M 3.9 ~pk=

FEEETN

volunteer XF2I2AKL missing AZEl

hand them in

SuSe MRS e 3
A Mot Bk

complete ZAsiCE 7|Q6tCH hand in M|&atCt
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4.only 5. canits possessor

the ancient Greek citizens believed — did the ancient
Greek citizens believe

Never did the ancient Greek citizens believe ~.
Y SAE
00 J2|A ARIS2 HEZA(0F ZCH7E Y0l M 0]Z2 202t TS
g{?ksfﬂ o;oH:|.
— LS A .

o

~, and at the bottom of the sea they were buried.

LS UEHHE O FOI(CHYAR SAkbe +p.p)
1 Hie| SeHS2 Hi7t 712tet ks W AR, OS2 HiCH 2Bt
Efol| 2RICk

sink 7t2tetCt bury 2ct

they will — will they

Only if speakers feel confident will they succeed ~.
Hgt ojaje] of7
QE AEALSO0| AL E B2 mofet OS2 B2 AE 20l ¢

dot= ol 95 AolLk

o
In the highest levels of government are made
FYAE LEfE o7 SAHbe + p.p.)
decisions that ~.
0]
Hio| 2{D9IB0A ot elo] yofl HEHg FE ZHSO| LR

zlc

government @& decision Z% influence ¥&kS FCh

&HM HAE 9a=p.74
0@ 02 @ 03 @
(1) ®@ are ~ do, ® to hear — hearing,
04 ‘ © you can make = can you make
(2) what such social proof means because it can set you up for
failure

01 2 ® common - share - did

si&

(A) ~, the guest-host relationship was not only valued
but also common. A
EER
St OtL|2t E8het= oli|2 HEaAL HEtS sHe &=
= 0| RAAZLE HEAL A S 5l= 2AIRL
T LIZE! 2= QIoB 2 but also {0l @&At common
FBICE (ol ajei 50-3)
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02 BE

il &

X

AI

(B) ~, it was your duty to be a good host, give him a
AL toREAL toS M2 SAHRIY
shelter and share your food with him.

to Fe SN

A E2 10| £, HME MB35l SAS LiFLFEk=
oln|2 HAF dutyE $=Al5ts toR ™AL 3717t Likl= Z40] A}
AL wh2tA and F{of| to beQt CHESH to R H AT} 210k 51|
o Fof| LIEE toR™AE toE Mzt £ ooz SAHY
shareZ| 2fOF ST give HA| toS H2Fotn 2 SAHRIAOICE (=
g1o| THEL 50-2)

(C) Both the host and the guest refused to break this

relationship, because if they did, it would ~.
HIED| = L (= they broke this relationship)

SOAf {7 2S0] 0] 2 E ZUCHR! 20| AIAAREE, M
2F X LHZ 2 they broke this relationship@ 2 £ 4= QIC} HH2E|
= EAP} LEHEALS| 2P brokeO| 2 2 doSAt did7f L0k &
Cf. (2eo| mje 52)
X2 J2|A0fM QIZHeA ol Feke D|FCE O FEE 0lsS W2
Of&dA| BHE7| W20, &Eut Folof 2A|= ASE # otz =
St7| & RYCE Bhek M ALZEO| SHAlof Sigtof LiEtHCHH, &2 ol
O| &|0f, J0lAH AXME mMFst, aot o] SAS LiF= A2
o] o|RQICt EEo 2 T A2 To| F0lof st 2RSS X
CL O|HE2 TR @l 25 3Ys &R &2AH o
Qlo| BITHE H8oX| b= AS EERICE Flut & TF 0f 2
E 7| A=, Bk 250 JCHH, TJ740] Q17 Ao Bl

£ E218 210/7| w=o|ck
geography X|&, X|2|aF host 0! relationship 27|
duty o|2 shelter 7{x abuse Z4g3ICt

® did — were
@ Over the ten weeks of the study, contributions during
HhEE= LS
the ‘eyes weeks’ were almost three times higher than
those during the ‘flowers weeks’ were.

(= those during the ‘flowers weeks’ were high)

ZOAF than F7F “Ee| & Sete| 7|EZ0| HUCHR!l 20| Xt
AAZRO 2, M2k X LR those during the ‘flowers weeks’
were highZ & £ QUCL BH=El= SAE beSAF wereO|22
were7| 2tOf ST (o) nijEi 52)

@ Fofl Z0{(people), SAk(placed), S 0{(coffee contributions)
7t RE Qe iFst Mol gto O 2 ofFsh ™ Qtof 2 4= Q=

KIAL+ ZACHZAL in which?t 2 Z30] HESIT. (zeio] ue 46-2)

@ B9y =3 2 DRSS Yo 2o ST IS oiF
SUHHRCIRHE 2|2 SA 217} Ligsls %ol Rtetagict

displayed= TtHAIX| SAI0|22, and Fl0f| exchanged?t 2 %
O| MHSIC. (2ol mhet 50-1)
® 2ol ‘M B#e0l2t= o|0|9| H|ug bigger7t B =, ~HLtEt
= %O = H|lugt &) Hn 2S5 B== than0| & Z40] HH
ST} (o) ne 40)
® how ~ outcomese MX|A} to2] EH0|Z BEe| YLE 0|F
= HeIZ 20|22, TO|2AF + F0{ + SAk &2 how we can
encourage =M 2 2 Z40| HAESILE (2o ujgi 53)
TS AEHE0| HI| 7|2F S = 8721 2ol Eof
ZYS AL AP UE2 =0t £ JBIES
J2IS 042 SHHERICE =0] FAE|E 2E
& SOtHECHH B2 7| 220] 2ICE 105742
=2 £9| F Fete| 7|230| J3H
O| 3H{Lt HRUCE BHS|, ‘FA| == 20| ARIE2| BHE0f
A1, 0| AL 22|7L LA ASIMo 2 0|22 HItE
= QIEX[0] Cht sHEFS MSE +~ /SK = Z2CT
honesty box £¢! ztofgl contribution 7|82
alternately ©1zto} apparently £2i3]
encourage Z%I5iC}, Z{sict beneficial 0|22
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@ that -~ what
@ ~ and fight for what you believe in.

ot 2hAlo] Y= A flsi2te 2|07t =l Z30] At
at0| 0|11= M2 Fx|AL fore| 204

H [Tk 2E Foll F0{(you)2t SAt(believe)= AUX|
X|AHIn2l £X07} gl= SAMSHAo| oo 2, 2= 7l 220
~ote A, FSU0|(RAL) ~ot=Al 02t Q0|2 EtTst A
O] 2 4= U= WA HLAF whatO] F0F BHCf that2 £t
St ot @M 2fofl QL= HAHMYANE +AloHs EAALO| D,
YA HEAY M= 2MSE A QM| QOZ E2|Cf (2o o

& 47, 48)

[>

2 rlr 2t ot o

2

re

I

12
ok

rfr|o Mo
Hu
me
M4y 0.
]
o2
o o

OD
>
13
o

I3

2 H

=

2 Q SUY ML HS YED CIE AYE oIS Mt Zo

2O
2 LIopICPEte OJ0|2 toR AL 2717t LigE|= Z40] XtoiA
2Lk m2kA and Fof| to stop=t CHESH to R YA} 2F0F 5EX| 2t
toRFAT HEAL Flof] LIEE Toll= toS dzhet = o8 E,
SAHIE moveZt 2 Z40| HHESICE (2uio) oiE 50-2)

® that&2| 0] the conclusions= 24HAO|E 2 E45At are
7t 2 Z40| HESICt of a trustworthy group(FX| AL + A
= UX|0l| Fetr2 O|R|X| b= ~A10{0|CE (2ol miel 01-1)

@ 2y THE AMEEe ZUE T2{st= 20| F3ciet= 2|o|
7b E|= 20| XA R0, 0| SA}f areZt W2 QACE T2t
TX|Are] EX0f Xf2[ol & ~ ULE PAL &S ot= STA
considering0| 2 Zd0| M&S|IC} (2o e 21-2)

® =3 ol0jo| 0fF Rarely} | YZ0f YO0 2, TESAL + FOf
+ SAHHE, O 2 F0{Q SAV T X|E[0] ZSAF doZt =01 2F
Of| 2 Z40| ZHSIC}. (2wio| mje 55)

SHAI0| SRIKOR M215HD FAI0| Bl

SICE 2Lt Eilel o|AS 2l Me=

o|lHS AE[sh= Bo & LIo7h= 20| o $IEE w7t 2Ct

2 0HE = UX[T B2l OS2 Mg o~ Q= TEe| A20| &

Alo| Mzteh= ofH WECHH W= 28

DHoF CHE AMEQ| A018 13{sh= 0| FECHH, Sl AF

71315 X1 Q= ZOICE UK AFS 2 XAS0[ ROt M2t

If JS0| BIEEoE LiE ANE XSt S0 0tS S EX| &

2= QUCL 0218 AFRIS2 X[Ael &

independently =2/4o2 open-minded ¥2I 0t29|

faith 22 conclusion Z& trustworthy AlZ[st 4= 9l=

repeatedly BH=X{0 2 encounter Z|H5IC OFFx|CH

(1) ® are — do, ® to hear — hearing,
© you can make — can you make
(2) what such social proof means because it can set
you up for failure
(1) @ Restaurants with full parking lots usually have better
e
food than restaurants with empty parking lots do.
(= restaurants with empty parking lots have good food)
S0 than F7} ¢l FAFO| Qe AYS0 BHS 4
O] TRl Zio] XtAAR RO 2, M2k © LHE 2 restaurants
with empty parking lots have good food2 & %= QIC}. HH=
)= SAPF LEESA haveO|2 2 doSAt doZt 2F0F ST (=
ol el 52)

® ~ by seeing others slow down their vehicles or

HAIAL SHA =9
) FSEYAS
hearing a crash. =5
ST

£ £0l AS AL
5 42|12 SS2EMN 2= Q0|2 TX|AL by Fof| F 7HA|
7t LIEE|= 20| KHAAZCE seeing2 SHAIO|Z 2, or F
0i| hearingO| 2tOf SHC (=2uo) ajel 50-2)

© Only when you follow good forms of social proof
X3t 2|oje] of7
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ofjAd

ol¥

can you make the right decision.

ZEAFO0| SAHY

gt 2loje] 017 Only whenO| Ee| X0f QB2 =&
At + T + SAFRY, &9 2 TX|%|0] can you make =2 2
QLOF SHCY. (=l mjt 55)

(2) You should be careful about what such social proof

oAt 04
means because it can set you up for failure.
SAF ESAL F0| EFSA 2o 24
(CHEA

about F{0l| ‘T2t Ats|X E747F 2SI ol0|ot=Xl2t= 2[O|
O| ZHEO|ZE0| 2t0f StE =, TO|ZAt + 0] + AL &2l what
such social proof means7} 2t0f StC} because= & 2t0f| 2=
TEAIO|2 2 because Fofl ‘T HhlS &0 wHeed o~ QL
C}2H= 90| 2 Z=0{ + SAL, it can set upO| 2L0F SHCE TEFS A}
+ A} set up2| SX0{7t CHEAL youO| 22 EFSALR FAL AL
0[0f] 2tM set you up &= = MOF SHCE (2ito] mjE 53, 42, 54)
CHEEO| ol M, At SH= 01 RESICE AR 0| 2 & A
S0l 28 ¢l FREO| s AZE0| 28t Z=ECHH Lf
Alo| QICL CHE AHRES 7ttt IEEL_ 50| —‘?—91% St =X
ol FO|E 7|2SRU2EM 'é“._% QoM O M2 M5 & A0|Cf
0| 501, 2X& 3?5% I, %
EU A= E71'-f§ |E %%QEAH EEﬂOlﬂ% Sfotof STt
ENEY ok ot OLOI I 4I5S FAGIHE, gl =2
OflA RAVIE 8IS —ﬂ“— QUCE J2{LE 7HE AIIS 2 LHE S5 2|5
ARl BSHE BHECE 2l T2ist A
X|of chal F=2lsHoF shH=d, 2Lkst T2
of ttee2 4~ Q7| mh 20| SHhl0| AS|A B72] £2 HEHE ME
mfof|2t SHHE ZHE LE = UCE

neglect Ztaf5ict BHX|5ICH warning 211 purpose =2
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